F. No. 8-1/2023-IS.4 Government of India Ministry of Education Department of School Education & Literacy

Dated: 2.2 May, 2023 Shastri Bhawan, New Delhi

Subject :- Minutes of the meeting of Project Approval Board (PAB) for the UT of Ladakh under Samagra Shiksha Scheme for the F.Y 2023-24.

The meeting of Project Approval Board (PAB) for considering the Annual Work Plan & Budget (AWP&B), 2023-24 under Samagra Shiksha for the UT of Ladakh was held on 03.05.2023 under the Chairpersonship of Secretary (SE&L).

2. A copy of PAB minutes duly approved by the Secretary (SE&L), in respect of Samagra Shiksha for the UT of Ladakh is enclosed herewith.

Encl : As above

1- is

(Charanjit Taneja) Deputy Secretary to the Government of India Tel No- 011-23385744 Email-c.taneja@nic.in

To,

- 1. Secretary, Ministry of Women & Child Development.
- 2. Secretary, Ministry of Labour & Employment.
- 3. Secretary, Ministry of Social Justice & Empowerment
- 4. Secretary, Ministry of Tribal Affairs.
- 5. Secretary, Ministry of Jal Shakti.
- 6. Secretary, Ministry of Minority Affairs.
- 7. Adviser (School Education), Niti Aayog.

8. Director, NCERT.

- 9. Vice Chancellor, NIEPA.
- 10. Chairperson, NCTE
- 11. Vice Chancellor, IGNOU
- 12. Member Secretary, NCPCR
- 13. AS (PMPY & Digital), MoE, New Delhi.
- 14. JS (Coord & Media), MoE, New Delhi.
- 15. JS(SS-II), MoE, New Delhi.
- 16. JS(SS-I & AE), MoE, New Delhi.
- 17. JS (Inst. & Training), MoE, New Delhi.
- 18. JS & FA, New Delhi, New Delhi.
- 19. DDG(Stats.), MoE, New Delhi.
- 20. Secretary (Education), UT of Ladakh
- 21. State Project Director, Samagra Shiksha, UT Ladakh

Copy to:

1. All Divisional Heads SE&L Deptt., MoE.

2. All under Secretaries of SE&L Deptt., MoE

3. Ms. Sohila Kaur Bakshi, Consultant, Coordinator for Ladakh for circulation among the appraisal Team for the respective organisations.

4. NIC-with request to upload minutes on the Shagun/Samagra Shiksha portal.

Copy for information to:

1. PPS to Secy (SE&L), MoE

- 2. PPS to EA, SE&L, MoE
- 3. Advisor to Hon'ble Lieutenant Governor, Ladakh

Gave

(Charanjit Taneja) Deputy Secretary to the Government of India Tel No- 011-23385744 Email-c.taneja@nic.in

L'ACHT PORT



Government of India Ministry of Education Department of School Education and Literacy

SAMAGRA SHIKSHA

(An Integrated Scheme for School Education)

Minutes of the meeting of the Project Approval Board held on 3rd May, 2023 through Video Conference to consider the Annual Work Plan & Budget (AWP&B) 2023-24 of Samagra Shiksha for the Union Territory (UT) of Ladakh.

Kawigs

Sl. No.		Content	Page Number					
1	Io.ContentIntroductionSection I: UT specific initiatives, Review of Performance & IssuInitiatives of the Union TerritoryReview of Commitments and Expected Outcomes & Action Taken during 2022-23Review of performance during 2022-23Appraisal issues/ Commitments for 2023-24Section II: Financial EstimationTotal Estimated Budget (2023-24)Actual Releases by GOI during 2022-23exuresexure IList of Participantsexure IISpill Over 2022-23exure IVList of Netaji Subash Chandra Bose Avasiya Vidyalayaexure VList of Schools approved for Civil Works/Infrastructureexure VIIList of Schools approved for ICT labs.exure VVIIIALT- List of Schools approved for Hindi & Urdu Teachersexure IXList of Schools approved for incinerator & vending machines, CCTV cameras and fire extinguishersexure XIList of BRCs approved for equipment for CwSN		03					
I	1Introduction1Section I: UT specific initiatives, Review of Performance & Issue2Initiatives of the Union Territory3Review of Commitments and Expected Outcomes & Action Taken during 2022-234Review of performance during 2022-235Appraisal issues/ Commitments for 2023-2411Section II: Financial Estimation7Total Estimated Budget (2023-24)8Actual Releases by GOI during 2022-23nnexure IList of Participantsnnexure IISpill Over 2022-23nnexure IVList of Netaji Subash Chandra Bose Avasiya Vidyalayannexure VIList of Schools approved for Givil Works/Infrastructurennexure VIIList of Schools approved for Band Equipmentnnexure VIIList of Schools approved for Hindi & Urdu Teachersnnexure IXList of Schools approved for Hindi & Urdu Teachersnnexure X (A- nnexure X (A- <br< td=""><td>es</td></br<>		es					
2	Initiativ	ves of the Union Territory	03					
³ during 2022-23								
4	I. No.Content1Introduction1Section I: UT specific initiatives, Review of Performance & Issue2Initiatives of the Union Territory3Review of Commitments and Expected Outcomes & Action Taken during 2022-234Review of performance during 2022-235Appraisal issues/ Commitments for 2023-2411Section II: Financial Estimation7Total Estimated Budget (2023-24)8Actual Releases by GOI during 2023-24nnexuresnnexure IList of Participantsnnexure IISpill Over 2022-23nnexure IVList of Netaji Subash Chandra Bose Avasiya Vidyalayannexure VList of Schools approved for Civil Works/Infrastructurennexure VIIList of Schools approved for ICT labs.nnexure VIIIList of Schools approved for Hindi & Urdu Teachers							
5								
5 Appraisal issues/ Commitments for 2023-24 II Section II: Financial Estimation 7 Total Estimated Budget (2023-24)								
7	Total E	stimated Budget (2023-24)	10					
8								
Annexu	ires	新教教室 医新教育						
Annexu	re I	List of Participants	13					
Annexu	re II	Spill Over 2022-23						
Annexu	re III							
Annexu	re IV							
Annexu	re V	List of Schools approved for Civil Works/Infrastructure	115					
Annexu	re VI	List of Schools approved for Band Equipment	148					
Annexu	re VII	List of Schools approved for ICT labs.	149					
Annexu	re VIII	ALT- List of Schools approved for Hindi & Urdu Teachers	152					
Annexure IX		re IX List of KGBVs						
Annexu D)								
Annexu	re XI	List of BRCs approved for equipment for CwSN	181					
Annexu	re XII	List of Schools approved for Vocational Education	182					

INDEX

The soft copy of the minutes including annexures may be accessed on the MoE website at https://dsel.education.gov.in/

Kanejz

2|Page

1. Introduction:

The meeting of the Project Approval Board for considering the Annual Work Plan and Budget (AWP&B) 2023-24 for SAMAGRA SHIKSHA for the UT of Ladakh was held on 3rd May, 2023 through Video Conference. The list of participants who attended the meeting is at Annexure-I.

Section: I - UT specific initiatives, Review of Performance & Issues

Sh. Sanjay Kumar, Secretary (SE&L) invited Ladakh to give a presentation on School Education in the UT. Sh. Tsering Paldan, Director, School Education (Ladakh) gave a presentation which included the following major points:

a) Best Practices

- 1. Community Mobilization: Awareness programmes to engage community members in all aspects of school development are being held at the village level. The SMCs/SMDCs have taken initiatives to enhance enrollment in schools with low enrollment. Zonal level enrollment drives have also been undertaken for increasing enrolment in KGBVs.
- 2. Science Exhibition: Zonal, district and UT level science exhibitions were held and the 10 best models were presented.
- 3. Science Seminar: Was held at held at zonal, district and UT level. School students also participated at National level competition and won the first prize.
- 4. Kala Utsav: The Kala Utsav events were organized at school level, district level and UT level. Students also participated at the National level event.
- 5. Teaching Learning Material Mela: The TLM melas were organized and schools from both Kargil and Leh districts participated at district and UT level program organized by DIET.

1. Review of Commitments and Expected Outcomes & Action Taken during 2022-23

The progress made in implementing the commitments and expected outcomes given by the UT in 2022-23 was reviewed and the status in respect of pending items is as under:-

SI. No.	Commitments	Action Taken	Comments of the PAB 2023-24
1.	Pending works in Non-	All works are under	UT was asked to complete all
	recurring/Spillover:	execution through	pending works sanctioned
	UT was asked to ensure	different agencies and are	prior to F.Y. 2022-23 on
	that the in-progress	expected to be completed	priority basis.
	works are completed on	by the end of this working	
	priority.	session.	
2.	High Dropout Rate:	After proper examining	UT may review the population
	Though the dropout rate	and cross checking the	projection figures in
	at the secondary level has	district level enrollment	collaboration with line
	improved from 11.4in	data and Child population	Departments.

3 Page

SI. No.	Commitments	Action Taken	Comments of the PAB 2023-24
	2019-20 to 3.4 in 2020-	of RBSK/Health	
	21, although UT needs to	department there is not	
	continue taking adequate	out of school children in	
	measures to reduce the		
	dropout rate and	have severe multiple	
	improve the retention	disabilities. The	
	rate.	calculation of the ministry	
		is as per the projected	
		population and the	
		population growth in	
		Ladakh which is very low	
		i,e 0.5%.	
3.	Gross Enrollment Ratio:	SED is planning a massive	UT needs to focus on further
0.	GER is low at all the level.	exercise of House hold	improving the GER at all levels
	It is 81% at Primary level,		especially primary level and
	67%at upper Primary	May-June.	develop a plan of action
	level, 58% at Secondary	May-June.	regarding drop outs due to the
	level and 48% at Hr.		pandemic and migration.
	Secondary level. UT		pandenne and migration.
	needs to come up with		
	effective strategy to		· · · · · · · · · · · · · · · · · · ·
	improve GER at all the		
	level.		
4.	Surplus Teachers at	SED Ladakh is not satisfied	UT was asked to review the
	Elementary level:	with the 563 surplus	data and the share the same
	There are still 563	teacher data. It may be a	with the Ministry.
	Surplus Teachers at		with the Ministry.
	Elementary level, while		
	the number of single		
	teacher schools has	been merged with the	
	increased at the primary		
	level. The number of		
	schools with adverse PTR		
	is also quite high at the	initiated by LAHDCs.	
	primary level i.e. 11.2%.		
	Only 1.97% Upper		
	primary schools having 3		
	subject teacher as per the RTE norms. UT needs to		
	go for a rationalization of		
	teachers, to ensure		
	availability of required		
	number of teachers in all		
F	schools.		
5.	Subject PTR at	UT Ladakh has deployed	UT was asked to review the
	Secondary level:	science and Math graduate	deployment status of teachers

4 | P a g e

Gamip

llize surplus any, post d devise a policy for ability of udents.
policy for ability of
l KGBVs are
within the
TOOR
year.
year.
year.

5|Page

Gaver

SI. No.	Commitments	Action Taken	Comments of the PAB 2023-24
	be made functional by the UT. Similarly, out of 10 KGBVs under Type I,		
	construction of 02 KGBVs (located in the Durbuk and Kharu of Leh district)		
	is still in progress and also 02 KGBVs (located in the Taisuru and Zanskar of Kargil district) not yet		
	started.		
9.	Inclusive Education: Out of a total number of79253 students, the number of Children with	with Health and Social Welfare department to	
	Disability (CwD) is 572 i.e., less than 1%. Further, out of a total number of I 056 schools, the total		
	number of schools with CwD is 10 i.e.,23% and of these the number of		
	schools with >10 CwD is 10 (1%) while the number of schools with <10 CwD is 232 (22%).		
	UT is requested to take concerted efforts to ensure timely		
	identification for wider coverage and requisite interventions and		
	support.		
10.	Vacancy of Academic positions in TEIs:	Stands implemented	During the PAB meeting as per the data received, as per
	Vacancy of academic		the information received from
	positions in 2 Functional		the UT, it was observed that
	DIETs is 8% with only 46 faculties in position as		vacancy of academic positions in 2 Functional DIETs is
	against a total sanctioned		presently 18%. UT was asked
	post of 50. These vacant		to fill the vacant posts on
	posts need to be filled up		priority.
	on priority as it is also directly impacting PGI		
	indicators 2.1.12		

6 | Page

Ganejs

2. Review of performance during 2022-23:

PGI UT for 2021-22is now open for data entry since January, 2022 and though UT has initiated the process only few entries have been made. UT had secured a score of 844 in Performance Grading Index (PGI) and was placed in Grade I. The Domain-wise Gaps in 2020-21 as compared to 2019-20, 2018-19 and 2017-18 are shown below:

	至 進 潮川	Categ	ory 1	Category 2	Total	
Year	Domain 1 (180)	Domain 2 (80)	Domain 3 (150)	Domain 4 (230)	Domain 1 (360)	All Domains (1000)
2017-18	132	53	88	203	168	644
GAP	48	27	62	27	192	356
2018-19	132	55	105	199	212	703
GAP	48	25	45	31	148	297
2019-20	114	49	110	196	76	545
GAP	66	31	40	34	248	455
2020-21	132	66	137	214	295	844
GAP	48	14	13	16	65	156

UT was requested to examine its score in each domain and take measures to improve its overall PGI score.

- a) Learning Outcomes and Quality (C-1, D-1): UT still needs to work on providing interventions to improve the learning outcomes of the students.
- b) Access Outcomes (C-1, D-2): There is improvement under this domain. UT needs to focus on the Adjusted Net Enrolment Rate (ANER) at Secondary level and UT should adopt an appropriate planning strategy for conducting surveys to identify children who are out of school and have returned after pandemic related lockdown or due to reverse migration and other reasons.
- c) Infrastructure & Facilities (C-1, D-3): There is substantial progress under this domain. UT was encouraged to further take measures to reach the top grade, with specific focus on integrated science labs as well as computer labs in secondary schools, ramps with handrails and disabled friendly toilets for children with special needs.
- **d)** Equity Outcomes (C-1, D-4): There has been significant in improvement in this domain. Percentage of schools having functional disabled friendly toilets is an area of concern.
- e) Governance Processes (C-2, D-1): There has been significant progress under this domain. The UT needs to focus on mapping funds arranged through PPP, CSR etc. as a percentage of UT budget on education during current year, merit-based selection system for recruitment of school heads/principals and filling academic positions that are vacant, in timely manner.

7 | Page

Kane 2

3. Appraisal issues/ Commitments for 2023-24

Pending Works in Non-recurring/Spill Over: The year-wise details of pending non-• recurring interventions under different components are as detailed in the table below. UT was asked to ensure that the in-progress works are completed on priority in this financial year.

Sl. No.	Status of physical progress of pend Item of Construction	Sanctioned	In progress	Completed	Not started
	Elen	nentary Level	常着这日	夏夏夏夏	
1	Primary School Buildings	1	0	0	1
2	Upper Primary School Buildings	1	0	0	1
3	Additional Class rooms	25	0	0	25
4	Drinking Water	144	0	0	144
5	Boys Toilet	20	1	0	19
6	Girls Toilet	31	2	0	29
7	CWSN Toilet	2	0	0	2
8	Ramps with handrail	87	0	0	87
13	Boundary wall	339	0	0	339
14	Major Repair	61	0	0	61
17	Solar Panel Electrification	326	0	147	179
19	Dilapidated Building (Primary)	18	0	0	18
20	Dilapidated Building (Upper Primary)	7	3	0	4
	Sec	ondary Level		1.2.2.2.1	推进 推
1	New School Buildings	27	1	18	8
2	Additional Class room	1	0	0	1
3	Science Lab	25	0	1	24
4	Computer Room	24	0	9	15
5	Library Room	33	0	8	25
6	Art/Craft/Culture room	60	0	10	50
7	Girls Toilet	33	0	14	19
8	Boys Toilet	30	0	14	16
9	CWSN Toilet	22	22	0	0
10	Drinking Water	27	0	11	16
11	Major Repair	16	0	0	16
14	Solar Panel Electrification	1	0	0	1
	Hr. Se	econdary Leve	el	新新新新新	1223
1	Upgraded School in Hr. Secondary	3	0	0	3

Source: PRABANDH Portal

8 | Page Gareg

- **Gross Enrolment Ratio (GER)**: GER is low at all the level. It is 79.54 at Primary level, 66.11 at upper Primary level, 58.76 at Secondary level and 49.44 at Higher Secondary level. UT needs to come up with effective strategy to improve GER at all the level.
- Net Enrolment Ratio (NER): The NER is very low at all the level. It is 59.78 at Primary level, 42.80 at upper Primary level, 29.91 at Secondary level and 30.32 at Higher Secondary level. UT needs to take appropriate measures to improve NER.
- **Surplus Teachers at Elementary level**: There are still 563 Surplus Teachers at Elementary level and around 19% schools at Primary level and 10% schools at Upper Primary level have adverse PTR.UT needs to go for a rationalization of teachers, to ensure availability of required number of teachers in all schools.
- Transition Rate of Girls (Secondary level): Transition rate is 94% at Primary to Upper Primary, 98% at Upper Primary to Secondary and 91.5% at Secondary to Higher Secondary level. Transition rate of girls is less than that of boys at higher secondary level which is a matter of great concern.
- **KGBVs**: Out of the total number of 20 KGBVs sanctioned in the UT, all10 KCBVs under Type I are functional and 02 out of 10 KGBVs under Type IV are yet to be made functional.
- Inclusive Education: There are 1,052 children with special needs (CwSN) enrolled against total enrollment of 59,788 students i.e. 1.8%. For the screening of disabilities (as per RPwD Act, 2016) for all students at school level on the PRASHAST mobile application, only 51 users have been registered and 01 has been verified. UT may undertake orientation for using the mobile app for screening of all relevant stakeholders and ensure all users are verified for undertaking the disability screening activity at school level. UT to take concerted efforts to ensure timely identification of CwSN and provision of requisite support services to ensure completion of schooling for all identified CwSN.
- Vacancy of Academic positions in TEIs: Vacancy of academic positions in 2 Functional DIETs is 18% with only 41 faculties in position as against a total sanction of 50 posts. These vacant posts need to be filled up on priority as it is also directly impacting PGI indicators 2.1.12. As per Budget Announcement for 2023, the focus of the Ministry is strengthening of SCERTs and DIETs and as such State/UT need to prioritize the process of filling up of existing vacancies of academic positions in these institutions.

UT is advised to take up post NAS-21 and post FLS activities for the fund approved under the assessment, quality and innovation head. Activities like understanding the reasons behind low performance in certain Learning Outcomes (LOs), encouraging sharing of best practices and strategies by setting up teacher forums, and development of team at block, district level to work towards improvement of students attainment specifically in subject specific LOs are encouraged.

9|Page

Ganija

Section: III- Financial Estimation

2. Total Estimated Budget (2023-24)

The estimates for the AWP&B for 2023-24under Elementary, Secondary and Teacher Education are as under:

Head	Spill over	Non- Recurring (Fresh)	Recurring * (Fresh)	Total Fresh (3+4)	Grand Total (Including Spill-Over) (2+5)
1	2	3	4	5	5
Elementary	3,831.81	2,910.99	6,327.17	9,238.16	13,069.97
Secondary	4,839.57	574.66	2,497.49	3,072.15	7,911.72
Teacher Education	17.64	0.00	132.05	132.05	149.69
Total	8,689.02	3,485.65	8,956.71	12,442.36	21,131.38

*Includes Programme Management (MMMER)

3. Actual Releases by GOI during 2023-24

Against the above estimates, **Central Government shall provide to the UT Government**, **Rs.18,248.71 lakh as its share (Rs.12,404.44 lakh for elementary, Rs.5,687.78 lakh for secondary & senior secondary and Rs.156.49 lakh for Teacher Education)**. UTs will also be able to utilise their unspent balances as on 31st March, 2023 for the activities approved in 2022-23 including spill over.

Based on the demand of funds projected for 2023-24, the tentative share of recurring and non-recurring grants is given below:

				(Rs. in lakh
Component	Elementary Education	Secondary Education	Teacher Education	Total
Recurring	6,327.17	2,497.49	132.05	8,956.71
Non-recurring	6,077.27	3,190.29	24.44	9,292.00
Total	12,404.44	5,687.78	156.49	18,248.71

The Balance of the outlay (i.e. Rs. 8689.02 lakh) approved under Non-recurring components in previous years which is not spent fully, is the outlay saved/spill over for the subsequent year (i.e. 2023-24). Against the above Spill over, the committed liability of Department of SE&L is Rs.5,806.35 lakh (Rs.3,166.28 lakh for Elementary, Rs.2,615.63 lakh for Secondary and Rs.24.44 lakh for Teacher Education) keeping in view the total approvals and grants already released.

Non-recurring grant will be released against the committed liabilities and the fresh approvals subject to the production of required documents by State/UTs and physical and financial progress of these interventions under the non-recurring head.

10 | Page

Kanejz

As per Section 7(5) of the RTE Act, 2009, the UT Government shall after taking into consideration the sum provided by the Central Government above, provide the balance funds necessary to fulfil the estimate for the implementation of the Act. The interventions under the Samagra Shiksha comprise of activities pertaining to Elementary, Secondary and Teacher Education respectively and there is a single Budget for Samagra Shiksha in the Demand for Grants (BE) 2023-24. The release of funds would be from a single Budget Head only. However, for purposes of ascertaining the quantum of funds going to each component, the Sub-Heads for Elementary (including Teacher Education) and Secondary Education has been classified separately.

The UT should invariably provide Single Budget Head during 2023-24 and the nomenclature should be Samagra Shiksha. Since Samagra Shiksha would be catering to various activities relating to RTE entitlements and all other Elementary interventions as well as Teacher Training and activities for BRCs and CRCs which forms the portion of Teacher Education activities as well as for Secondary Education, the States shall also provide a suitable Nomenclature with Sub-Heads to identify the disbursement of funds separately under all components of Samagra Shiksha. Fund flow to SCERT, DIET etc. will be through UT Nodal Account of UT Implementing Society only.

In case of ineluctable needs, the targeted locations for approved Samagra Shiksha interventions can be modified up to 10% of the total allocations by the State/UT without any change in the financial costs. For Example- If the intervention of 100 Smart Class have been sanctioned to 100 schools, the location of 10 schools may be changed to other schools by States/UTs, subject to the conditions that new schools (Schools in which smart class is now provided) are fulfilling the Samagra Shiksha Norms/criteria of sanction of Smart Class.

Also, the modified locations should not amount to more than 10% of the total financial approval for the given activity as well. It is noteworthy that the location should be changed only when it is not possible to implement that activity at the approved location. While changing the location of any interventions, the norms of Samagra Shiksha for that particular intervention should be strictly adhered to. Any change in this connection, should be informed to the Department with proper justification and supporting documents.

Further, wherever States/UTs involve/engage a third party or organisation for the implementation of a programme/intervention/activity approved under the Samagra Shiksha Scheme, the complete responsibility for such involvement/engagement of the third party with reference to financial/legal or any other implications will rest with the respective State/UT only. Approval of any activity under Samagra Shiksha Scheme for which third party has been engaged by the State/UT does not tantamount to any endorsement (financial/legal and any other) by the Ministry of Education for the involvement/engagement of such third party or organisation.

4. Spill Over

11 | Page

Kawija

An outlay of **Rs.8,689.02 lakh** as Spill over under various activities falling under Elementary Education, Secondary Education and Teacher Education was estimated with the condition that all pending activities should be completed during this year 2023-24. The detail is enclosed at *Annexure II*.

5. Costing Sheet

The consolidated item-wise estimate for 2023-24 is at *Annexure III*. The UT must bifurcate the annexed costing sheet among all the Districts according to their proposals/approvals and capture the district wise expenditure against the budget allotted, on the PRABANDH portal on a monthly basis for the real time monitoring of each activity/component approved under Samagra Shiksha. Also, UT needs to ensure that timely implementation of the various interventions.

The meeting ended with a vote of thanks to the Chair.

Many 2

Annexure-I

List of Participants

Ministry of Education, Government of India

- 1. Sh. Sanjay Kumar, Secretary (SE&L)
- 2. Ms. A. Srija, Economic Advisor (SE&L)
- 3. Sh. Vipin Kumar, Joint Secretary (SS-II)
- 4. Sh. Venkatramana Hedge, DDG (Statistics)
- 5. Sh. Charanjit Taneja, Deputy Secretary
- 6. Sh. Shobhit Gupta, Director (Finance)
- 7. Sh. Rajesh Kr. Maurya, Under Secretary
- 8. Sh. Hemant Sorte, Section Officer
- 9. Sh. Dheeraj Jain, Assistant Section Officer
- 10. Ms. Sohila K. Bakshi, Consultant & UT Coordinator, TSG, Samagra Shiksha
- 11. Ms. Alka Mishra, Chief Consultant, TSG, Samagra Shiksha
- 12. Sh. Wamiq Towhid, Sr. Consultant, TSG, Samagra Shiksha
- 13. Sh. Adil Rashid, Sr. Consultant, TSG, Samagra Shiksha
- 14. Sh. Abdullah Faisal, Sr. Consultant, TSG, Samagra Shiksha
- 15. Sh. Selva Ganesh, Sr. Consultant, TSG, Samagra Shiksha
- 16. Sh. Abdul Momin, Consultant, TSG, Samagra Shiksha
- 17. Sh. Shakeel AhemedQuereshi, Consultant, TSG, Samagra Shiksha
- 18. Ms. Renu Ruhil, Consultant, TSG, Samagra Shiksha
- 19. Sh. Ataullah Khan, Consultant, TSG, Samagra Shiksha
- 20. Appraisal Team Members- TSG Consultants, Samagra Shiksha

UT Administration of Ladakh

- 1. Sh. Tsering Paldan, SPD, School Education, Ladakh
- 2. Sh. Gulzar Danish, OSD
- 3. Sh. Zakir, AO
- 4. Team Members, Samagra Shiksha, Ladakh

SPILL OVER: - Ladakh

Financial Year: 2022-23 Month: March

											(Rs. in lakh)	
Financ	ial Year:202	2-2023 Month: March			LADAKH						(Rs. in lakh)	
		Particulars	Budget Approved (Cumulative)Cumulative Progress (Since Inception)						Spill Over			
			Physical	Financial	Phys	ical	Financial		Physical		Financial	
					Complete	In- progress		In- progress	Not Started	Total		
Access	Access & Retention					• •			·	·		
Openin	g of New / U	pgraded Schools										
1	Opening of	New Schools - NR (Elementary)										
	1.1	Composite School for Elementary	1	26.69					1	1	26.69	
	1.2	Upgradation of PS to UPS (VI -VIII)	1	19.91					1	1	19.91	
	(Elementa	pening of New Schools - NR ry)		46.60							46.6	
3	Opening of	New / Upgraded Schools - NR (Secondary)										
	3.1	1 Section School (Class IX - X)	5	744.34					5	5	744.34	
	3.3	Composite School for Secondary	2	265.40					2	2	265.40	
	Total for O (Secondary	pening of New / Upgraded Schools - NR y)		1009.74							1009.74	
6	Opening of Secondary)	New / Upgraded Schools - NR (Hr.										
	6.1	Higher Secondary School - Science Subject (XI - XII)	1	82.62					1	1	82.62	
	6.3	Higher Secondary School - Arts Subject (XI - XII)	2	165.24					2	2	165.24	
	Total for 0 (Hr. Secon	pening of New / Upgraded Schools - NR		247.86							247.86	
Total f		f New / Upgraded Schools		1304.20							1304.2	
Netaji S	Subhas Chano	dra Avasiya Vidhyalaya						1	· ·	ľ		
29		ash Chandra Bose Avasiya Vidyalaya NR (New) (Capacity 50) (Elementary)										
	29.1	Furniture/ Equipment (including kitchen)	2	20.00	0	1	10.00	1	1	2	10.00	
	29.2	TLM and equipment including library books	2	10.00	0	1	5.00	1	1	2	5.00	
	29.3	Bedding (new)	2	20.00	0	1	10.00	1	1	2	10.00	
	29.4	Boring/ Handpump	2	4.00	0	1	2.00	1	1	2	2.00	

Financ	ial Year:20	022-2023 Month: March			LADAKH						(Rs. in lakh)
		Particulars		Approved nulative)	Cumula	tive Progres Inception)	•		S		
			Physical	Financial	Phys		Financial		Physical		Financial
					Complete	In- progress		In- progress	Not Started	Total	
	29.5	Boundary Wall	2	8.00	0	1	4.00	1	1	2	4.00
	29.6	Construction of building (new)	2	280.00	0	1	160.00	1	1	2	120.00
	29.8	Electricity / water charges	2	4.00	0	1	2.00	1	1	2	2.00
		Netaji Subhash Chandra Bose Avasiya a (Hostels) - NR (New) (Capacity 50) arv)		346.00			193.00				153
31	Netaji Sub	hash Chandra Bose Avasiya Vidyalaya - NR (Existing) (Capacity 50) (Elementary)			1				1 1		
	31.4	Replacement of bedding (once in 3 years)	1	2.00	1	0	2.00	0	0	0	0.00
		Netaji Subhash Chandra Bose Avasiya a (Hostels) - NR (Existing) (Capacity 50) arv)		2.00			2.00				0
43.1	Netaji Sub	hash Chandra Bose Avasiya Vidyalaya - NR (New) (Upgradation till XII)			1	I			I I	I	
	43.10.1	Boundary Wall	2	6.00	0	2	6.00	2	0	2	0.00
	43.10.2	Boring/Handpump	4	6.00	0	2	2.00	2	2	4	4.00
	43.10.3	Furniture/ Equipment (including kitchen)	3	30.00	0	1	10.00	1	2	3	20.00
	43.10.4	TLM and equipment including library books	4	12.00	0	2	6.00	2	2	4	6.00
	43.10.5	Bedding (new)	4	30.00	0	1	10.00	1	3	4	20.00
	43.10.8	Construction of building (new)	4	1386.40	0	1	313.00	1	3	4	1073.40
	43.10.9	Electricity / water charges	2	4.00	0	1	2.00	1	1	2	2.00
	Vidyalaya XII)	Netaji Subhash Chandra Bose Avasiya a (Hostels) - NR (New) (Upgradation till		1474.40			349.00				1125.4
45.1		hash Chandra Bose Avasiya Vidyalaya NR (Existing) (Upgrd till X)									
	45.10.	Replacement of bedding (once in 3 years)	2	8.00	2	0	8.00	0	0	0	0.00

Financ	cial Year:20	22-2023 Month: March			LADAKH			(Rs. in lakh)			
		Particulars		t Approved nulative)	Cumula	tive Progres Inception)	•		S	Spill Over	
			Physical	Financial	Phys		Financial		Physical		Financial
					Complete	In- progress		In- progress	Not Started	Total	
		Netaji Subhash Chandra Bose Avasiya ı (Hostels)- NR (Existing) (Upgrd till X)		8.00		F8	8.00	F8			0
Total f	tal for Netaji Subhas Chandra Avasiya Vidhyalaya			1830.40			552.00				1278.4
Streng	thening of E	xisting Schools	 		I	1		1	11		
48	Strengther VIII) - NR	ning of Existing Schools (up to Highest Class									
	48.3	Additional Classrooms (Upto Class VIII)	25	168.94	20	0	120.44	0	5	5	48.50
	48.4	Boys Toilets	20	39.54	20	0	39.54	0	0	0	0.00
	48.5	Girls Toilets (Upto Class VIII)	31	48.05	31	0	48.05	0	0	0	0.00
	48.6	Drinking Water (Upto Class VIII)	144	360.00	144	0	360.00	0	0	0	0.00
	48.7	Boundary Wall	341	2307.09	163	0	1059.31	0	178	178	1247.78
	48.8	Electrification (Upto Class VIII)	326	260.80	326	0	260.80	0	0	0	0.00
	48.10	CWSN Toilets (Upto Class VIII)	2	4.20	2	0	4.20	0	0	0	0.00
	48.11	Major Repair	57	114.00	28	0	56.00	0	29	29	58.00
	48.12	Furniture (Upto Class VIII)	3245	48.68	3245	0	48.68	0	0	0	(0.01)
	48.14	Ramps and Handrails	87	8.70	87	0	8.70	0	0	0	0.00
	48.15	Building Less Schools (Primary)	5	99.50	5	0	99.50	0	0	0	0.00
	48.16	Dilapidated Building (Primary)	18	54.00	18	0	54.00	0	0	0	0.00
	48.18	Dilapidated Building (Upper Primary)	7	21.00	6	0	18.00	0	1	1	3.00
		Strengthening of Existing Schools (up to lass VIII) - NR		3534.49			2177.22				1357.274
48.1		ion of Basic Infrastructure and Overall of Govt. Schools (Elementary)(NR)									
	48.10.1	Major Repair	5	10.00					5	5	10.00
	48.10.7	Boundary Wall	5	56.18					5	5	56.18
40.0	Overall Cl (Elementa			66.18							66.18
48.2		ion of Basic Infrastructure and Overall of Govt. Schools (Secondary)(NR)									
	48.20.	Boundary Wall	12	116.99					12	12	116.99

Financ	cial Year:2	022-2023 Month: March			LADAKH						(Rs. in lakh)
		Particulars		Approved nulative)	Cumula	tive Progres Inception)	•		S	Spill Over	
			Physical	Financial	Phys		Financial		Physical		Financial
					Complete	In- progress		In- progress	Not Started	Total	
		Electrification	1	0.80					1	1	0.80
		Major Repair	1	2.00					1	1	2.00
	Overall (r Rejuvenation of Basic Infrastructure and Clealiness of Govt. Schools ary)(NR)		119.79							119.7875
49	Strengthe	ening of Existing Schools (IX - X) - NR								•	
	49.2	Computer Room	6	137.00	6	0	137.00	0	0	0	(0.01)
	49.4	Library Room	15	289.24	15	0	289.24	0	0	0	0.00
	49.5	Lab Equipment (Sci Lab)	7	7.49	7	0	7.49	0	0	0	0.00
	49.6	Science Lab	14	258.53	14	0	258.53	0	0	0	(0.00)
	49.7	Art/Craft Room	39	558.39	39	0	558.39	0	0	0	(0.01)
	49.8	Toilets for CWSN	22	44.00	22	0	44.00	0	0	0	0.00
	49.9	Drinking Water	8	20.40	8	0	20.40	0	0	0	0.00
	49.10	Additional Classroom	1	12.73	1	0	12.73	0	0	0	0.00
	49.12	Girls Toilet	2	4.20	2	0	4.20	0	0	0	0.00
		r Strengthening of Existing Schools (IX - X)		1331.97			1331.98				-0.007
50	- NR Strengthe	ening of Existing Schools (XI - XII) - NR									
	50.2	Library Room	1	18.12	1	0	18.12	0	0	0	0.00
	50.2	Lab Equipment (Sci Lab)	12	12.00	12	0	12.00	0	0	0	0.00
	50.4	Science Lab	6	76.58	6	0	76.58	0	0	0	0.00
	50.5	Drinking Water	2	5.10	2	0	5.10	0	0	0	0.00
	50.10	Art / Craft Room	3	38.28	3	0	38.28	0	0	0	0.00
	50.11	Boys Toilet	5	10.50	5	0	10.50	0	0	0	0.00
	50.12	Girls Toilet	6	12.60	6	0	12.60	0	0	0	0.00
	Total for XII) - NR	r Strengthening of Existing Schools (XI -	0	173.18			173.18		0		0.00
51		Electrification in Schools (Elementary) - NR			1				<u> </u>	I	
	51.1	Solar Panel	241	665.20	89	0	209.20	0	152	152	456.00
	Total for NR	r Electrification in Schools (Elementary) -		665.20			209.20				456

Financ	ial Year:2022-2023 Month: March			LADAKH						(Rs. in lakh)
	Particulars		Approved nulative)	Cumula	tive Progre Inception			S	pill Over	
		Physical	Financial	Phys		Financial		Physical		Financial
				Complete	In- progress		In- progress	Not Started	Total	
52	Electrification in Schools (Secondary and Sr. Secondary) - NR									
	52.1 Solar Panel For Hostels	5	25.00					5	5	25.00
	52.2 Solar Panel For School	70	399.50					70	70	399.50
	Total for Electrification in Schools (Secondary and Sr. Secondary) - NR		424.50							424.5
53	Strengthening of Residential Schools - NR (up to Highest Class VIII)			1		1				
	53.12Refurbishing of Residential Hostels	2	11.00					2	2	11.00
	Total for Strengthening of Residential Schools - NR (up to Highest Class VIII)		11.00							11
54	Teacher Quarter - NR (up to Highest Class X or XII)									
	54.1Residential Quarter	31	548.00					31	31	548.00
	Total for Teacher Quarter - NR (up to Highest Class X or XII)		548.00							548
55	Repairing and Renovations (up to Highest Class X or XII) - NR									
	55.1 Major Repair	15	48.00	15	0	48.00	0	0	0	0.00
	Total for Repairing and Renovations (up to Highest Class X or XII) - NR		48.00			48.00				0
Total f	or Strengthening of Existing Schools		6922.31			3939.58				2982.7345
Total f	or Access & Retention		10056.91			4491.58				5565.3345
Quality	Interventions									
Funds f	or Quality (LEP, Innovation, Guidance etc)									
71	Innovation Projects - (NR) (Elementary)									
	71.12 ICT Facility to BRCs	13	83.20					13	13	83.20
	71.13 Teacher Resource Package (Primary)	1695	169.50					1695	1695	169.50
	Total for Innovation Projects - (NR) (Elementary)		252.70							252.7
75	Project - Innovative Activities- (NR) - (State Specific) (Elementary)			·	·	·		·	/	
	75.23 E-Book / Tablets for Students	721	292.20					721	721	292.20
	Total for Project - Innovative Activities- (NR) - (State Specific) (Elementary)		292.20							292.2
76	Project - Innovative Activities - (NR) - (State Specific) (Secondary & Sr. Secondary)									

Finan	cial Year:2	022-2023 Month: March			LADAKH						(Rs. in lakh)
		Particulars		Approved nulative)	Cumula	tive Progree Inception)			S	Spill Over	
			Physical	Financial	Phys		Financial		Physical		Financial
					Complete	In- progress		In- progress	Not Started	Total	
	76.23	E-Book/Tablets for Students	118	151.80		progress		progress	118	118	151.80
		Project - Innovative Activities - (NR) - pecific) (Secondary & Sr. Secondary)		151.80							151.8
Total		or Quality (LEP, Innovation, Guidance etc)		696.70							696.7
ICT an	d Digital In	itiatives			1	1	1	•			
127	Digital Ha - NR	ardware & Software (up to Highest Class VIII)									
	127.1	Digital Hardware & Software (Type - I) (Elementary)	20	128.00					20	20	128.00
	127.2	Smart Classroom (Type - II) (Elementary)	46	55.20					46	46	55.20
	127.3	Digital Hardware	13	76.40					13	13	76.40
	127.4	Operating System / Softwares	13	2.60					13	13	2.60
	127.5	Furniture	13	2.60					13	13	2.60
		Digital Hardware & Software (up to Class VIII) - NR		264.80							264.8
129	NR	ardware & Software (upto Highest Class XII) -									
	129.1	Digital Hardware & Software (Type - I) (Secondary & Sr. Secondary)	2	12.80	2	0	12.80	0	0	0	0.00
	129.3	Digital Hardware	55	330.00	55	0	330.00	0	0	0	0.00
	129.5	Operating System / Softwares	55	11.00	55	0	11.00	0	0	0	0.00
	129.6	Furniture	55	11.00	55	0	11.00	0	0	0	0.00
		Digital Hardware & Software (upto Class XII) - NR		364.80			364.80				0
		Digital Initiatives		629.60			364.80				264.8
Early (Childhood C	Care and Education (ECCE)									
133	Pre- Prin	nary (Non- Recurring)									
	133.1	Child Friendly Furniture	658	436.16					658	658	436.16
	133.2	BALA Features	658	49.20					658	658	49.20
	133.3 Out Door Play Materials		658	164.50					658	658	164.50
	133.4	Support at Pre-Primary Level (New) (NR)	163	23.20					163	163	23.20
	Total for	Pre- Primary (Non- Recurring)		673.07							673.06578

Financ	cial Year:2022-2023 Month: March			LADAKH						(Rs. in lakh)
	Particulars		Approved nulative)	Cumula	tive Progres Inception)			S	Spill Over	
		Physical	Financial	Phys		Financial		Physical		Financial
				Complete	In- progress		In- progress	Not Started	Total	
Total f	for Early Childhood Care and Education (ECCE)		673.07		progress		progress	Starteu		673.06578
Total f	f or Quality Interventions		1999.37			364.80				1634.56578
Teache	er Education			I				1		1
	/ork :Strengthening of physical infrastructure in ΤΕΙ Γs/DIETs/BITEs)									
139	Establishment of Special Cells in SCERT - NR									
	139.1 Mathematics	2	20.00	2	0	20.00	0	0	0	0.00
	139.2 Language/English Education	2	20.00	2	0	20.00	0	0	0	0.00
	Total for Establishment of Special Cells in SCERT - NR		40.00			40.00				0
140	Strengthening of Physical Infrastructure for New Construction and Expansion of existing TEIs - NR									
	140.5Civil works, hostel facilities, etc of the existing TEIs (SCERTs/DIETs/BITEs)	1	112.53	1	0	112.53	0	0	0	0.00
	Total for Strengthening of Physical Infrastructure for New Construction and Expansion of existing TEIs - NR		112.53			112.53				0
Total f in TEI	for Civil Work :Strengthening of physical infrastructure (SCERTs/DIETs/BITEs)		152.53			152.53				0
Techno	blogy Support to TEIs									
142	Technology Support to TEIs (NR)									
	142.4 Hardware & Software Support	4	17.64					4	4	17.64
	Total for Technology Support to TEIs (NR)		17.64							17.64
Total f	for Technology Support to TEIs		17.64							17.64
Total f	f or Teacher Education		170.17			152.53				17.64
Gender	r & Equity									
Kastur	ba Gandhi Balika Vidyalaya (KGBVs)									
165	KGBV - Type - I (NR) (Previous Year) (Classes VI -VIII)									
	165.7Replacement of bedding (once in 3 years)	450	9.00					450	450	9.00
	Total for KGBV - Type - I (NR) (Previous Year) (Classes VI -VIII)		9.00							9
175	KGBV - Type - IV (NR) (New) (Classes IX - XII)									
	175.1 Construction of Building (New)	10	2287.57	0	4	1075.08	4	6	10	1212.49

Finan	cial Year:2022-2023 Month: March			LADAKH						(Rs. in lakh)
	Particulars		t Approved nulative)	Cumula	tive Progre Inception			S	Spill Over	
		Physical	Financial	Phys		Financial		Physical		Financial
				Complete	In- progress		In- progress	Not Started	Total	
	Total for KGBV - Type - IV (NR) (New) (Classes IX - XII)		2287.57			1075.08				1212.488
Total	for Kasturba Gandhi Balika Vidyalaya (KGBVs)		2296.57			1075.08				1221.488
Specia	l Projects for Equity						8	<u> </u>	ľ	
185	Special Projects for Equity - (NR) (Secondary)									
	185.1 Sanitary pad Vending and incinerator machines	70	14.00	70	0	14.00	0	0	0	0.00
	Total for Special Projects for Equity - (NR) (Secondary)		14.00			14.00				0
187	Special Projects for Equity - (NR) (Elementary)									
	187.1 Sanitary pad Vending and incinerator machines	369	73.80	369	0	73.80	0	0	0	0.00
	Total for Special Projects for Equity - (NR) (Elementary)		73.80			73.80				0
	f or Special Projects for Equity		87.80			87.80				0
	f or Gender & Equity		2384.37			1162.88				1221.488
Vocati	onal Education									
Second										
214	Introduction of VE in schools - NR									
	214.1 Tools, Equipment & Furniture (New)	18	53.00	18	0	53.00	0	0	0	0.00
	Total for Introduction of VE in schools - NR		53.00			53.00				0.001
	f or Introduction of Vocational Education at Secondary gher Secondary		53.00			53.00				0.001
	for Vocational Education		53.00			53.00				0.001
Monito	oring of the Scheme									
Monito	oring Information System (MIS)									
219.1	Vidhya Samiksha Kendra (Non-Recurring) (EE/SE/TE)									
	219.10.13 Vidya Samiksha Kendra (Non-Recurring)	1	250.00					1	1	250.00
	Total for Vidhya Samiksha Kendra (Non- Recurring) (EE/SE/TE)		250.00							250
Total	for Monitoring Information System (MIS)		250.00							250

Financial Year:2022-2023 Month: March			LADAKH			(Rs. in lakh)				
Particulars	U	t Approved nulative)	Cumula	tive Progree Inception	-		9	Spill Over		
	Physical	Physical Financial		sical	Financial		Physical		Financial	
			Complete	In- progress		In- progress	Not Started	Total		
Total for Monitoring of the Scheme		250.00							250	
Grand Total		14913.82			6224.79				8689.02928	
Generated as on Tuesday, May 02, 2023										

Scheme Name	Budget Approved (Cumulative)	Cumulative Progress (Since Inception)	Spill Over		
	Financial	Financial	Financial		
Elementary Education	6487.04	2655.22	3831.819780		
Secondary Education	8256.61	3417.04	4839.5695		
Teacher Education	170.17	152.53	17.64		
Total	14913.82	6224.79	8689.02928		

Major Component	Budget Approved (Cumulative)	Cumulative Progress (Since Inception)	Spill Over
	Financial	Financial	Financial
Access & Retention	10056.91	4491.58	5565.3345
Quality Interventions	1999.37	364.80	1634.56578
Teacher Education	170.17	152.53	17.64
Gender & Equity	2384.37	1162.88	1221.488
Vocational Education	53.00	53.00	0.001
Monitoring of the Scheme	250.00		250
Total	14913.82	6224.79	8689.029280

Source: PRABANDH Portal

Annexure-III

State: Ladakh and Year 2023-24

COSTING SHEET: LADAKH

(Rs. in lakh)

Particulars						Proposa	1	Final Approved Outlay					
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks		
Access & Retention	Opening of New / Upgraded	2.0		Opening of New Schools - Recurring (Elementary)									
	Schools		2.0.3	Recurring Cost - Primary (Previous) (Samagra)	1	10.0000	10	1	5.00000	5	 Recommended as appraised Rs. 5.00 lakh for Recurring cost of 1 Primary School (Previous) to meet out the expenses of manpower, etc. as per the norms. Status of Primary School under Samagra Shiksha. PRABANDH 25/04/2023): 1) 2019-20: 1 Primary School sanctioned and functional with 		
			2.0.18	Recurring Cost (Upto Class VIII) (Previous)	1	13.5000 0	13.5	1	10.0000	10	17 enrollment.Recommended as appraisedRs. 10.00 lakh for Recurringcost of 1 Upper Primary School(Previous) to meet out theexpenses of manpower, etc. asperthenorms.Status of Upper PrimarySchool under Samagra Shiksha.PRABANDH25/04/2023):1) 2019-20: 1 upper PrimarySchoolsanctioned andfunctional with 71 enrollment.		
				Total of Opening of			23.5			15			

	Particulars						1	Final Approved Outlay					
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks		
				New Schools - Recurring (Elementary)									
		5.0		Opening of New / Upg	raded Sch	ools - Rec	urring (Sec	condary)					
			5.0.2	Recurring Cost - Secondary (Previous) (Samagra)	7	25.0000	175	7	25.0000	175	Recommended as proposed Rs.175.00 lakh for Recurring costof 5 functional SecondarySchools (Previous) @ Rs. 25.00lakh per school to meet out theexpenses of manpower, etc. asperthenorms.Status of Secondary SchoolsschoolsunderSamagraShiksha.Total 7Schoolssanctioned all arereported functional with 389enrollment01/05/2023):1)2020-21:5SecondarySchoolssanctioned andfunctionalwith292022-23:2SecondarySchoolssanctionedandfunctional with 93enrollment.		
				New / Upgraded Schools - Recurring (Secondary)			175			175			
		7.0		Opening of New / Upgraded Schools - Recurring (Hr. Secondary)									

	Particulars						1	Final Approved Outlay					
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks		
			7.0.2	Recurring Cost - Hr. Sec. (1 Subject) (Previous) (Samagra)	3	25.0000 0	75	3	25.0000 0	75	Recommended as proposed Rs.75.00 lakh for Recurring costof 3 functional Sr. SecondarySchools (Previous) @ Rs. 25.00lakh per school to meet out theexpenses of manpower, etc. asperthenorms.Status of Sr. Secondary SchoolsschoolsunderSamagraShiksha.(PRABANDH01/05/2023):1)2020-21:3Sr. SecondarySchoolssanctionedandfunctionalwith187enrollment.		
				Total of Opening of New / Upgraded Schools - Recurring (Hr. Secondary)			75			75			
		Total Schoo		ing of New / Upgraded			273.5			265			
	Netaji Subhas Chandra Avasiya Vidhyalaya	31.0		Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostels) - NR (Existing) (Capacity 50) (Elementary)									
			31.0 .4	Replacement of bedding (once in 3 years)	50	0.05000	2.5	50	0.04000	2	Recommended @ Rs. 4000/child for 50 number of children.		
				Total of Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostels) - NR (Existing) (Capacity 50) (Elementary)			2.5			2			

	Particulars						1	Final Approved Outlay					
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks		
		32.0		Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostel) -(Rec) (Existing) (Capacity 50) (Elementary)									
			32.0. 1	Stipend per child per month	150	0.01000	1.5	150	0.01000	1.5	Recommended @ Rs. 1000/child for 150 number of children.		
			32.0. 2	Supplementary TLM, Stationery and other educational material	150	0.01000	1.5	150	0.01000	1.5	Recommended @ Rs. 1000/child for 150 number of children.		
			32.0 .3	1 Warden	3	2.40000	7.2	3	2.40000	7.2	Recommended @ RS. 20000/month for the warden each for the 3 existing residential hostels (Capacity- 50)		
			32.0 .5	1 Full Time Accountant	3	2.40000	7.2	3	2.40000	7.2	Recommended @ RS. 20000/month for the one full time accountant each for the 3 existing residential hostels (Capacity-50)		
			32.0 .6	2 Support staff - (Accountant/Assistan t, Peon, Chowkidar)	6	1.20000	7.2	6	1.20000	7.2	Recommended @ Rs. 10000/month for 2 support staff each for the 3 existing residential hostels (Capacity- 50)		
			32.0.7	1 Head Cook	3	1.20000	3.6	3	1.20000	3.6	Recommended @ Rs. 10000/month for the one head cook each for the 3 existing residential hostels (Capacity- 50)		
			32.0 .8	2 Assistant Cook	6	1.20000	7.2	6	1.20000	7.2	Recommended @ Rs. 10000/month for the 2 Asst. Cook each for the 3 existing residential hostels (Capacity- 50)		
			32.0 .9	Specific Skill training	150	0.01000	1.5	150	0.01000	1.5	Recommended @ Rs. 1000/child for 150 number of		

	Part	iculars			Proposa	l	Final Approved Outlay				
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
ι										children	
		32.0 .1 0	Electricity / water charges	3	0.50000	1.5	3	0.50000	1.5	Recommended unit cost as approved last year 2022-23 @ Rs. 50000/school/annum for 3 existing hostels.	
		32.0 .1 1	Medical care/contingencies	150	0.01250	1.875	150	0.01250	1.875	Recommended @ Rs. 1250/child for 3 existing hostels.	
		32.0 .1 2	Maintenance	150	0.01298	1.947	3	0.15000	0.45	Recommended @ Rs. 15000/hostel/annum for 3 existing hostels as approved in the AWBP 2022-23.	
		32.0 .1 3	Miscellaneous	150	0.01298	1.947	3	0.15000	0.45	Recommended @ Rs. 15000/hostel/annum for 3 existing hostels as approved in the AWBP 2022-23.	
		32.0. 1 6	Provision of Rent	3	3.60000	10.8	3	3.60000	10.8	Recommended as approved in last 2022-23 @ Rs. 3.60 lakh/residential hostels.	
		32.0 .1 7	Capacity Building	3	0.10000	0.3	3	0.10000	0.3	Recommended @ Rs. 10000/hostel for capacity building of 150 children in 3 existing hostels.	
		32.0. 1 8	Physical / Self Defence Training	150	0.01089	1.6335	3	0.10000	0.3	Recommended @ Rs. 10000/hostel as per norms for 3 existing residential hostels.	
		32.0 .1 9	Food/Lodging per child per month	150	0.30000	45	150	0.30000	45	Recommended @ Rs. 2500/child per month for 150 number of children (capacity- 50) in 3 existing residential hostels.	
			Total of Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostel) - (Rec) (Existing)			101.9			97.58		

	Р	articu	lars			Proposa	l	Final Approved Outlay				
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
				(Capacity 50) (Elementary)								
		38.0		Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostel) -(Rec) (Existing) (Capacity 100) (Elementary)								
			38.0.1	Food/Lodging per child per month	100	0.30000	30	100	0.30000	30	1 hostel of 100 capacity was sanctioned in the year 2020-21 in the district Kargil. Recommended fooding & Lodging @ Rs. 2500/child per month for 100 number of children.	
			38.0 .2	Stipend per child per month	100	0.02000	2	100	0.01000	1	Recommended @ Rs. 1000/child for 100 number children enrolled in one existing hostel.	
			38.0. 3	Supplementary TLM, Stationery and other educational material	100	0.01000	1	100	0.01000	1	Recommended as proposed @ Rs. 1000/child for 100 number children enrolled in one existing hostel.	
			38.0.4	1 Warden	1	2.40000	2.4	1	2.40000	2.4	Recommended @ Rs. 20000/month as approved last year 2022-23 for 1 warden in one existing hostel at elementary level.	
			38.0 .6	1 Full Time Accountant	1	2.40000	2.4	1	2.40000	2.4	Recommended same unit cost @ Rs. 20000/month as approved last year 2022-23 for 1 full time Accountant in one existing hostel at elementary level.	
			38.0 .7	2 Support staff - (Accountant/Assistan t, Peon, Chowkidar)	2	1.20000	2.4	2	1.20000	2.4	Recommended @ Rs. 10000/month for 2 support staff in one existing hostel at elementary level.	

	P	articu	lars			Proposa	1	Final Approved Outlay				
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
			38.0 .8	1 Head Cook	1	1.20000	1.2	1	1.20000	1.2	Recommended @ Rs. 10000/month for 1 head cook in one existing hostel at elementary level.	
			38.0 .9	2 Assistant Cook	2	1.20000	2.4	2	1.20000	2.4	Recommended same unit cost @ Rs. 10000/month as approved last year 2022-23 for 2 Asst. Cook in one existing hostel at elementary level.	
			38.0. 1 0	Specific Skill training	100	0.10000	10	100	0.01000	1	Recommended @ Rs. 1000/child for 100 number children enrolled in one existing hostel.	
			38.0. 1 1	Electricity / water charges	1	0.50000	0.5	1	0.50000	0.5	Recommended as proposed @ Rs. 50000/residential hostel.	
			38.0. 1 2	Medical care/contingencies	100	0.01250	1.25	100	0.01250	1.25	Recommended as proposed @ Rs. 1250/child for 100 number of children in one existing hostel.	
			38.0. 1 3	Maintenance	100	0.15000	15	1	0.15000	0.15	Recommended as approved in previous AWPB 2022-23 @ Rs. 15000/hostel.	
			38.0. 1 4	Miscellaneous	100	0.15000	15	1	0.15000	0.15	Recommended as approved in previous AWPB 2022-23 @ Rs. 15000/hostel.	
			38.0. 1 8	Capacity Building	1	0.10000	0.1	1	0.10000	0.1	Recommended @ Rs. 10000/hostel	
			38.0. 1 9	Physical / Self Defence Training	1	0.10000	0.1	1	0.10000	0.1	Recommended @ Rs. 10000/hostel	
				Total of Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostel) - (Rec) (Existing) (Capacity 100) (Elementary)			85.75			46.05		
		46.0		Netaji Subhash Chandra Bose								

	Part	iculars			Proposa	l	Final Approved Outlay				
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
			Avasiya Vidyalaya (Hostel) -(Rec) (Existing) (Upgradation till XII)								
		46.0.1	Stipend per child per month	2050	0.01000	20.5	2050	0.01000	20.5	At secondary level 13 hostels are fully operational, (100 capacity) 10 in Leh and 3 in Kargil. Moreover, 5 new hostel of 100 capacity was approved last year 2021-22 for recurring grant and 1 hostel at elementary was upgraded into secondary level due to upgradation of elementary school at secondary level. Now altogether 19 hostels at secondary level are fully functional (18-100> 100 capacity + 1-50 capacity). Recommended recurring grant for 19 existing hostels(Capacity-100). Stipend is recommended @ Rs.1000/child p.a.	
		46.0.2	Supplementary TLM, Stationery and other educational Materials	2050	0.01000	20.5	2050	0.01000	20.5	Recommended @ Rs. 1000/child for 2050 number of children in 19 existing hostel.	
		46.0. 3	1 Warden	19	2.40000	45.6	19	2.40000	45.6	Recommended @ Rs. 20000/head for 19 hostel of 100 capacity.	
		46.0. 5	1 Head Cook	19	1.20000	22.8	19	1.20000	22.8	Recommended @ Rs. 15000/head for 19 hostel of 100 capacity.	
		46.0 .6	2 Assistant Cook	38	1.20000	45.6	38	1.20000	45.6	Recommended @ Rs. 15000/head for 19 hostel of 100 capacity.	

Particulars					Proposa	1	Final Approved Outlay				
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
<u> t </u>		46.0.7	Electricity / Water Charges	19	0.50000	9.5	19	0.50000	9.5	Recommended @ Rs. 50000/head for 19 hostel of 100 capacity.	
		46.0 .8	Medical Care / Contingencies	2050	0.01250	25.625	2050	0.01250	25.625	Recommended @ Rs. 1250/- child for 2050 children in existing 19 hostels.	
		46.0 .9	Miscellaneous	19	0.15000	2.85	19	0.15000	2.85	Recommended @ Rs.15000/hostel per year for 19 existing hostel.	
		46.0 .1 0	Maintenance	19	0.15000	2.85	19	0.15000	2.85	Recommended @ Rs.15000/hostel per year for 19 existing hostel.	
		46.0. 1 1	Food/Lodging per child per month	2050	0.30000	615	2050	0.30000	615	Recommended @ Rs.2500/child per month for 2050 children in 19 existing hostel.	
		46.0. 1 3	1 Full Time Accountant	19	2.40000	45.6	19	2.40000	45.6	Recommended @ Rs. 20000/head for 19 existing hostel.	
		46.0 .1 4	2 Support Staff (Accountant / Assistant , Peon, Chowkidar)	38	1.20000	45.6	38	1.20000	45.6	Recommended @ Rs. 15000/head for 19 hostel of 100 capacity.	
		46.0. 1 5	Specific Skill Training	2050	0.01000	20.5	2050	0.01000	20.5	Recommended @ Rs. 1000/child for 2050 children in existing 19 hostels (capacity 100)	
		46.0. 1 8	Provision of Rent	3	3.60000	10.8	3	3.60000	10.8	Recommended as proposed @ Rs. 30000/ hostel per month for 3 hostel (Capacity-100).	
		46.0 .1 9	1 Sweeper cum scavenger	19	1.20000	22.8	19	1.20000	22.8	Recommended as proposed @Rs. 10000/head for 19 sweeper cum scavenger for existing 19 hostels (capacity 100)	
		46.0 .2 2	Capacity Building	19	0.10000	1.9	19	0.10000	1.9	Recommended @ Rs. 10000/hostel.	
			Total of Netaji			958.02			958.02		

	Р	articu	lars			Proposa	l	Final Approved Outlay				
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
		Total	of Netai	Subhash Chandra Bose Avasiya Vidyalaya (Hostel) - (Rec) (Existing) (Upgradation till XII) i Subhas Chandra			1148.1			1103.6		
		1	va Vidhy				8			5		
	Strengtheni ng of Existing Schools	48.0		Strengthening of Existing Schools (up to Highest Class VIII) - NR			-			_		
			48.0 .3	Additional Classrooms (Upto Class VIII)	115	12.7600 0	1467.4	27	12.0000 0	324	Recommended 27 ACRs as per udise GAP remaining schools have sufficient classrooms available.	
			48.0. 4	Boys Toilets	71	2.10000	149.1	12	2.10000	25.2	Recommended 12 boys toilets as per udise gap.	
			48.0. 5	Girls Toilets (Upto Class VIII)	107	2.00000	214	24	2.00000	48	Recommended 24 girls toilets as per udise gap.	
			48.0. 6	Drinking Water (Upto Class VIII)	104	1.53846	160	20	1.53000	30.6	Recommended 20 schools as per udise gap.	
			48.0. 7	Boundary Wall	16450	0.11275	1854.66	109	0.10000	10.9	Recommended 109 schools as per udise gap.	
			48.0. 8	Electrification (Upto Class VIII)	180	0.80000	144	3	0.80000	2.4	Recommended 3 schools as per udise gap.	
			48.0. 1 0	CWSN Toilets (Upto Class VIII)	278	2.50000	695	170	2.50000	425	Recommended 170 cwsn toilets as per udise gap.	
			48.0. 1 1	Major Repair	303	2.00000	606	48	2.00000	96	Recommended 48 classrooms for major repair as per documents/photographs submitted and udise gap.	
			48.0. 1 2	Furniture (Upto Class VIII)	1728	0.03000	51.84	250	0.03000	7.5	Recommended 250 Furnitures for 6 to 8 students as per udise gap.	
			48.0. 1 4	Ramps and Handrails	143	1.50000	214.5	7	0.10000	0.7	Recommended 7 schools as per udise gap.	

	P	articu	lars			Proposa	1	Final Approved Outlay				
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
			48.0 .1 6	Dilapidated Building (Primary)	49	3.00000	147	42	3.00000	126	Recommended 42 classrooms as per documents/certificates/photo graphs submitted and udise gap.	
			48.0 .1 8	Dilapidated Building (Upper Primary)	105	3.00000	315	57	3.00000	171	Recommended 57 classrooms as per documents/certificates/photo graphs submitted and udise gap.	
				Total of Strengthening of Existing Schools (up to Highest Class VIII) - NR			6018.5			1267.3		
		49.0		Strengthening of Existing Schools (IX - X) - NR								
			49.0. 2	Computer Room	13	15.3000 0	198.9	3	15.3000 0	45.9	Recommended 3 schools as per udise gap.	
			49.0. 3	Boys Toilet	21	2.10000	44.1	2	2.10000	4.2	Recommended 2 boys toilets as per udise gap.	
			49.0. 4	Library Room	21	19.1000 0	401.1	3	18.1200 0	54.36	Recommended 3 schools as per udise gap.	
			49.0. 6	Science Lab	13	15.3000 0	198.9	3	12.7800 0	38.34	Recommended 3 schools as per udise gap.	
			49.0. 7	Art/Craft Room	18	19.1000 0	343.8	3	18.1200 0	54.36	Recommended 3 schools as per udise gap.	
			49.0 .8	Toilets for CWSN	27	2.50000	67.5	14	2.50000	35	Recommended 14 cwsn toilets as per udise gap.	
			49.0. 9	Drinking Water	11	2.00000	22	6	2.00000	12	Recommended 6 schools as per udise gap.	
			49.0. 1 0	Additional Classroom	28	12.7600 0	357.28	2	12.7600 0	25.52	Recommended 2 ACRs as per udise GAP remaining schools have sufficient classrooms available.	

	Р	articu	lars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
t			49.0. 1 2	Girls Toilet	21	2.00952	42.2	4	2.00000	8	Recommended 4 girls toilets as per udise gap.
				Total of Strengthening of Existing Schools (IX - X) - NR			1675.7 8			277.68	
		50.0		Strengthening of Existing Schools (XI - XII) - NR							
			50.0. 5	Drinking Water	6	2.00000	12	2	2.00000	4	Recommended 2 schools as per udise gap.
			50.0. 6	Additional Classroom	18	12.7600 0	229.68	4	12.7600 0	51.04	Recommended 4 ACRs as per udise GAP remaining schools have sufficient classrooms available.
			50.0. 1 1	Boys Toilet	12	2.50000	30	5	2.50000	12.5	Recommended 5 boys toilets as per udise gap.
			50.0. 1 2	Girls Toilet	8	2.00000	16	3	2.00000	6	Recommended 3 girls toilets as per udise gap.
				Total of Strengthening of Existing Schools (XI - XII) - NR			287.68			73.54	
		51.0		Electrification in Schools (Elementary) - NR							
			51.0. 1	Solar Panel	396	6.50000	2574	298	5.00000	1490	Recommended 298 schools as per udise gap
				Total of Electrification in Schools (Elementary) - NR			2574			1490	
		52.0		Electrification in Schools (Secondary and Sr. Secondary) - NR							
			52.0. 2	Solar Panel For School	40	6.50000	260	16	5.00000	80	Recommended 16 schools as per udise gap.

	Р	articu	lars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
				Total of Electrification in Schools (Secondary and Sr. Secondary) - NR			260			80	
		55.0		Repairing and Renovations (up to Highest Class X or XII) - NR							
			55.0. 1	Major Repair	31	3.00000	93	5	3.00000	15	Recommended 5 classrooms for major repair as per documents/photographs submitted and udise gap.
				Total of Repairing and Renovations (up to Highest Class X or XII) - NR			93			15	
		Total Schoo		gthening of Existing			10908. 96			3203.5 2	
	Transport & Escort Facilities	58.0		Transport / Escort Facility (Elementary)							

	Particulars				Proposa	1	Final Approved Outlay				
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
		58.0.2	Children in remote habitation	102	0.06000	6.12	101	0.06000	6.06 6.06	Recommended for 101 children @ 6000/- amounting to Rs. 6.12 lakh Not recommended 1 student as did not get the details. This recommendation is subject to: 1) the State is to issue a notification about neighborhood norms and children to be covered in this academic year. 2) the expectation from the state that the target kept for the activity will be achieved by at least a 10% improvement in the attendance of students. 3) The activity is considered for elementary students whose habitats are more than 1km and 3 km away from their nearest govt primary and upper Primary schools respectively. 4) Mode of Transport/ Escort facility will be Self- arrangement or arrangement by SMCs/ SDMCs. 5) Proper monitoring is to be ensured by ensuring an increase in attendance.	
	59.	0	Transport / Escort Facility (Secondary)								

	F	Particu	lars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
			59.0.1	Transport & Escort Facilty Total of Transport / Escort Facility	296	0.06000	17.76	296	0.06000	17.76	Recommended for 296 children @ 6000/- amounting to Rs. 17.76 lakh This recommendation is subject to: 1) the State is to issue a notification about neighborhood norms and children to be covered in this academic year. 2) the expectation from the state that the target kept for the activity will be achieved by at least a 10% improvement in the attendance of students. 3) The activity is considered for students whose habitations are more than 5km away from their nearest secondary schools. 4) Mode of Transport/ Escort facility will be Self- arrangement or arrangement by SMCs/ SDMCs. 5) Proper monitoring is to be ensured by ensuring an increase in attendance.
		Total	of Trans	(Secondary)			23.88			23.82	
		Facilit	ies	-							
	Total for Acc	cess & Re	etentior	1			12354. 52			4595.9 9	
RTE	Free	61.0		Free Text Books						-	

	Р	articu	lars			Proposa	l		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
Entitlemen ts	Textbooks		61.0 .1	Text Books (Class I - II)	4240	0.00250	10.6	4240	0.00250	10.6	Recommended as per norms Textbooks to 4240 children of class I-II @ Rs. 250/- per child (as per UDISE+ enrolment)
			61.0.4	Text Books (Class III - V)	4605	0.00250	11.513	4605	0.00250	11.5125	Recommended as per norms Textbooks to 4605 children of class III-V @ Rs. 250/- per child (as per UDISE+ enrolment)
			61.0.7	Text Books (Class VI - VIII)	4565	0.02250	102.734	4565	0.00400	18.26	Recommended as per norms Textbooks to 4565 children of class VI-VIII @ Rs. 400/- per child (as per UDISE+ enrolment)
				Total of Free Text Books			124.85			40.37	
		Total	of Free 7	Textbooks			124.85			40.37	
	Free	62.0		Uniform							
	Uniforms		62.0. 1	All Girls	7419	0.00700	51.933	7419	0.00600	44.514	Recommended as per norms two sets of uniforms for 7419 girls @ Rs. 600/- per child (as per UDISE+ enrolment)
			62.0. 2	ST Boys	5698	0.00700	39.886	5688	0.00600	34.128	Recommended as per norms two sets of uniforms for 5688 ST Boys @ Rs. 600/- per child (as per UDISE+ enrolment)
			62.0 .4	BPL Boys	293	0.00700	2.051	293	0.00600	1.758	Recommended as per norms two sets of uniforms for 293 BPL Boys @ Rs. 600/- per child (as per UDISE+ enrolment)

	Р	articu	lars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
			62.0 .5	Uniform (Winter Clothes)	13410	0.01000	134.1	13400	0.01000	134	Recommended as proposed winter clothes uniforms to 13400 children @ Rs. 1000/- per child Note: recommendations made as per the discussion in Pre- PAB. The UT is getting winter
											uniforms for children for the past two years.
				Total of Uniform			227.97			214.4	
			of Free l	Uniforms			227.97			214.4	
	Support to SCPCR	70.0		Support to SCPCR							
			70.0 .1	Support to SCPCR (Upto Highest Class VIII)	709	0.00050	0.355	709	0.00050	0.3545	Recommended as proposed to Support to SCPCR for protection of child rights (as per norms)
				Total of Support to SCPCR			0.36			0.35	
		Total	of Supp	ort to SCPCR			0.36			0.35	
	Community Mobilizatio n	98.0		Community Mobilization (Elementary)							
			98.0.1	Training of SMC/ SDMC	709	0.03000	21.27	482	0.03000	14.46	As per Udise+ 2021-22, there are 704 elementary schools, however only 482 schools have SMC and 219 schools have school development plan. So recommending for 482 schools @ Rs. 3000 per school. UT is advised to develop SDP and constitute SMC in remaining schools by July, 2023.

	Particulars					Proposa	1	Final Approved Outlay				
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
			98.0.4	Community Mobilization	709	0.01500	10.635	704	0.01500	10.56	Recommended for 704 elementary schools as per Udise+ 2021-22 @ Rs.1500 per school as per norms. UT need to take community mobilization activities to get key performance indicators. Fund may also be utilized for popularizing the Vidyanjali programme in the UT.	
				Total of Community Mobilization (Elementary)			31.9			25.02		
		99.0		Community Mobilization (Secondary)								
			99.0.1	SMDC Training	123	0.02354	2.895	123	0.02354	2.89542	Recommending for 123 secondary schools as per Udise+ 2021-22 @Rs.2354 per school. There are only 70 secondary schools, having school development plan. UT is advised to develop SDP in remaining schools by July, 2023.	
			99.0.4	Community Mobilization	123	0.02146	2.64	123	0.01500	1.845	Recommended for 123 secondary schools as per Udise+ 2021-22 @ Rs.1500 per school as per norms. UT need to take community mobilization activities to get key performance indicators. Fund may also be utilized for popularizing the Vidyanjali programme in the UT.	
				Total of Community Mobilization			5.54			4.74		
		Total	of Comp	(Secondary) nunity Mobilization			37.44			29.76		

	Р	articu	lars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
	Total for RT	E Entitle	ements				390.61			284.89	
Quality Interventio ns	Funds for Quality (LEP, Innovation, Guidance	72.0	72.0 .1	Innovation Projects - (Elementary) (Recurring) Fund for Safety and Security at School	709	0.02000	14.18	704	0.02000	14.08	Recommended for Fund for Safety and Security for 704
	etc)			Level							school @ 2000/school. School Education Department Ladakh is proposing training on disaster Management in collaboration with Department of UT Ladakh, it will orient the student as well as staff to handles the natural clamities. The UT is requested to utilise these funds in best possible manner and effective implementation at school level may be ensured. Last year, the funds released was Utilzed 100% as per Prabandh.

	Part	ciculars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
		72.0.2	Holistic Report Card for Students (Elementary)	18100	0.00066	11.946	13410	0.00050	6.705	Recommended for Holistic Report Card for 13410 Students (Elementary) as per UDISE+ data as per norms. The propose of report card is to describe the level of Academy achievement and life skill, daily attendance that a students has shown over the course of years. As such to analyse the academic performance of every students by the respective parents . School Education Department is planning to develop a Holistic Report card for students. It will provide a parents to incorporate the status of their wards and facilitate the teacher to gain a clear and comprehensive picture of students learning and development level.

	Ра	rticulars			Proposa	1	Final Approved Outlay				
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
		72.0.3	Orientation Programme for Teachers on Safety and Security	709	0.00673	4.77157	704	0.00500	3.52	Recommended for Orientation Programme for Teachers on Safety and Security for 704 school @ 500/school. A safe and secure enrolment is a pre requisite for effective teaching and learning. Therefore a training on safety and security tanning for teacher are important it will helps the employees the important of identified potential of threads and response appropriately. It is also requested that the UT may explore new domains for orientations other than safety and security for effective and efficient use of these funds. State should ensure proper placement of guidelines in the school campus. Convergence with other departments may also be looked and encouraged.	

	Parti	culars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
		72.0.4	Shaala Siddhi	709	0.00500	3.545	704	0.00500	3.52	Recommended for 704 schools for conducting School self evaluation as per NIEPA Guidelines @ Rs. 500/school. The UT is requested to have detailed report to be generated for identifying weak areas and so as to make appropriate strategies for improvement. The Objectives of creating the Shaala Siddhi software is to establish and refer to an agreed set of standards and process which all schools much strive to achieve in a sustainable manner. It visualizes school evolution as the means and school improvement as a golds.
		72.0.5	Teacher IdCards	3050	0.00100	3.05	3050	0.00100	3.05	Recommended as proposed by the UT for Teachers ID card @ Rs. 100/teacher. A uniform Teacher I Card is also a part of the innovative programme of Samagra Shiksha of UT of Ladakh. UT Ldakh is proposing a uniform Id Cards with unique I card.

	Part	ticulars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
L		72.0.6	Youth & Eco Club	378	0.07000	26.46	375	0.07000	26.25	Recommended for 375 Schools @ Rs. 7000/school. The UT has proposed to utilize idle school resources like playground, sport equipment, libraries, music and art rooms and auditorium for Co-scholastic and recreational activities like drama, debates, art, sports and games, music etc. for class children in individual and inter personal growth. Youth & Eco Clubs have already been constituted in the schools. The motive behind formation of these clubs is to create the emolument of team work discipline and leadership quality among students. House formation is working very successfully in all schools. Students are being made aware about waste management, Recycle of water,

Major Component Sub Component Sub Component Activity Master Physic al Unit Cost Financi al Unit Cost Financi al Financi Cost Financi al Remarks 1 72.0.7 Youth & Eco Club(stant alone primary only schools) 331 0.05000 16.55 329 0.05000 16.45 Recommended for 329 Schools as per UDISE 0.05000 1 8.1 Club(stant alone primary only schools) 331 0.05000 16.55 329 0.05000 16.45 Recommended for 329 Schools as per UDISE 0.05000 1 8.1 Club(stant alone primary only schools) 331 0.05000 16.55 329 0.05000 16.45 Recommended for 329 Schools as per UDISE 0.05000 1 B.0 Component Component Component Recommended for 329 Schools as per UDISE Recommended for 329 Schools as per UDISE Recommended for 329 Schools as per UDISE Recommended for 329 Schools as uditaction in this schools Schools Schools Recommended for 329 Schools		Pa			Proposa	1	Final Approved Outlay				
72.0.7 Youth & Eco Club(stand alone primary only schools) 331 0.05000 16.55 329 0.05000 16.45 Recommended for 329 Schools as per UDISE @ R. 5000/school. The UT has proposed to utilize idle school resources like playground, sport equipment, libraries, music and art rooms and auditorium for Co-scholastic and recreational activities like drama, debates, art, sports and genes, music et. for class children in individual and inter personal growth. Youth & Eco Clubs have aircady been constituted in the schools. The motive behind formation of team work discipline and leadership quality among students. Youth & Eco Clubs have aircady been constituted in the schools. The motive behind formation of team work discipline and leadership quality among students. 72.0-9 ICT Lab to BRCs (Recurring) 13 2.40000 31.2 13 1.80000 23.4 72.0-9 ICT Lab to BRCs (Recurring) 13 2.40000 31.2 13 1.80000 23.4 72.0-9 ICT Lab to BRCs (Recurring) 13 2.40000 31.2 13 1.80000 23.4	Componen	1		Activity Master							Remarks
72.0.9ICT Lab to BRCs (Recurring)132.4000031.2131.8000023.4Recommended as appraised recurring grant for ICT labs in 13 BRC @ Rs. 2000/- per BRC per month for 9 months.Note:UT has reported that process is going on and within 2-3 months all ICT labs are			72.0.7	Club(stand alone	331	0.05000	16.55	329	0.05000	16.45	as per UDISE @ Rs. 5000/school. The UT has proposed to utilize idle school resources like playground, sport equipment, libraries, music and art rooms and auditorium for Co-scholastic and recreational activities like drama, debates, art, sports and games, music etc. for class children in individual and inter personal growth. Youth & Eco Clubs have already been constituted in the schools. The motive behind formation of these clubs is to create the emolument of team work discipline and leadership quality among students. House formation is working very successfully in all schools. Students are being made aware about waste management, Recycle of water,
			72.0.9		13	2.40000	31.2	13	1.80000	23.4	recurring grant for ICT labs in 13 BRC @ Rs. 20000/- per BRC per month for 9 months. Note: UT has reported that process is going on and within 2-3 months all ICT labs are

	Р	articu	lars			Proposa	1	Final Approved Outlay				
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
				Projects - (Elementary) (Recurring)								
		74.0		Innovation Projects - Recurring (Secondary & Sr. Secondary)								
			74.0. 1	Holistic Report Card for Students (Secondary & Sr. Secondary)	10910	0.00050	5.455	8768	0.00050	4.384	Recommended for Holistic Report Card for 8768 Students (Sec. and Sr. Sec.) as per UDISE+ data as per norms. The UT is requested to share the draft HPC with Quality Team at MoE.	
											The propose of report card is to describe the level of Academy achievement and life skill, daily attendance that a students has shown over the course of years. As such to analyse the academic	
											performance of every students by the respective parents School Education Department is planning to develop a Holistic Report card for students. It will provide a	
											parents to incorporate the status of their wards and facilitate the teacher to gain a clear and comprehensive picture of students learning and development level.	

	Particulars					1	Final Approved Outlay				
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
		74.0.2	Aptitude Test at School Level	2648	0.00500	13.24	2648	0.00500	13.24	Recommended as proposed for conducting Aptitude test in all secondary schools. The result to be analysed and shared with students. The UT has proposed to conduct aptitude test which will help in identifying a students strength towards achieving their goals based on their best skills. The Scores of this aptitude test will help the experts to determine what best suited for a child based on their skill set.	
		74.0.3	Funds for Safety and Security	123	0.02000	2.46	123	0.02000	2.46	Recommended for Fund for Safety and Security for 123 school @ 2000/school. School Education Department Ladakh is proposing training on disaster Management in collaboration with Department of UT Ladakh, it will orient the student as well as staff to handles the natural clamities. The UT is requested to utilise these funds in best possible manner and effective implementation at school level may be ensured. The UT is requested to utilise these funds in best possible manner and effective implementation at school level may be ensured. Last year, the funds released was Utilzed 100% as per Prabandh.	

	Particulars					1	Final Approved Outlay				
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
		74.0.4	Orientation Programme for Teachers on safety and Security	503	0.00500	2.515	503	0.00500	2.515	Recommended for Orientation Programme for Teachers on Safety and Security for 123 schools @ 500/school. A safe and secure enrolment is a pre requisite for effective teaching and learning. It is also requested that the UT may explore new domains for orientations other than safety and security for effective and efficient use of these funds. State should ensure proper placement of guidelines in the school campus. Convergence with other departments may also be looked and	
		74.0.5	Shaala Siddhi	123	0.01000	1.23	123	0.00500	0.615	encouraged. Recommended for 123 schools for conducting School self evaluation as per NIEPA Guidelines @ Rs. 500/school. The UT is requested to have detailed report to be generated for identifying weak areas and so as to make appropriate strategies for improvement. The Objectives of creating the Shaala Siddhi software is to establish and refer to an agreed set of standards and process which all schools much strive to achieve in a sustainable manner. It visualizes school evolution as the means and school improvement as a golds.	

	Par	ticulars			Proposa	1	Final Approved Outlay			
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
		74.0.6	Talent Search at school level	123	0.05000	6.15	123	0.05000	6.15	Recommended for the conduct of Talent Search at School level. The UT has proposed to conduct talent search in all secondary schools. The results may be used to identify and foster talents of students.
		74.0.7	Teacher Exchange programme	1254	0.20000	250.8	100	0.10000	10	Recommended for 100 teachers @Rs. 10000 per teacher for teacher exchange programme with the neighboring states to study and share best practices.
		74.0.8	Teacher IdCards	1254	0.00100	1.254	1254	0.00100	1.254	Recommended as proposed by the UT for Teachers ID card @ Rs. 100/teacher. A uniform Teacher I Card is also a part of the innovative programme of Samagra Shiksha of UT of Ladakh. UT Ldakh is proposing a uniform Id Cards with unique I card.

	Particulars					Proposa	1	Final Approved Outlay				
74.0.9 Youth & Eco Club 123 0.25000 100	nt		nt	Activity Master			Financi al	Physic al	Unit Cost	Financi al	Remarks	
⁰ Vocational Education			74.0.9	Youth & Eco Club	123	0.25000	30.75	123	0.25000	30.75	Recommended for 123 Schools @ Rs. 25000/school. The UT has proposed to utilize idle school resources like playground, sport equipment, libraries, music and art rooms and auditorium for Co- scholastic and recreational activities like drama, debates, art, sports and games, music etc. for class children in individual and inter personal growth. Youth & Eco Clubs have already been constituted in the schools. The motive behind formation of these clubs is to create the emolument of team work discipline and leadership quality among students. House formation is working very successfully in all schools. Students are being made aware about waste management, Recycle of water, Plantation, NSS Camps etc.	
				Vocational Education	259	0.15000	38.85	259	0.15000	38.85	Recommended for 259 schools to carry out activities related to exposure of VE to upper primary students like Visit of upper primary students to nearby industry/unit ,Interactive sessions/lectures and workshops by local artisans, craftsmen on local skills/local crafts	

	Particulars					Proposa	1	Final Approved Outlay				
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
				Projects - Recurring (Secondary & Sr. Secondary)								
		75.0		Project - Innovative Activities- (NR) - (State Specific) (Elementary)								
			75.0.	Fire Extinguiser	56	0.05000	2.8	11	0.05000	0.55	Recommended Rs. 0.55 lakh for Fire Extinguisher for KGBVs, Netaji Subhash Residential schools and other secondary schools as per UDISE 2021-22 data	
			75.0 .2 8	CCTV Camera	76	0.36800	27.968	55	0.36800	20.24	Recommended Rs. 20.24 lakh for CCTV Camera for KGBVs, Netaji Subhash Residential schools and other secondary schools as per UDISE 2021-22 data	
				Total of Project - Innovative Activities- (NR) - (State Specific) (Elementary)			30.77			20.79		
		77.0		Project - Innovative Activities - (Recurring) (State Specific) (Secondary & Sr. Secondary)								
			77.0. 1 2	BAND Competition (Equipments)	70	0.30000	21	13	0.30000	3.9	Recommended for 13 schools @Rs. 30000 per school for buying band pipe equipments.	

	Particulars					Proposa	1	Final Approved Outlay				
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
			77.0 .3 7	Student ID Cards	6190	0.00100	6.19	6190	0.00100	6.19	Recommended as proposed by the UT for Student ID Cards for 6190 students @ Rs. 100/student. School Education Department has lunched a software to track all the enrollment. The system will generate a unique code for every students. As such we are proposing to develop an Id card for every student with their unique code of identification.	
				Total of Project - Innovative Activities - (Recurring) (State Specific) (Secondary & Sr. Secondary)			27.19			10.09		
		79.0		Project Innovation - (Rec) - (State Specific) (Elementary)								
			79.0 .2 0	Student Id Card	18100	0.00100	18.1	13410	0.00100	13.41	Recommended for 13410 students as per UDISE data for Students ID card @ Rs. 100/student. School Education Department has lunched a software to track all the enrolment . The system will generate a unique code for every students. As such we are proposing to develop an I card for every student with their unique code of identification.	

	Part	iculars			Proposa	1	Final Approved Outlay				
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
		79.0 .8 3	EK BHARAT SHRESTH BHARAT	505	0.05000	25.25	505	0.01000	5.05	Recommended for 505 elementary schools @Rs. 1000 per school for EBSB activities like quiz, essay writing, cultural competition etc. on the pairing State Tamil Nadu	
		79.0. 4 23	Teacher Exchange Programme	200	0.10000	20	100	0.10000	10	Recommended for 100 teachers @Rs. 10000 per school for teacher exchange programme with neighboring States to share best practices.	
		79.0. 6 83	See Learning	1436	0.04500	64.62	1109	0.03500	38.815	Recommended for 1109 teachers for Social and Emotional Learning initiative. SEE Learning will be implemented in all schools in Ladakh as a curriculum to impart the qualities of SEE Learning to students. The curriculum can be designed to include activities and lesson the teach skill like self- awareness, self-regulation, empathy, perspective-taking, responsible decision-making, and ethical reasoning. It includes Printing of SEE Learning Educator Companion Book for 1109 teachers. High Elementary Curriculum Book for 624 teachers, Printing of SEE Late Elementary	
			Total of Project Innovation - (Rec) -			127.97			67.28	Curriculum Book for for 485 teachers, & expenses during physical training for 1109 teachers.	

	P	articu	lars			Proposa	l		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
				(State Specific) (Elementary)							
		83.0		Project Kala Utsav (Secondary)							
			83.0. 1	TA / DA Allowance for National Level	24	0.30000	7.2	1	2.00000	2	Recommended Rs. 2/- lakh for TA/DA allowance for National level Kala Utsav.
			83.0 .2	Kala Utsav	2	5.00000	10	1	10.0000 0	10	Recommended an amount of Rs. 10/- lakh for organising Kala Utsav at district, State and National level for the year 2023-24.
				Total of Project Kala Utsav (Secondary)			17.2			12	
		88.0		Experiential Learning (Elementary)							
			88.0.1	Rangotsav	709	0.10000	70.9	704	0.00500	3.52	Recommended @ Rs.500 per elementary school for carrying out joyful activities at school level so that each and every child gets to experience the vibrant beauty of different cultures.
				Total of Experiential Learning (Elementary)			70.9			3.52	
		93.0		LEP (Class VI - VIII)							

	Particulars					Proposa	1	Final Approved Outlay				
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
			93.0.1	Learning Enhancement/Enrich ment Programme (Remedial Teaching)	903	0.05000	45.15	903	0.00500	4.515	Recommended for the Learning Enhancement Programme initiative covering 903 weaker students of classes 6 to 8 i.e., 25% of the students enrolled in Govt. Schools as per UDISE data (2021-22) @ Rs. 500/student. In addition to remediation programmes and teacher training, this will also include regular assessment and certification of students. Learning Enhancement Program (LEP) is a comprehensive programme. It aims at brining about qualitative changes in children at the elementary level with a robust framework touching the critical academic areas of elementary education as they are.	
				Total of LEP (Class VI - VIII)			45.15			4.52		
		94.0		LEP (Class IX - XII)								
			94.0.1	Learning Enhancement/Enrich ment Programme (Remedial Teaching)	2035	0.05000	101.75	2035	0.00500	10.175	Recommended for the Learning Enhancement Programme initiative covering 2035 weaker students of classes 9 to 12 i.e., 25% of the students enrolled in Govt. Schools as per UDISE data (2021-22) @ Rs. 500/student. In addition to remediation programmes and teacher training, this will also include regular assessment and certification of students.	

	Р	articu	lars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
				Total of LEP (Class IX - XII)			101.75			10.18	
		100.		Band Competition							
		0	100.0. 1	Band Competition (Secondary&Sr. Secondary)	71	0.33099	23.5	1	5.00000	5	An amount of Rs.5.00 lakh recommended for undertaking State/UT level Band Competition activities for the year 2023-24 (Rs.2.0 lakh for State level (Capital) band competition, Rs.50,000/- for training for government schools only, Rs.50,000/- for Band Costumes for government schools only, Rs.2.0 lakh for purchase of pipe band instruments for government schools only. All these activities to be taken up as per the ISBC guidelines of 2019-20, MOE. The ministry initially provide funds for the State Level (Capital) Band Competition only.
				Total of Band			23.5			5	
		<u> </u>		Competition							
				s for Quality (LEP,			908.83			340.56	
	NIDIN		ation, G	uidance etc)							
	NIPUN Bharat	86.0		Nipun Bharat Mission (FLN)							

	Particulars				Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
	Mission	86.0.1	Teaching Learning Materials for implementation of Innovative pedagogies	8845	0.00500	44.225	8845	0.00500	44.225	8845 (UDISE data) children are recommended @ Rs.500 per child for the development of supplementary graded materials such as, puppets, games, board games, toys, puzzles, Story books and IEC materials (graphics). UT will ensure a proper monitoring mechanism for the progress of identified KPIs.
		86.0.2	Teacher Resource Material/Activity Handbook	1324	0.00313	4.14412	1324	0.00150	1.986	1324 (UDISE data) primary (I- V) school teachers are recommended @ Rs 150 per teacher for teacher resource materials. The proposed fund will be used for the development of Teachers Manual/activity handbooks aligned with innovative way of teaching with learning outcomes and FLN competencies. UT will ensure a pool of mentors to render academic support to the teachers who will be delivering the FLN mission objectives.
		86.0.3	Capacity building of Teachers of Grades I to V (New)	1324	0.01735	22.9714	1324	0.01600	21.184	1324 (UDISE data) primary school teachers teaching in grades I-V are recommended @Rs.400 per day for 4 days face to face teacher training. The training module will be based on the variety of pedagogies that are important for joyful education at FLN level (art-integrated, sports integrated, toy based, ICT-

	Р	articu	lars			Proposa	l		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
											integrated and activity based pedagogies).
			86.0.4	Independent, periodic and holistic assessment of Students	2	6.00000	12	2	6.00000	12	Rs 12.00 lakh is recommended to the UT for conducting periodic and holistic assessment including post foundational study. The assessments will be conducted by the UT to identify learning gaps and outcomes of the primary students in all 2 districts and creating additional strategies deployed for enhancing learning competencies.
				Total of Nipun Bharat Mission (FLN)			83.34			79.4	
		87.0		Formation of PMU (Elementary)							
			87.0.1	State Level	1	40.0000 0	40	1	40.0000 0	40	Recommended as proposed for the implementation of framework consisting roadmap, annual action plans, activities covering all focus areas of FL&N Mission and strengthening of PMU at UT level with technical personnel, such as, IT experts, Data Analyst, program

	Р	articu	lars			Proposa	l		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
											management, etc.
			87.0.2	District Level	2	25.0000 0	50	2	20.0000 0	40	@ Rs 20 lakh per district is recommended for strengthening of PMU at district level in all 2 districts of the UT with including subject such as, IT experts, Data Analyst, community outreach worker, etc.
				Total of Formation of PMU (Elementary)			90			80	
		Total	of NIPU	N Bharat Mission			173.34			159.4	
	Assessment at National	102. 0		Assessment at State level (Elementary)							
	& State level		102.0. 1	Assessment at State level	2	10.0000	20	2	10.0000	20	Recommended @ Rs. 10 lakhs/district for conducting Assessment at the UT level in all the Districts in Elementary Schools. UT is requested to prepare question papers based on LOs. It is requested to use of Assessment strategies like peer assessment, self- assessment, portfolios, rubric and feedback to enhance the interest and engagement of students in the learning process. The UT is also requested to take interventions as per the
											take interventions as per the report of NAS 2021 and submit report to Quality Team at MoE. Any guidelines prepared related to School Based Assessment, Competency Based Assessment may also be

	Particulars					Proposa	1	Final Approved Outlay			
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
t											shared.
				Total of Assessment at State level (Elementary)			20			20	
		103. 0		Assessment at State level (Secondary)							
			103.0 . 1	Assessment at State Level	2	15.0000 0	30	2	10.0000	20	Recommended @ Rs. 10 lakhs/district for conducting Assessment at the UT level in all the Districts in Secondary UT is requested to prepare question papers based on LOs. It is requested to use of Assessment strategies like peer assessment, self- assessment, portfolios, rubric and feedback to enhance the interest and engagement of students in the learning process. The UT is also requested to take interventions as per the report of NAS 2021 and submit report to Quality Team at MoE. Any guidelines prepared related to School Based Assessment, Competency Based Assessment may also be shared.
				Total of Assessment at State level			30			20	
				(Secondary)							
		Total State		sment at National &			50			40	
	Training for In-	106. 0		In-Service Training (Elementary)							

	Р	articu	lars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
	service Teacher and Head Teachers		106.0. 13	Teachers Class VI to VII(Government Schools)	368	0.02500	9.2	368	0.02500	9.2	Recommended as proposed 5 days In-service teachers Training @ Rs.500/- per person per day.
			106.0. 14	Training for Educational Administrators (Elementary)	709	0.02500	17.725	709	0.02500	17.725	Recommended as proposed 5 days Training for Educational Administrators @ Rs.500/- per person per day.
				Total of In-Service Training (Elementary)			26.92			26.92	
		107. 0		In-Service Training (IX - XII)							
			107.0 . 1	Teachers Class IX to X (Government Schools)	746	0.02500	18.65	746	0.02500	18.65	Recommended as proposed 5 days In-service Teachers Training @ Rs. 500/- per person per day.
			107.0 . 2	Teachers Class XI to XII (Government Schools)	433	0.02500	10.825	433	0.02500	10.825	Recommended as proposed 5 days In-service Teachers Training @ Rs. 500/- per person per day.
			107.0. 29	Training for Educational Administrators (Secondary)	84	0.02500	2.1	84	0.02500	2.1	Recommended as proposed 5 days Training for Educational Administrators @ Rs. 500/- per person per day.
				Training for Educational Administrators (Sr. Secondary)	39	0.02500	0.975	39	0.02500	0.975	Recommended as proposed 5 days Training for Educational Administrators @ Rs. 500/- per person per day.
				Total of In-Service Training (IX - XII)			32.55			32.55	
				ing for In-service lead Teachers			59.48			59.48	
	Composite School	118. 0		Annual Grant (up to Highest Class VIII)							

	Ра	rticulars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
	Grant	118.0 . 1	School Grant - (Enrol > 30 and <=100)	154	0.25000	38.5	147	0.25000	36.75	Recommended for 147 schools as per the UDISE+ @ Rs. 25000/school for Composite School Grant (including at- least 10% for swachhta action plan). The UT will be utilising these funds for Consumable laboratory items, electricity charges, internet, water, development of specific teaching aids/tools by school teachers etc. will be purchased from school grant. The UT is requested to assure that funds are utilised very effectively as per the requirement of the school. The schools must maintain proper register for the expenditures incurred.

	Pa	articulars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
		118.0.2	School Grant - (Enrol > 100 and <= 250)	5	0.50000	2.5	5	0.50000	2.5	Recommended for 5 schools as per the UDISE+ @ Rs. 50000/school for Composite School Grant (including at- least 10% for swachhta action plan). The UT will be utilising these funds for Consumable laboratory items, electricity charges, internet, water, development of specific teaching aids/tools by school teachers etc. will be purchased from school grant. The UT is requested to assure that funds are utilised very effectively as per the requirement of the school. The schools must maintain proper register for the expenditures incurred.

	P	articul	ars			Proposa	l		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
			118.0 . 5	School Grant (Enrol >= 1 and <= 30)	550	0.10000	55	543	0.10000	54.3	Recommended for 543 schools as per the UDISE+ @ Rs. 10000/school for Composite School Grant (including at- least 10% for swachhta action plan). The UT will be utilising these funds for Consumable laboratory items, electricity charges, internet, water, development of specific teaching aids/tools by school teachers etc. will be purchased from school grant. The UT is requested to assure that funds are utilised very effectively as per the requirement of the school. The schools must maintain proper register for the expenditures incurred.
				Total of Annual Grant (up to Highest Class VIII)			96			93.55	
		119. 0		Annual Grant (up to Highest Class X or XII)							

	Part	iculars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
		119.0. 1	School Grant - (Enrol > 30 and <=100)	67	0.25000	16.75	67	0.25000	16.75	Recommended for 67 schools as per the UDISE+ @ Rs. 25000/school for Composite School Grant (including at- least 10% for swachhta action plan). The UT will be utilising these funds for Consumable laboratory items, electricity charges, internet, water, development of specific teaching aids/tools by school teachers etc. will be purchased from school grant. The UT is requested to assure that funds are utilised very effectively as per the requirement of the school. The schools must maintain proper register for the expenditures incurred.

	Ра	articulars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
		119.0 2	School Grant - (Enrol > 100 and <= 250)	31	0.50000	15.5	31	0.50000	15.5	Recommended for 31 schools as per the UDISE+ @ Rs. 50000/school for Composite School Grant (including at- least 10% for swachhta action plan). The UT will be utilising these funds for Consumable laboratory items, electricity charges, internet, water, development of specific teaching aids/tools by school teachers etc. will be purchased from school grant. The UT is requested to assure that funds are utilised very effectively as per the requirement of the school. The schools must maintain proper register for the expenditures incurred.

	Ра	articulars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
		119.0 3	 School Grant - (Enrol > 250 and <= 1000) 	7	0.75000	5.25	7	0.75000	5.25	Recommended for 7 schools as per the UDISE+ @ Rs. 75000/school for Composite School Grant (including at- least 10% for swachhta action plan). The UT will be utilising these funds for Consumable laboratory items, electricity charges, internet, water, development of specific teaching aids/tools by school teachers etc. will be purchased from school grant. The UT is requested to assure that funds are utilised very effectively as per the requirement of the school. The schools must maintain proper register for the expenditures incurred.

	Р	articu	lars			Proposa	l		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
			119.0. 5	School Grant (Enrol >= 1 and <= 30) Total of Annual	18	0.10000	1.8 39.3	18	0.10000	1.8 39.3	Recommended for 18 schools as per the UDISE+ @ Rs. 10000/school for Composite School Grant (including at- least 10% for swachhta action plan). The UT will be utilising these funds for Consumable laboratory items, electricity charges, internet, water, development of specific teaching aids/tools by school teachers etc. will be purchased from school grant. The UT is requested to assure that funds are utilised very effectively as per the requirement of the school. The schools must maintain proper register for the expenditures incurred.
				Grant (up to Highest							
		Total o	of Comp	Class X or XII) osite School Grant			135.3			132.85	
	Library	120.	-r	Library Grant (upto							
	Grants	0		Highest Class VIII)							

	Par		Proposal Fina					nal Approved Outlay		
Major Componen	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
t		120.0. 1	Upper Primary Schools	378	0.13000	49.14	366	0.13000	47.58	Recommended 366 Schools @ Rs. 13000/school as proposed by the state. The UT should adhere to the guidelines of DoSEL and encourage reading habit among the students. The schools must conduct the activities for promotion of reading mentioned in the guideline. It is requested that the school library should issue books to every students without hesitation and students should write some observations about their reading. This will help them in improving reading and
		120.0 .	Primary Schools	331	0.05000	16.55	329	0.05000	16.45	writing skills and proper register should be maintained. Recommended 329 Schools @ Rs. 5000/school as proposed by the state. The UT should adhere to the guidelines of DoSEL and encourage reading habit among the students. The schools must conduct the activities for promotion of reading mentioned in the guideline.
										It is requested that the school library should issue books to every students without hesitation and students should write some observations about their reading. This will help them in improving reading and writing skills and proper

	Р	articu	lars			Proposa	1	Final Approved Outlay			
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
											register should be maintained.
				Total of Library Grant (upto Highest Class VIII)			65.69			64.03	
		121. 0		Library Grant (upto Highest Class XII)							
			121.0. 1	Secondary Schools (Upto Class X)	84	0.15000	12.6	84	0.15000	12.6	Recommended 84 Schools @ Rs. 15000/school as proposed by the state. The UT should adhere to the guidelines of DoSEL and encourage reading habit among the students. The schools must conduct the activities for promotion of reading mentioned in the guideline. It is requested that the school library should issue books to every students without hesitation and students should write some observations about their reading. This will help them in improving reading and writing skills and proper register should be maintained.

	P	Particu	lars		Proposal				Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
			121.0 . 2	Senior Secondary School (Upto Class XII)	39	0.20000	7.8	39	0.20000	7.8	Recommended 39 Schools @ Rs. 20000/school as proposed by the state. The UT should adhere to the guidelines of DoSEL and encourage reading habit among the students. The schools must conduct the activities for promotion of reading mentioned in the guideline. It is requested that the school library should issue books to every students without hesitation and students should write some observations about their reading. This will help them in improving reading and writing skills and proper register should be maintained.
				Total of Library Grant (upto Highest Class XII)			20.4			20.4	
		Total o	of Libra	ry Grants			86.09			84.43	
	Rastriya Aavishkar Abhiyan	124. 0		Rashtriya Aavishkar Abhiyaan (Elementary)							

	Par		Proposal					nal Appr	oved Outlay	
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
		124.0. 1	Science Exhibition / Book Fair	2	1.00000	2	2	1.00000	2	Recommended as proposed for organizing science exhibition/book fair as per NCERT norms. The UT schools should encourage students who can display/ present their scientific innovative ideas/Models from different blocks/areas of the UT. This will enable children motivate and engaged in Science, Mathematics and Technology through observation, experimentation, drawing inference and rational reasoning. UT is also requested to share the detailed report to DoSEL
		124.0. 2	Quiz Competition	9170	0.00500	45.85	4565	0.00100	4.565	MoE. Recommended for the students enrolled in classes 6, 7 & 8 i.e. 4565 as per UDISE data @ Rs. 100/student. The UT schools should encourage students to participate in quiz competition and further motivation to the merit students may also be awarded. Complete details may be shared with Quality Team at DoSEL MoE.
		124.0. 4	Science Kit	505	0.10000	50.5	378	0.10000	37.8	Recommended for 378 schools having classes 6th, 7th and 8th in the UT. The UT is requested to procure these kits as per NCERT Kit Price Notification dated 01.12.2021.

	Particulars					Proposa	l	Final Approved Outlay			
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
		1	24.0 . 5	Excursion Trip for Students within State	18100	0.01000	181	4565	0.01000	45.65	Recommended for 4565 students enrolled in classes 6, 7 & 8 in the UT. The UT shoudl conduct exposure Visit to Industries, Research Parks, workshop, melas related to science and mathematics etc. Detailed report may be submitted to Quality Team at MoE.
		1	24.0. 6	Maths Kit	505	0.02000	10.1	378	0.02000	7.56	Recommended for 378 schools having classes 6th, 7th and 8th in the UT. The UT is requested to procure these kits as per NCERT Kit Price Notification dated 01.12.2021.
		1	24.0. 9	Formation of Science / Maths Clubs	505	0.02000	10.1	378	0.02000	7.56	Recommended for 378 schools @ Rs. 2000/school having classes 6th, 7th and 8th in the UT. The UT is requested to involve the DIETs in preparing plan of action for better implementation.
											These clubs to strengthen academics at cluster level and will is also proposed to take all Science and Maths activities like Science Mela, Maths mela, preparation test items, preparation of lesson plans, Science fairs, Quiz programs of different kinds of teacher trainings at Block/District.
				Total of Rashtriya Aavishkar Abhiyaan (Elementary)			299.55			105.14	a annings at block/ bistilet.
		125. 0		Rashtriya Aaviskaar Abhiyan							

	Particulars				Proposa	l	Final Approved Outlay				
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
			(Secondary)								
		125.0 . 1	Science Exhibition / Book Fair	2	1.00000	2	2	1.00000	2	Recommended for conducting Science Exhibition at Leh and Kargil districts. UT should follow guidelines provided by NCERT for conducting this activity.	
										Science Echibition/Book fair provides a platform to students who can display/ present their scientific innovative ideas/Models from different blocks. This will enable children motivate and engaged in Science, Mathematics and Technology through observation, experimentation, drawing inference and rational reasoning. UT is also requested to share the detailed report to DoSEL MoE.	
		125.0 . 2	Quiz Competition	11120	0.00200	22.24	8768	0.00200	17.536	Recommended for the 8768 students enrolled in Secondary level as per UDISE data @ Rs. 200/student. The UT schools should encourage students to participate in quiz competition and further motivation to the merit students may also be awarded. Complete details may be shared with Quality Team at DoSEL MOE.	

	Pa	articulars			Proposa	1	Final Approved Outlay			
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
		125.0 3	Students to Higher Institutions (Within States)	12192	0.01000	121.92	8768	0.01000	87.68	Recommended for the interventions for the Study Trip for students to Higher Institutions in the UT. The UT has also proposed that these mentoring by HEIs will help the students to gain exposure, experience and familiarity to the environment of different institutes.
		125.0 4	• Exposure visit outside State	559	0.20000	111.8	559	0.20000	111.8	Recommended as proposed by the UT for the exposure visit outside UT at the secondary level. The UT is requested to share the detailed report of the visits of students to MoE.
		125.0 7	• Tinkering Lab	6	10.0000 0	60	6	10.0000 0	60	Recommended as proposed for Tinkering Lab. The cost includes equipment for setting up RAA Lab and maintenance. The list of schools to be identified and shared with the Ministry.

	Р	articu	lars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
			125.0 . 8	Formation of Science / Maths Clubs	123	0.50000	61.5	123	0.15000	18.45	RecommendedforstrengtheningtheexistingMaths clubs and Science clubsforconductingvariousactivitieslikeScienceMela,Mathsmela, preparing childrenforScienceCongress.UTforScienceCongress.UTisrequested to involve the DIETsin preparing plan of action forbetterimplementation.Theseclubstostrengthenacademicsatclusterlevel andwill is also proposed to take allScienceandMathsSciencemela,Mathsmela,preparationtestitems,preparationpreparingchildrenforScienceCongress,Sciencefairs,Quizprogramsofdifferentkindssciencetrainings.fairs,fairs,
				Total of Rashtriya Aaviskaar Abhiyan (Secondary)			379.46			297.47	
		Total	of Rastr	iya Aavishkar Abhiyan			679.01			402.6	
	ICT and Digital Initiatives	127. 0		Digital Hardware & Software (up to Highest Class VIII) - NR							

	Particulars					Proposa	1	Final Approved Outlay				
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
			127.0. 12	Digital Hardware & Software (Type - I) (Elementary < 100)	107	2.50000	267.5	46	2.50000	115	Recommended. An amount of Rs. 115.00 lakh is recommended for establishment of Digital Hardware & Software/ICT (Type - I) (Elementary) in 46 schools. As the revised ICT scheme offers step-wise funding based on school enrolment, for under 100, a Non –Recurring grant of Rs. 2.5 lakh/school is recommended. Schools with no functional electricity, Schools where the Smart classrooms got approved and its recurring period ongoing, schools with less enrolment are not considered.	
				Total of Digital Hardware & Software (up to Highest Class VIII) - NR			267.5			115		
		128. 0		Recurring Components (Digital Hardware & Software upto Highest Class VIII)								
			128.0 . 2	Recurring Cost (ICT & Digital Initiatives) (Option - I) (Existing)	32	2.40000	76.8	13	2.40000	31.2	Recommended. An amount of Rs. 31.20 lakhs is recommended for the 13 functional (ICT & Digital Initiatives) (Elementary) (Option - I) (Existing) schools at Rs. 2.4 lakhs/school, as recorded in PRABANDH.	

	Р	articu	lars		Proposal			Final Approved Outlay			
Major Componen	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
			128.0 . 4	Smart Classroom - (Recuring) (Type - II) (Elementary) (Existing)	46	2.13652	98.28	39	0.38000	14.82	Recommended. An amount of Rs. 14.82 lakh is recommended for 39 functional smart classrooms at Rs. 0.38 lakh/school (Elementary) (Existing), as recorded in PRABANDH.
				Total of Recurring Components (Digital Hardware & Software upto Highest Class VIII)			175.08			46.02	
		129. 0		Digital Hardware & Software (upto Highest Class XII) - NR							
			129.0. 2	Smart Classroom (Type - II) (Secondary & Sr. Secondary)	75	2.40000	180	20	2.40000	48	Recommended. An amount of Rs. 48.00 lakh is recommended for the establishment of Smart Classroom (Type - II) (Secondary & Sr. Secondary) in 20 schools at Rs. 2.4 lakhs/school as per norms. Schools with no electricity, Schools approved earlier under ICT and its recurring period not ended, and school with less enrolment has not been considered.
				Total of Digital Hardware & Software (upto Highest Class XII) - NR			180			48	
		130. 0		Recurring Components (Digital Hardware & Software upto Highest Class XII)							

	Р	articu	lars			Proposa	1	Final Approved Outlay			
Major Componen	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
t			130.0. 2	Recurring Cost (ICT & Digital Initiatives) (Secondary & Sr. Secondary) (Option - I) (Existing)	102	2.40000	244.8	64	2.05625	131.6	Recommended. An amount of Rs. 131.60 lakhs is recommended for the 64 functional (ICT & Digital Initiatives) (Secondary/Senior Secondary) (Option - I) (Existing) schools. Of the total 65 schools being marked functional, recurring support of 10 schools end on 23/05/2023, hence considered the grant for one month, at Rs. 0.2 lakh and the expected date of making one school functional is reported from 12/2025, hence not considered, and the remaining 54 schools at Rs. 2.4 Lakhs/school, as recorded in PRABANDH.
				Total of Recurring Components (Digital Hardware & Software upto Highest Class XII)			244.8			131.6	
			of ICT ai	nd Digital Initiatives			867.38			340.62	
	Early Childhood	134. 0		Pre-Primary (Recurring)							
	Care and Education (ECCE)		134.0 . 4	TLM for Children	8845	0.00500	44.225	4690	0.00500	23.45	Recommended TLM @Rs 500 per student to 4690 students enrolled as per UDISE.
			134.0. 9	Support at Pre- Primary Level (New)	662	2.00000	1324	662	2.00000	1324	Recommended for support to 662 new pre-primary schools.
			134.0. 16	Support to Pre- Primary (Existing)	625	1.00000	625	625	1.00000	625	Recommended support to 625 existing pre-primary schools.
				Total of Pre-Primary (Recurring)			1993.2 2			1972.4 5	
		Total	of Early	Childhood Care and			1993.2			1972.4	

	Particulars					Proposal			Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
L		Educa	tion (EC	CCE)			2			5	
	Academic support	135. 0		Provision for BRCs/URCs							
	through BRC/URC/C RC		135.0. 1	Financial Support for 1 Accountant-cum- support staff	15	3.00000	45	15	1.50000	22.5	Recommended as appraised 6 month salary for the vacant posts of Accountant-cum- support staff in 13 BRCs @ Rs. 25000/- per person per month. Note: UT has reported that all the 15 vacant posts of Accountant-cum-support staff in BRCs will be filled very soon, the process has initiated. Therefore provision of 6 months salary has recommended for the vacant posts.
			135.0 . 2	Financial Support for 1 Data Entry Operator in position	18	5.16000	92.88	13	2.64000	34.32	Recommended 12 months salary for 13 In-position Data Entry in 13 BRCs @ Rs. 22000/- per person per month, as per the norms.
			135.0. 3	Financial Support for 1 MIS Coordinator in position	2	5.40000	10.8	2	1.80000	3.6	Recommended as appraised 6 month salary for the 2 vacant posts of MIS Coordinators in BRCs @ Rs. 30000/- per person per month. Note: UT has reported that 2 vacant posts of MIS Coordinators in BRCs will be filled very soon, the process has initiated. Therefore provision of 6 months salary has recommended for the

	Part			Proposa	I		Fi	nal Appr	oved Outlay	
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
										vacant posts.
		135.0 . 4	Financial Support for 2 Resource Persons for CWSN	4	2.40000	9.6	4	2.40000	9.6	Recommended 12 months salary for 4 In-position CWSN Resource Person in 13 BRCs @ Rs. 20000/- per person per month, as per the norms.
		135.0. 5	Financial Support for 6 Resource Persons at BRC	78	2.40000	187.2	78	1.60000	124.8	Recommended 12 months salary for 26 In-position and 6 month salary for 52 vacant posts of Subject Specific Resource Person in 13 BRCs @ Rs. 20000/- per person per month, as per the norms.
		135.0. 6	Maintenance Grant	13	0.02000	0.26	13	0.02000	0.26	Recommended as appraised Maintenance Grant for 13 BRCs @ Rs. 2000/- per BRC.
		135.0. 7	TLE/TLM Grant	13	0.02000	0.26	13	0.02000	0.26	Recommended as proposed TLE/TLM Grant for 13 BRCs @ Rs. 2000/- per BRC.
		135.0 . 8	Meeting, TA	13	0.20000	2.6	13	0.20000	2.6	Recommended as proposed Meeting Grant for 13 BRCs @ Rs. 20000/- per BRC.
		135.0 . 9	Contingency Grant	13	0.20000	2.6	13	0.20000	2.6	Recommended as proposed Contingency Grant for 13 BRCs @ Rs. 20000/- per BRC.
			Total of Provision for BRCs/URCs			351.2			200.54	

	P	Particu	lars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
		137.		Provisions for CRCs							
		0	137.0. 2	Maintenance Grant	104	0.10000	10.4	104	0.05000	5.2	Recommended as appraised Maintenance Grant for 104 CRCs @ Rs.5000/- per CRC.
			137.0. 3	TLM Grant	104	0.02000	2.08	104	0.02000	2.08	Recommended as proposed TLM Grant for 104 CRCs @ Rs.2000/- per CRC.
			137.0. 4	Meeting, TA	104	0.10000	10.4	104	0.10000	10.4	Recommended as proposed Contingency Grant for 104 CRCs @ Rs.10000/- per CRC.
			137.0. 5	Contingency Grant	104	0.10000	10.4	104	0.10000	10.4	Recommended as proposed Contingency Grant for 104 CRCs @ Rs.10000/- per CRC.
			137.0 . 6	Financial Support for CRC Coordinator (one)	104	1.80000	187.2	104	1.80000	187.2	Recommended 12 months salary for 104 In-position CRC Coordinators in 104 CRCs @ Rs. 15000/- per person per month, as per the norms.
			137.0. 7	Mobility Support for CRC(Strengthening of CRC)	104	0.50000	52	104	0.01000	1.04	Recommended as appraised mobility support for 104 In- positioned CRCs @ Rs 1000/- per head, as per the norm
				Total of Provisions for CRCs			272.48			216.32	
			of Acade	emic support through C			623.68			416.86	
	Total for Qua	ality Int	erventi	ons			5576.3 4			3949.2 4	
Sports & Physical Education	Sports & Physical Education	122. 0		Sports & Physical Education (upto Highest Class XII)							

	Particulars					1	Final Approved Outlay			
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
L		122.0. 1	Sports & Physical Education (Secondary)	84	0.25000	21	84	0.25000	21	Recommended 84 Schools @ Rs. 25000/School as per norms. The UT should ensure that schools follows dedicated time table for sports and physical education in which students are encouraged to play sports as per their individual interest. The UT is also requested to procure sports equipment as per guidelines of NCERT. The UT should ensure that sports equipments are given to students on regular basis.
		122.0. 2	Sports & Physical Education (Sr. Secondary)	39	0.25000	9.75	39	0.25000	9.75	Recommended 39 Schools @ Rs. 25000/School as per norms. The UT should ensure that schools follows dedicated time table for sports and physical education in which students are encouraged to play sports as per their individual interest. The UT is also requested to procure sports equipment as per guidelines of NCERT. The UT should ensure that sports equipments are given to students on regular basis.
			Total of Sports & Physical Education (upto Highest Class XII)			30.75			30.75	
		123. 0	Sports & Physical Education (upto Highest Class VIII)							

	Particulars					Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
			123.0. 1	Sports & Physical Education (Primary Schools)	331	0.05000	16.55	329	0.05000	16.45	Recommended 329 Schools @ Rs. 5000/School as per norms. The UT should ensure that schools follows dedicated time table for sports and physical education in which students are encouraged to play sports as per their individual interest. The UT is also requested to procure sports equipment as per guidelines of NCERT. The UT should ensure that sports equipments are given to students on regular basis.
			123.0. 2	Sports & Physical Education (Upper Primary Schools)	378	0.10000	37.8	366	0.10000	36.6	Recommended 366 Schools @ Rs. 10000/School as per norms. The UT should ensure that schools follows dedicated time table for sports and physical education in which students are encouraged to play sports as per their individual interest. The UT is also requested to procure sports equipment as per guidelines of NCERT. The UT should ensure that sports equipments are given to students on regular basis.
				Total of Sports & Physical Education (upto Highest Class VIII)			54.35			53.05	
		Total Educa		s & Physical			85.1			83.8	
	Total for Spo	orts & Pl					85.10			83.80	
Teacher	Program &	144.		Program & Activities							

	Р			Proposa	1	Final Approved Outlay					
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
Education	Activities including Faculty	0		including Faculty Development of Teacher Educators							
	Developme nt of Teacher Educators		144.0. 1	Program & Activities (DIET)	601	0.07155	43	2	20.0000	40	Recommended as appraised @ Rs 20.00 lakh per DIET for Program & Activities in 2 functional DIETs. This fund will be utilized for conducting activities such as capacity building, professional development programmes, exchange programmes, material development, development of local specific contents/resources as per the State Curriculum Frameworks (SCFs)etc.
			144.0. 2	Specific projects for Research activities (DIET)	2	10.0000	20	2	5.00000	10	Recommended as appraised @ Rs 5.00 lakh per DIET for 2 functional DIETs. This fund will be utilized for conducting specific research activities such as action researches, dipsticks, etc. State is requested share with MoE the findings of these studies once conducted.
				Total of Program & Activities including Faculty Development of Teacher Educators			63			50	
		incluc		am & Activities ulty Development of			63			50	
	Assessment	145.		Assessment Cell							

	Particulars						l		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
	Cell (SCERT)	0	145.0. 1	SCERT	2	25.0000	50	1	25.0000	25	Recommended as appraised as per the norm, for setting up of an assessment cell at the state level at SCERT/State level. This assessment cell would be involved in the conduct of various achievement surveys, developing test materials & item banks, training of various stakeholders, test administration, data collection & analysis, report generation, etc. Note: There is no SCERT in the UT. Hence, the Assessment Cell maybe established either at the DIET or State Project Office and provision of funds can be availed accordingly. NOTE: This amount is not utilized for creation and hiring for the staff and salaries purpose.
				Total of Assessment Cell			50			25	
		Total	of Asses	sment Cell (SCERT)			50			25	
	Training of Teacher	149. 0		Training for Teacher Educators							
	Educators		149.0. 2	DIETs	2030	0.05000	101.5	41	0.05000	2.05	Recommended as appraised 10 days training for Teachers Educators, 41 filled academic posts in 2 DIETs @ Rs. 500/- per person per day.
				Total of Training for Teacher Educators			101.5			2.05	
		Total	of Train	ing of Teacher			101.5			2.05	

	Particulars					Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
l		Educa	tors								
	DIKSHA (National	151. 0		DIKSHA (National Teacher Portal)							
	Teacher Portal)		151.0 . 1	Capacity building and Training for Teachers, Educators and State officials for usgae of DIKSHA	1	5.95000	5.95	1	2.00000	2	Recommended. An amount of Rs. 2.00 Lakh is recommended for the Capacity Building and Training for Teachers, Educators and State officials for the usage of DIKSHA that covers the Capacity building to Subject/technical experts on content creation class wise, & e -content development for online courses (MOOCs), and also for any technical sessions, webinars /outreach/awareness campaigns and research/analysis etc., for all concerned stakeholders as necessary where the efficacy of the proposed activities shall be ensured.
			151.0. 2	Development of Digital Content	1	45.0000	45	1	13.0000	13	Recommended. An amount of Rs. 13.00 lakh is recommended for the Development of Digital content that covers the Creation and Curation of various e-resources (Animation, Simulations, and Infographics etc.,) and also for the development of 10 modules for MOOCs and also for uploading the contents thus developed on DIKSHA for the wider benefit of all stakeholders concerned.
				Total of DIKSHA (National Teacher			50.95			15	Statemonder's concerned.

	Particulars					Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
Ľ				Portal)							
		Total Porta		HA (National Teacher			50.95			15	
	Annual Grant for	152. 0		Annual Grant for TEIs							
	TEIS		152.0 . 2	DIETs	2	20.0000	40	2	20.0000	40	Recommended as proposed @ Rs.20.00 lakh per DIET for Annual Grant for 2 functional DIETs. This fund will be utilized for day-to-day expenses, hiring of Resource persons/Experts for Teacher Training, purchase of library books/periodicals, development and maintenance of website, small office/library equipment's, stationary, office expenses, etc.
				Total of Annual			40			40	
				Grant for TEIs							
				al Grant for TEIs			40			40	
	Total for Tea		lucation				305.45			132.05	
Financial Support for Teachers	Appointme nt of Language	161. 0		Language Teachers in NER (Hindi) (Elementary)							
	Teachers		161.0. 1	Hindi Teacher (New)	709	2.88000	2041.92	701	2.16000	1514.16	Recommended as appraised Rs. 1514.16 lakh for Hindi Language Teachers for 701 elementary Schools (1 teacher per school) for 9 months @ Rs. 24000/- per teacher per month as per the norms.
			161.0 . 4	Training of Hindi Teacher (New)	709	0.02500	17.725	701	0.01000	7.01	Recommended as appraised Training for 701 Hindi teachers (New) for 2 days @ Rs. 500/- per person per day.
				Total of Language			2059.6			1521.1	

	Particulars					Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
t				Teachers in NER (Hindi) (Elementary)			4			7	
		162. 0		Language Teachers in States/UTs (Urdu) (Elementary)							
			162.0. 1	Urdu Teacher (New)	115	2.88000	331.2	115	2.16000	248.4	Recommended as appraised Rs. 248.40 lakh for Urdu Language Teachers for 115 elementary Schools (1 teacher per school) for 9 months @ Rs. 24000/- per teacher per month as per the norms.
			162.0 . 4	Training of Urdu Teacher (New)	115	0.01000	1.15	115	0.01000	1.15	Recommended as appraised Training for 115 Urdu teachers (New) for 2 days @ Rs. 500/- per person per day.
				Total of Language Teachers in States/UTs (Urdu) (Elementary)			332.35			249.55	
		Total Teach		intment of Language			2392			1770.7 2	
	Total for Fina			for Teachers			2392.0 0			1770.7 2	
Gender & Equity	Kasturba Gandhi Balika	165. 0		KGBV - Type - I (NR) (Previous Year) (Classes VI -VIII)							
	Vidyalaya (KGBVs)		165.0 . 7	Replacement of bedding (once in 3 years)	150	0.05000	7.5	150	0.05000	7.5	Recommended as proposed Rs. 7.5 lakh for Replacement of bedding of 150 girls @Rs. 5000 unit cost
				Total of KGBV - Type - I (NR) (Previous Year) (Classes VI - VIII)			7.5			7.5	
		166. 0		KGBV - Type I (Recurring) (Previous Year)							

	Part	iculars			Proposa	1	Final Approved Outlay			
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
t			(Classes VI -VIII)							
		166.0. 1	Food/Lodging per child per month	500	0.30000	150	500	0.30000	150	Recommended @Rs.2500/- per girl per month for 500 girls for 10 KGBVs.
		166.0. 2	Stipend per girl per month	500	0.01000	5	500	0.01000	5	Recommended @Rs.100/- per girl per month for 500 girls for 10 KGBVs.
		166.0. 3	Supplementary TLM, Stationery and other educational material	500	0.01000	5	500	0.01000	5	Recommended @Rs.1000/- per girl per annum for 500 girls for 10 KGBVs.
		166.0. 4	1 Warden	10	2.40000	24	10	2.40000	24	Recommended @Rs.20000/- per month per warden for 10 warden/s for 10 KGBVs as proposed.
		166.0 . 6	4 - 5 Full Time Teachers	50	2.40000	120	50	2.40000	120	Recommended @Rs.20000/- per month per teacher for 50 FTTs as proposed for 10 KGBVs (05 FTT in each KGBV)
		166.0 .	2 Urdu Teachers	6	2.40000	14.4	6	2.40000	14.4	Recommended as proposed.
		166.0 . 9	1 Full Time Accountant	10	2.40000	24	10	2.40000	24	Recommended @Rs.20000/- per month per accountant in 10 KGBVs
		166.0. 10	2 Support Staff (Accountant/ Assistant, Peon, Chowkidar)	26	1.20000	31.2	26	1.20000	31.2	Recommended @Rs.10000/- per month per staff for 20 staff for 10 KGBVs as proposed.
		166.0. 11	1 Head Cook	10	1.20000	12	10	1.20000	12	Recommended @Rs.10000/- per month per Head Cook for 10 Head Cooks for 10 KGBVs as proposed.
		166.0. 12	2 Assistant Cook	14	1.20000	16.8	14	1.20000	16.8	Recommended @Rs.10000/- per month per asst. cook for 20 asst. cooks for 10 KGBVs as proposed
		166.0. 13	Specific skill training per girl	500	0.01000	5	500	0.01000	5	Recommended as proposed

	Р	lars		Proposal				Fi	nal Appr	oved Outlay	
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
t			166.0. 14	Electricity / Water Charges	10	0.50000	5	10	0.50000	5	Recommended as proposed
			166.0. 15	Medical care / Contingencies	500	0.01250	6.25	500	0.01250	6.25	Recommended as proposed
			166.0. 16	Maintenance	206	0.01820	3.75	500	0.00750	3.75	Recommended Rs. 3.75 lakh for 10 KGBVS @37,500 unit cost for Maintenance
			166.0. 17	Miscellaneous	10	0.37500	3.75	10	0.37500	3.75	Recommended as proposed
			166.0. 18	Preparatory Camps	10	0.07000	0.7	10	0.07000	0.7	Recommended as proposed
			166.0. 19	P.T.A.	10	0.10000	1	10	0.10000	1	Recommended as proposed
			166.0. 20	Provision of Rent	2	0.80000	1.6	2	0.80000	1.6	Recommended as proposed
			166.0. 21	Capacity Building	10	0.10000	1	10	0.10000	1	Recommended as proposed
			166.0. 22	Physical / Self Defence	10	0.10000	1	10	0.10000	1	Recommended as proposed
			166.0. 23	Examination Fee	500	0.00500	2.5	500	0.00500	2.5	recommended as propsed
				Total of KGBV - Type I (Recurring) (Previous Year) (Classes VI -VIII)			433.95			433.95	
		177. 0		KGBV - Type - IV (NR) (Previous Year) (Classes IX - XII)							
			177.0.	Vending Machine	5	1.50000	7.5	5	0.10000	0.5	Recommended Rs. 0.50 lakh for Vending Machine in 2 functional KGBVs and 3 to be functional KGBVs in current FY as discussed in pre PAB.
			177.0. 7	Replacement of bedding (once in 3 years)	200	0.05000	10	200	0.05000	10	Recommended as proposed Rs. 10 lakh for Replacement of bedding for 200 girls in 2 functional KGBVs
				Total of KGBV - Type - IV (NR) (Previous			17.5			10.5	

	Particulars					Proposa	l		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
				Year) (Classes IX - XII)							
		178. 0		KGBV - Type - IV (Recurring) (Previous Year) (Classes IX - XII)							
			178.0. 1	Food/Lodging per child per month	500	0.22000	110	500	0.22000	110	Recommended Rs. 110 lakh for Food/Lodging per child @Rs. 1833 unit cost per month (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB, undertaking from the UT is awaited)
			178.0. 2	Stipend per girl per month	500	0.01000	5	500	0.01000	5	Recommended Rs. 1000 unit cost for 500 girls for Stipend per girl per month. (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB, undertaking from the UT is awaited))
			178.0 . 3	Supplementary TLM, Stationery and other educational material	500	0.01000	5	500	0.01000	5	Recommended Rs. 1000 unit cost for 500 girls for Supplementary TLM, Stationery and other educational material (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB, undertaking from the UT is awaited))

	Part	iculars			Proposa	1	Final Approved Outlay			
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
		178.0. 4	Examination Fee	500	0.01000	5	500	0.01000	5	Recommended Rs. 1000 unit cost for 500 girls for Examination Fee (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB, undertaking from the UT is awaited))
		178.0. 5	1 Warden	5	2.40000	12	5	2.40000	12	Recommended Rs.12 lakh for warden in 5 KGBVs (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB, undertaking from the UT is awaited))
		178.0. 7	1 Chowkidar	5	1.20000	6	5	1.20000	6	Recommended Rs 6 lakh for Chowkidar in 5 KGBVs (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB)
		178.0. 8	1 Head Cook	5	1.20000	6	5	1.20000	6	Recommended Rs.6 lakh for Head cook in 5 KGBVs (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB)
		178.0. 9	2 Assistant Cook	10	1.20000	12	10	1.20000	12	Recommended Rs.12 lakh for Assistant cook in 5 KGBVs(2 asst. cook for each KGBV) (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB)

	Ра	rticulars			Proposa	1	Final Approved Outlay			
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
		178.0. 10	1 Full Time Accountant	5	2.40000	12	5	2.40000	12	Recommended Rs. 12 lakh for Full Time Accountant in 5 KGBVs (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB)
		178.0. 11	Specific skill training per girl	500	0.01000	5	500	0.01000	5	Recommended Rs. 5 lakh for Specific skill training per girl @Rs. 1000 unit cost for 500 girls (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB)
		178.0. 12	Electricity / Water Charges	5	0.50000	2.5	5	0.50000	2.5	Recommended Rs. 2.5 lakh for Electricity / Water Charges @Rs. 50,000 unit cost (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB)
		178.0. 13	Medical care / Contingencies	500	0.10250	51.25	500	0.01250	6.25	Recommended Rs. 6.25 lakh for Medical care / Contingencies @Rs.1250 unit cost for 500 girls (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB)
		178.0. 14	Maintenance	5	0.37500	1.875	5	0.37500	1.875	Recommended Rs.1.87 lakh for Maintenance @Rs. 37500 unit cost (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB)

	Part	iculars			Proposa	1	Final Approved Outlay			
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
		178.0. 15	Miscellaneous	5	0.37500	1.875	5	0.37500	1.875	Recommended Rs.1.87 lakh for Miscellaneous @Rs. 37500 unit cost (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB)
		178.0. 16	Preparatory Camps	5	0.07000	0.35	5	0.07000	0.35	Recommended Rs. 35000 for Preparatory Camps @Rs. 7000 unit cost (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB)
		178.0. 17	P.T.A.	5	0.10000	0.5	5	0.10000	0.5	Recommended Rs. 50,000 for PTA @Rs. 10000 unit cost (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB)
		178.0. 19	Capacity Building	5	0.10000	0.5	5	0.10000	0.5	Recommended Rs. 50,000 for Capacity Building @Rs. 10000 unit cost (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB)
		178.0. 20	Physical / Self Defence	5	0.10000	0.5	5	0.10000	0.5	Recommended Rs. 50,000 for Physical / Self Defense @Rs. 10000 unit cost (for 2 functional KGBVs and 3 KGBVS to be functional in current financial year as discussed in Pre PAB)
			Total of KGBV - Type - IV (Recurring)			237.35			192.35	

	Р			Proposa	1	Final Approved Outlay Physic Unit Financi Remarks					
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
				(Previous Year) (Classes IX - XII)							
			of Kastu laya (KG	rba Gandhi Balika			696.3			644.3	
	Rani Laxmibai Atma Raksha	183. 0	iuju (m	Rani Laxmibai Atma Raksha Prashikshan (upto Highest Class X or XII)							
	Prashiksha n		183.0. 1	Rani Laxmibai Atma Raksha Prashikshan (Upto Class X or XII)	123	0.05000	6.15	123	0.05000	6.15	Recommended Rs. 6.15 lakh for Rani Laxmibai Atma Raksha Prashikshan for 123 schools
				Total of Rani Laxmibai Atma Raksha Prashikshan (upto Highest Class X or XII)			6.15			6.15	
		184. 0		Rani Laxmibai Atma Raksha Prashikshan (up to Highest Class VIII)							
			184.0. 1	Rani Laxmibai Atma Raksha Prashikshan (Upto Class VIII)	367	0.05000	18.35	277	0.05000	13.85	Recommended Rs. 13.85 lakh for Rani Laxmibai Atma Raksha Prashikshan for 277 schools as per UDISE+ Data
				Total of Rani Laxmibai Atma Raksha Prashikshan (up to Highest Class VIII)			18.35			13.85	
		1	of Rani l Ia Prash	Laxmibai Atma ikshan			24.5			20	
	Special Projects for Equity	185. 0		Special Projects for Equity - (NR) (Secondary)							

	Р			Proposa	1	Final Approved Outlay					
Major Componen	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
t			185.0. 1	Incinerator Machines (Upto Class XII))	70	0.10000	7	25	0.10000	2.5	Recommended Rs. 2.5 lakh for Incinerator Machines for 25 schools as per UDISE data 2021-22
			185.0. 2	Vending Machines (Upto Class XII)	70	0.10000	7	24	0.10000	2.4	Recommended Rs. 2.4 lakh for Vending Machines for 24 schools as per UDISE data 2021-22
				Total of Special Projects for Equity - (NR) (Secondary)			14			4.9	
		187. 0		Special Projects for Equity - (NR) (Elementary)							
			187.0 . 1	Incinerator Machines (Elementary)	79	0.10000	7.9	5	0.10000	0.5	Recommended Rs.0.50 lakh for 5 schools for Incinerator Machines as per UDISE data 2021-22
			187.0 . 2	Vending Machines (Elementary)	79	0.10000	7.9	79	0.10000	7.9	Recommended as proposed Rs. 7.9 lakh for 79 schools for Vending Machines as per UDISE data 2021-22
				Total of Special Projects for Equity - (NR) (Elementary)			15.8			8.4	
		190. 0		Project- Girls Empowerment (Secondary)							
			190.0 . 1	Adolescent Programme for Girls Students	123	0.05000	6.15	123	0.05000	6.15	Recommended as Proposed for Adolescent Programme for Girls Students
			190.0 . 2	Career Guidance Programme for Girls	123	0.05000	6.15	123	0.05000	6.15	Recommended as Proposed for Career Guidance Programme for Girls
				Total of Project-			12.3			12.3	

	Particulars						1		Final Approved Outlay Physic Unit Financi Remarks			
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
				Girls Empowerment (Secondary)								
			-	al Projects for Equity			42.1			25.6		
	Total for Ger	1	Equity	1			762.90			689.90		
Inclusive Education	Provision for Children with	191. 0		Student Oriented Components (Pre- Primary) (District Level) (Recurring)								
	Special Needs (CWSN)	Needs	191.0 . 1	Purchase/Developme nt of age appropriate TLMs	29	0.00500	0.145	2	0.07250	0.145	Maybe considered for development of appropriate TLMs for CwSN with a unit cost of Rs.7,250/district.	
			191.0. 2	Orientation of Principals, Pre- Primary teachers, Anganwadi workers, parents / guardians et	352	0.00600	2.112	2	0.14750	0.295	Maybe considered for orientation program across all districts.	
				Total of Student Oriented Components (Pre- Primary) (District Level) (Recurring)			2.26			0.44		
		196. 0		Student Oriented Components (Pre- Primary) (Student Specific) (Recurring)								
				196.0. 3	Escort Allowance	22	0.02500	0.55	22	0.02500	0.55	Maybe considered for 22 escorts for CwSN (enrolled in pre-primary sections only).
			196.0. 4	Transport Allowance	22	0.01000	0.22	22	0.01000	0.22	Maybe considered for 22 CwSN (enrolled in pre-primary sections only).	
			196.0 . 6	Providing Aids & Appliances	24	0.03000	0.72	24	0.03000	0.72	Maybe considered for 24 CwSN (enrolled in pre-primary sections only), with a unit cost of Rs.3000/CwSN (an average unit cost).	

	Р			Proposa	1	Final Approved Outlay					
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
				Total of Student Oriented Components (Pre- Primary) (Student Specific) (Recurring)			1.49			1.49	
		197. 0		Stipend for Girls (Pre-Primary) (Recurring)							
			197.0. 1	Stipend for Girls	22	0.02000	0.44	22	0.02000	0.44	Recommended as proposed for 22 girls with special needs (enrolled in pre-primary sections only), with a unit cost of Rs.200/month for 10 months. This stipend is to be disbursed through DBT.
				Total of Stipend for Girls (Pre-Primary) (Recurring)			0.44			0.44	
		198. 0		Student Oriented Components (Upto Highest Class - VIII) (District Level) (Recurring)							
			198.0 . 1	Purchase/Developme nt of instructional & Training materials	19	0.03000	0.57	2	0.27500	0.55	Maybe considered for development of appropriate TLMs for CwSN, with a unit cost of Rs.27,500/district.
				Total of Student Oriented Components (Upto Highest Class - VIII) (District Level) (Recurring)			0.57			0.55	
		199. 0		Student Oriented Components (Upto Highest Class - VIII) (Block Level)							

	Particulars						1	Final Approved Outlay			
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
t				(Recurring)							
			199.0 . 6	Helper/Ayas/Attenda nt	1	0.60000	0.6	1	0.60000	0.6	Maybe considered for 1 child care attendant (in position only).
				Total of Student Oriented Components (Upto Highest Class - VIII) (Block Level) (Recurring)			0.6			0.6	
		200. 0		Student Oriented Components (Upto Highest Class - VIII) (Student Specific) (Recurring)							
			200.0. 3	Escort Allowance	97	0.02000	1.94	97	0.02000	1.94	Recommended as proposed for 97 escorts for CwSN.
			200.0. 4	Transport Allowance	53	0.06000	3.18	53	0.06000	3.18	Recommended as proposed for 53 CwSN.
			200.0 . 5	Home Based Education	8	0.01000	0.08	8	0.01000	0.08	Recommended as proposed for 8 CwSN enrolled in home based education program.
			200.0 . 7	Providing Aids & Appliances	307	0.03000	9.21	307	0.03000	9.21	Recommended as proposed for 307 CwSN with a unit cost of Rs.3000/CwSN (an average unit cost).
				Total of Student Oriented Components (Upto Highest Class - VIII) (Student Specific) (Recurring)			14.41			14.41	
		201. 0		Stipend for Girls (Upto Highest Class - VIII) (Recurring)							

	Р			Proposa	1	Final Approved Outlay					
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
			201.0 . 1	Stipend for Girls	226	0.02000	4.52	226	0.02000	4.52	Recommended as proposed for 226 girls with special needs, with a unit cost of Rs.200/month for 10 months. This stipend is to be disbursed through DBT.
				Total of Stipend for Girls (Upto Highest Class - VIII) (Recurring)			4.52			4.52	
		203. 0		Student Oriented Components (Upto Highest Class - XII) (Block Level) (Recurring)							
			203.0. 5	Environment Building programme	13	0.10000	1.3	13	0.10000	1.3	Recommended for awareness programs with a unit cost of Rs.10,000/BRC.
				Total of Student Oriented Components (Upto Highest Class - XII) (Block Level) (Recurring)			1.3			1.3	
		204. 0		Student Oriented Components (Upto Highest Class - XII) (Student Specific) (Recurring)							
			204.0 . 3	Escort Allowance	33	0.02000	0.66	10	0.02000	0.2	Recommended for 10 escorts for CwSN (as per PAB approval 2022-23) with a unit cost of Rs.2000/escort.
			204.0 . 4	Transport Allowance	33	0.12500	4.125	30	0.02500	0.75	Recommended for 33 CwSN with a unit cost of Rs.2500/CwSN (as per PAB approval 2022-23).

	Particulars						1	Final Approved Outlay			
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
t			204.0. 5	Home Based Education	2	0.01000	0.02	2	0.01000	0.02	Recommended as proposed for 2 CwSN enrolled in home based education program.
			204.0 . 7	Providing Aids & Appliances	129	0.03000	3.87	127	0.03000	3.81	Recommended for 127 CwSN with a unit cost of Rs.3000/CwSN (an average unit cost).
				Total of Student Oriented Components (Upto Highest Class - XII) (Student Specific) (Recurring)			8.68			4.78	
		205. 0		Stipend for Girls (Upto Highest Class - XII) (Recurring)							
			205.0 . 1	Stipend for Girls	113	0.02000	2.26	88	0.02000	1.76	Recommended for 88 girls with special needs as per UDISE+, with a unit cost of Rs.200/month for 10 months. This stipend is to be disbursed through DBT.
				Total of Stipend for Girls (Upto Highest Class - XII) (Recurring)			2.26			1.76	
		206. 0		Identification & Assessment (up to Highest Class VIII)							
			206.0. 1	Identification and Assessment (Medical Assessment Camps) (Upto Highest Class VIII)	20	0.10000	2	13	0.10000	1.3	Recommended for annual assessment camps with a unit cost of Rs.10,000/BRC as per norms.
				Total of Identification & Assessment (up to Highest Class VIII)			2			1.3	

	Р			Proposa	1	Final Approved Outlay					
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
t		207. 0		Identification & Assessment (Upto Highest Class - XII)							
			207.0 . 1	Identification and Assessment (Medical Assessment Camps) (Upto Highest Class XII)	13	0.50000	6.5	13	0.10000	1.3	Recommended for annual assessment camps with a unit cost of Rs.10,000/BRC as per norms.
				Total of Identification & Assessment (Upto Highest Class - XII)			6.5			1.3	
		208. 0		Capacity Building of Special Educators (up to Highest Class VIII)							
			208.0 . 1	In-service Training of Special Educators (Upto Highest Class VIII)	246	0.05000	12.3	5	0.05000	0.25	Recommended for 10 days capacity building programs for 5 special educators (in position only), with a unit cost of Rs.500/day/special educator.
				Total of Capacity Building of Special Educators (up to Highest Class VIII)			12.3			0.25	
		209. 0		Capacity Building of Special Educators (up to Highest Class XII)							
			209.0 . 1	In-service Training of Special Educators (Upto Highest Class XII)	13	0.15000	1.95	1	0.05000	0.05	Maybe considered for 10 days capacity building program for 1 special educator (in position only), with a unit cost of Rs.500/day as per norms.
				Total of Capacity Building of Special Educators (up to Highest Class XII)			1.95			0.05	

	Particulars						1	Final Approved Outlay				
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks	
		210. 0		Resource Support towards Salary (Upto Highest Class VIII) (Recurring)								
			210.0 . 1	Financial Support (Previous Spl. Educators)	1	2.40000	2.4	1	2.40000	2.4	Maybe considered for 1 special educator (in position only), with a unit cost of Rs.2.40 lakh/annum.	
				Total of Resource Support towards Salary (Upto Highest Class VIII) (Recurring)			2.4			2.4		
		212. 0		Strengthening Components under Inclusive Education (Upto Highest Class - XII) (NR)								
			212.0 . 1	Equipments for Resource Rooms	4	2.25000	9	4	2.00000	8	Recommended for 04 resource centres (one per block), with a unit cost of Rs.2.0 lakh/BRC for CwSN upto class XII, subject to verification of details submitted by the UT. This support is for equipments in resource rooms and is a one time grant (once in 5 years).	
				Total of Strengthening Components under Inclusive Education (Upto Highest Class - XII) (NR)			9			8		
		213. 0		Resource Support towards Salary (Upto Highest Class XII) (Recurring)								

	Р	articu	lars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
t			213.0 . 1	Financial Support (Previous Spl. Educators)	1	2.40000	2.4	1	2.40000	2.4	Maybe considered for 1 special educator (in position only), with a unit cost of Rs.2.40 lakh/annum.
				Total of Resource Support towards Salary (Upto Highest Class XII) (Recurring)			2.4			2.4	
				sion for Children with (CWSN)			73.07			45.99	
	Total for Incl						73.07			45.99	
Vocational Education	Introductio n of	214. 0		Introduction of VE in schools - NR							
	Vocational Education at		214.0 . 1	Tools, Equipment & Furniture (New)	20	5.00000	100	2	3.00000	6	Recommended 02 Schools for introduction of VE from class 9th with 1 job role
	Secondary and higher		214.0. 2	Classroom Cum Workshop for VE	18	12.0000 0	216	4	12.7600 0	51.04	Recommended for 04 Hub Schools
	Secondary			Total of Introduction of VE in schools - NR			316			57.04	
		215. 0		Recurring Support VE - New							
			215.0 . 1	Financial Support for Vocational Teacher/ Trainer (New)	23	3.00000	69	2	1.20000	2.4	Recommended notional support for 2 trainers (@Rs. 20000 for 6 months) to be recruited
			215.0. 2	Financial Support for Resource Persons (New)	23	0.62500	14.375	2	0.31300	0.626	Recommended as per norms for 2 Schools
			215.0. 3	Raw material Grant for new school per course (New)	23	1.12500	25.875	2	0.56300	1.126	Recommended as per norms for raw materials in 2 Schools
			215.0 . 4	Cost of providing Hands on Skill Training to Students (New)	23	0.60000	13.8	2	0.30000	0.6	Recommended as per norms for providing hands on training in 2 Schools

	Р	articu	lars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
t			215.0 . 6	Office Expenses / Contingencies for New School (New)	23	0.25000	5.75	2	0.25000	0.5	Recommended as per norms for Office Expenses / Contingencies in 2 Schools
			215.0 . 7	Induction training of Teachers VE - Teachers (10 Days)	23	0.00500	0.115	2	0.05000	0.1	Recommended for 10 days induction training to 2 trainers to be recruited
			215.0 . 8	Recurring Support to Hub and Spoke Model	4	5.00000	20	4	1.25000	5	Recommended for 4 Hub schools where students of spoke schools will be provided VE practical training.
			215.0 . 9	Transportation allowance for Children from Spoke to Hub School	360	0.03000	10.8	56	0.03000	1.68	Recommended for 56 students of 07 spoke schools @ Rs.3000 per student for travelling to Hub school.
				Total of Recurring Support VE - New			159.72			12.03	
		216. 0		Project Innovation - (Rec) - (State Specific) Vocational Education							
			216.0. 4	Skill Competition (District)	2	1.00000	2	2	1.00000	2	Recommended as proposed for skill competition at the district level
			216.0 . 5	Skill Competition (State)	1	1.00000	1	1	1.00000	1	Recommended as proposed for skill competition at the UT level
				Total of Project Innovation - (Rec) - (State Specific) Vocational Education			3			3	
		217. 0		Recurring Support VE - Existing							
			217.0. 1	Financial Support for Vocational Teacher/ Trainer (Existing)	56	3.60000	201.6	56	2.61000	146.16	Recommended support for 56 trainers (49 in-positioned trainers @22000/trainer + 07 trainers @20000/trainer to be recruited)

	P	articulars			Proposa	1		Fi	nal Appr	oved Outlay
Major Componen t	Sub Component		Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
		217.0. 2	Financial Support for Resource Persons (Existing)	56	0.62500	35	37	0.94590	34.9983	Recommended for guest lecture in 37 Schools
		217.0 . 3	Raw material grant for new school per course (Existing)	56	1.12500	63	37	1.70270	62.9999	Recommended for raw materials in 37 Schools
		217.0. 4	Cost of providing Hands Training Students (Existing)	56	0.62500	35	37	0.62500	23.125	Recommended for providing Hands on skill Training / field trip to student in 37 schools
		217.0 . 5	Assessment and Certification Cost (Existing)	3300	0.00600	19.8	2215	0.00600	13.29	Recommended Assessment and Certification Cost for 2215 students
		217.0. 6	Office Expenses / Contingencies for School (Existing)	56	0.25000	14	37	0.37840	14.0008	Recommended for Office Expenses / Contingencies in 37 Schools
		217.0 . 7	Induction training of VE - Teachers (10 Days) - (Existing)	56	0.00500	0.28	7	0.05000	0.35	Recommended 10 days induction training to 7 trainers to be recruited (@500/per day/trainer)
		217.0 . 8	In-service Training of VE - Teachers (5 - Days) - (Existing)	56	0.00500	0.28	49	0.02500	1.225	Recommended for 5 days in service training of 49 trainers (@500/per day/trainer)
		217.0 . 9	Recurring Support for Hub and SpokeSchools (Previous)	6	5.00000	30	4	2.50000	10	Recommended for 4 Hub schools where students of 08 spoke schools will be provided VE practical training.
		217.0 . 10	Transportation Allowance for Children from Spoke to Hub School (Previous)	600	0.03000	18	128	0.03000	3.84	Recommended for 128 students of 08 spoke schools @ Rs.3000 per student for travelling to Hub school.
			Total of Recurring Support VE - Existing			416.96			309.99	
			duction of Vocational Secondary and higher			895.68			382.06	
	Total for Voc	cational Educat	ion			895.68			382.06	

	Р	articu	lars			Proposa	l		Fi	nal Appr	oved Outlay
Major Componen	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
Monitoring of the	Monitoring Informatio	219. 0		Monitoring of the Scheme							
Scheme	n System (MIS)		219.0. 2	Child Tracking System	59788	0.00005	2.989	30030	0.00003	0.9009	Recommended @Rs.3.00 per child for enrolment in Governemnt and aided schools.
				Management Information System (Udise +)	59788	0.00005	2.989	30030	0.00002	0.6006	Recommended @Rs.2.00 per child for enrolment in Governemnt and aided schools.
				Total of Monitoring of the Scheme			5.98			1.5	
		219. 2		Vidhya Samiksha Kendra (Recurring) (EE/SE/TE)							
			219.2. 14	Vidya Samiksha Kendra (Recurring) Total of Vidhya	1	50.0000	50 50	1	50.0000	50 50	Recommended. As the UT of Ladakh has initiated the action of setting up VSK, with sub domain registration, SSL certificates and MoU with agency for implementation and has also submitted the requisition to CIET for e- starter pack ensuring NDEAR compliance mechanism and is on track for making the VSK functional, considered 50 lakhs as the operational expenses, i.e., recurring cost for the proposed activities for VSK as proposed.
				Samiksha Kendra (Recurring) (EE/SE/TE)			50			50	
			of Monit m (MIS)	coring Information			55.98			51.5	
	Total for Mo		g of the S				55.98			51.50	
Program	Program	220.		Program							

	Р	articu	lars			Proposa	1	Final Approved Outlay			
Major Componen t	Sub Component			Activity Master	Physic al	Unit Cost	Financi al	Physic al	Unit Cost	Financi al	Remarks
Manageme Manageme	Manageme nt	0		Management (MMER - E.E / S.E. / T.E.)							
			220.0 . 1	Program Management (MMMER - E.E / S.E. / T.E.)	1	456.220 00	456.22	1	456.220 00	456.22	Recommended as proposed
				Total of Program Management (MMER - E.E / S.E. / T.E.)			456.22			456.22	
		Total	of Progr	am Management			456.22			456.22	
	Total for Pro	gram M	lanagen	nent			456.22			456.22	
Total							23347. 85			12442. 36	
	Innovation Budget To Be622.12 (Rs. in lakh)Recommended (5%):		Recommended Under Project Innovation		308.35 (Rs. in lakh)			Percentage:2.48 %			
Generated as or	n Thursday, May 04	4, 2023									

	Final Approval							
Scheme Name	NON Recurring	Recurring	Total					
Elementary Education	2910.99	6327.17	9238.16					
Secondary Education	574.66	2497.49	3072.15					
Teacher Education	0	132.05	132.05					
Total	3485.65	8956.71	12442.36					

Teacher Education		Proposal		Final Approval			
Major Components	Non recurring	Recurring	Total	Non recurring	Recurring	Total	
BITES	0.00	0.00	0.00	0	0	0	
CTEs		0.00	0.00	0	0	0	
DIETs	30.00	208.90	238.90	0	92.05	92.05	

IASEs		0.00	0.00	0	0	0
SCERT	26.00	100.95	126.95	0	40	40
Total	56.00	309.85	309.85	0	132.05	132.05

Final Approval	
Major Component	Total
Access & Retention	4595.99
RTE Entitlements	284.89
Quality Interventions	3949.24
Teacher Education	132.05
Financial Support for Teachers	1770.72
Gender & Equity	689.9
Inclusive Education	45.99
Vocational Education	382.06
Sports & Physical Education	83.8
Monitoring of the Scheme	51.5
Program Management	456.22
Total	12442.36

Source: PRABANDH Portal

Netaji Subhash Chandra Bose Avasiya Vidyalaya

A) Netaji Subhash Chandra Bose Avasiya Vidyalaya - NR (Existing) (Capacity 50) (Elementary)

S.No	District	Block	UDISE Code	School	No. of	NR-	(In Lakh) Financial
				Name	Students	Approval	Approval
1	Leh	Khaltse	37070201611	Middle School Fotoksar	50	Replacement of bedding (once in 3 years)	2
				Total	50		2

Annexure-V

Infrastructure (Civil Works)
Elementary List of Approved schools in ACR

	state_nam	district_nam	block_nam	roved schools in A(udise_sch_cod	
S.No	e	e	e	school_name	e	ACR
Dirto		LEH		senoor_nume		
1	Ladakh	(LADAKH)	KHALTSE	P/S HIPTI	37070201801	1
		LEH		/		
2	Ladakh	(LADAKH)	KHALTSE	M/S KANJI	37070201902	1
		LEH				
3	Ladakh	(LADAKH)	NUBRA	M/S HUNDERI	37070501001	2
4	Ladakh	KARGIL	DRASS	MS Khiber	37080300203	1
5	Ladakh	KARGIL	DRASS	MS DOKS	37080300502	1
6	Ladakh	KARGIL	DRASS	MS LAMMAR	37080301211	1
7	Ladakh	KARGIL	TAISURU	MS RANTHAK	37080401003	1
8	Ladakh	KARGIL	TAISURU	MS TULUS	37080401101	1
9	Ladakh	KARGIL	TAISURU	MS BAIMACHAN	37080401601	1
10	Ladakh	KARGIL	CHIKTAN	GMS CHIKTAN	37080500202	1
11	Ladakh	KARGIL	CHIKTAN	GMS SHAKAR	37080500402	1
12	Ladakh	KARGIL	CHIKTAN	MS SHANGCHAY	37080500408	1
13	Ladakh	KARGIL	CHIKTAN	MS LAMSU	37080500502	1
14	Ladakh	KARGIL	CHIKTAN	MS SANJAK	37080501304	1
				SSA PS KHATOD		
15	Ladakh	KARGIL	SANKOO	СНОМІК	37080600113	1
16	Ladakh	KARGIL	SANKOO	MS LABABS	37080600802	1
17	Ladakh	KARGIL	SANKOO	PS SHISPORE	37080600901	1
18	Ladakh	KARGIL	SANKOO	MS KHANDI	37080600902	1
19	Ladakh	KARGIL	SANKOO	MS ITCHOO	37080601201	1
				SSA PS		
20	Ladakh	KARGIL	SANKOO	YOKMATOO	37080601308	1
21	Ladakh	KARGIL	SANKOO	MS SHAGARAN	37080601608	1
				MS YUKMA		
22	Ladakh	KARGIL	SANKOO	SALISKOTE	37080601707	1
				MS GOUND		
23	Ladakh	KARGIL	SANKOO	YOUKMA	37080601803	1
24	Ladakh	KARGIL	SANKOO	MS THOVINA	37080602003	1
2 -		WADGU		MS	25000500400	
25	Ladakh	KARGIL	SHARGOLE	KURBATHANG	37080700103	1
26	Ladakh	KARGIL	SHARGOLE	MS THARUMSA	37080700107	1

Secondary List of Approved Schools in ACR

S.No	state_nam e	district_nam e	block_nam e	school_nam e	udise_sch_cod e	ACR
1	Ladakh	KARGIL	DRASS	HS	37080300301	1

	state_nam	district_nam	block_nam	school_nam	udise_sch_cod	
S.No	е	е	е	е	е	ACR
				THASGAM		
2	Ladakh	KARGIL	SHARGOLE	HS SKIMBO	37080700502	1

S.No	state_name	district_name	block_name	school_name	udise_sch_code	ACR			
		LEH		HR/SEC/SCHOOL					
1	Ladakh	(LADAKH)	KHALTSE	KHALTSI	37070201004	1			
				GOVT. HIGHER					
				SECONDARY					
2	Ladakh	KARGIL	CHIKTAN	SCHOOL SHAKAR	37080500212	1			
				GOVT. HR. SEC.					
3	Ladakh	KARGIL	SANKOO	BARSOO	37080600810	1			
				GOVT, HIGHER					
				SECONDARY					
4	Ladakh	KARGIL	SHARGOLE	SCHOOL SHARGOLE	37080700304	1			

Higher Secondary List of Approved schools in ACR

Elementary List of Approved schools in Boys Toilets

S.No	state_name	district_name	block_name	school_name	udise_sch_code	BT
		LEH				
1	Ladakh	(LADAKH)	DURBUK	PS Chibra	37070100107	1
		LEH				
2	Ladakh	(LADAKH)	DURBUK	PS Kargyam Burma	37070100109	1
		LEH				
3	Ladakh	(LADAKH)	KHALTSE	P/S BALDESH	37070200202	1
		LEH				
5	Ladakh	(LADAKH)	KHALTSE	P/S KAPTO	37070200702	1
		LEH				
6	Ladakh	(LADAKH)	KHALTSE	M/S SKINDYANG	37070200901	1
		LEH				
7	Ladakh	(LADAKH)	KHALTSE	P/S HINJU	37070201610	1
		LEH				
8	Ladakh	(LADAKH)	LEH	P/S THANGNAK	37070400804	1
		LEH				
9	Ladakh	(LADAKH)	LEH	P/S ZAMCHUNG	37070401808	1
10	Ladakh	KARGIL	CHIKTAN	MS SANJAK	37080501304	1
11	Ladakh	KARGIL	CHIKTAN	MS PHOSA	37080501306	1
12	Ladakh	KARGIL	SANKOO	SSA PS DANGA	37080601309	1
13	Ladakh	KARGIL	SANKOO	M/S ZOTPI THANG	37080601605	1

Elementary List of Approved schools in Girls Toilets

S.No	state_name	district_name	block_name	school_name	udise_sch_code	GT
		LEH				
1.	Ladakh	(LADAKH)	DURBUK	PS Chibra	37070100107	1
2.	Ladakh	LEH	DURBUK	PS Kargyam Burma	37070100109	1

S.No	state_name	district_name	block_name	school_name	udise_sch_code	GT
		(LADAKH)				
		LEH				
3.	Ladakh	(LADAKH)	KHALTSE	P/S BALDESH	37070200202	1
		LEH				
4.	Ladakh	(LADAKH)	KHALTSE	P/S ANG	37070200301	1
		LEH				
5.	Ladakh	(LADAKH)	LEH	PS SKARA YOKMA	37070402527	1
		LEH				
6.	Ladakh	(LADAKH)	NUBRA	M/S BOYS DISKIT	37070501901	1
		LEH		/		
7.	Ladakh	(LADAKH)	NYOMA	M/S TUKLA	37070600201	1
8.	Ladakh	KARGIL	ZANSKAR	BMS PADUM	37080202102	1
9.	Ladakh	KARGIL	DRASS	PS MASKIYAL	37080300102	1
				PS GATO MURAD		
10.	Ladakh	KARGIL	DRASS	BAGH	37080302003	1
11.	Ladakh	KARGIL	CHIKTAN	MS PHOSA	37080501306	1
12.	Ladakh	KARGIL	SANKOO	MS KHALAMARPO	37080600103	1
				SSA PS KHATOD		
13.	Ladakh	KARGIL	SANKOO	СНОМІК	37080600113	1
14.	Ladakh	KARGIL	SANKOO	MS KARCHY KHAR	37080600603	1
15.	Ladakh	KARGIL	SANKOO	SSA PS GAMATING	37080600906	1
16.	Ladakh	KARGIL	SANKOO	PS YARKSHNG	37080601003	1
17.	Ladakh	KARGIL	SANKOO	MS ITCHOO	37080601201	1
				MS LANKARCHY		
18.	Ladakh	KARGIL	SANKOO	THANG	37080601303	1
19.	Ladakh	KARGIL	SANKOO	SSA PS DANGA	37080601309	1
20.	Ladakh	KARGIL	SANKOO	M/S ZOTPI THANG	37080601605	1
				MS GOMA		
21.	Ladakh	KARGIL	SANKOO	SALISKOTE	37080601703	1
				MS YUKMA		
22.	Ladakh	KARGIL	SANKOO	SALISKOTE	37080601707	1
23.	Ladakh	KARGIL	SANKOO	PS MARPODOKS	37080601711	1
24.	Ladakh	KARGIL	SANKOO	SSA PS LALUNG	37080602008	1

Secondary List of Approved Schools in Boys Toilets

S.No	state_name	district_name	block_name	school_name	udise_sch_code	BT
1	Ladakh	KARGIL	KARGIL	HS BAROO	37080100310	1
				HS MURAD		
2	Ladakh	KARGIL	DRASS	BAGH	37080302001	1

Secondary List of Approved Schools in Girls Toilets

S.N	state_nam	district_nam	block_nam		udise_sch_cod	
0	e	е	е	school_name	е	GT
1	Ladakh	KARGIL	KARGIL	HS MINJI	37080100506	1

S.N	state_nam	district_nam	block_nam		udise_sch_cod	
0	е	е	е	school_name	е	GT
2	Ladakh	KARGIL	KARGIL	HS BADGUM	37080101205	1
3	Ladakh	KARGIL	DRASS	HS THASGAM	37080300301	1
4	Ladakh	KARGIL	DRASS	HS MURAD BAGH	37080302001	1

Higher Secondary List of Approved schools in Girls Toilets

		district_nam			udise_sch_cod	
S.No	state_name	е	block_name	school_name	е	BT
				GOVT. BOYS		
				HR. SEC.		4
1	Ladakh	KARGIL	KARGIL	SCHOOL	37080100313	
2	Ladakh	KARGIL	ZANSKAR	HSS PADAM	37080202111	1

Higher Secondary List of Approved schools in Girls Toilets

					udise_sch_cod	
S.No	state_name	district_name	block_name	school_name	е	GT
2	Ladakh	KARGIL	ZANSKAR	HSS PADAM	37080202111	1
				GOVT. HR.		1
3	Ladakh	KARGIL	SANKOO	SEC. BARSOO	37080600810	1
				GOVT.		
				HIGHER		1
				SECONDARY,		1
4	Ladakh	KARGIL	SANKOO	TRESPONE	37080601617	

Elementary List of Approved schools in CWSN Toilets

						CWSN
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Toilets
		LEH				
1	Ladakh	(LADAKH)	DURBUK	P/S BUK	37070100101	1
		LEH				
2	Ladakh	(LADAKH)	NUBRA	M/S TURTUK FAROL	37070500302	1
		LEH				
3	Ladakh	(LADAKH)	NUBRA	P/S YOUL TURTUK	37070500304	1
		LEH				
4	Ladakh	(LADAKH)	NUBRA	P/S RAICHAN	37070500305	1
		LEH				
5	Ladakh	(LADAKH)	NUBRA	M/S YOUL TURTUK	37070500308	1
		LEH				
6	Ladakh	(LADAKH)	NUBRA	PS BARI TURTUK	37070500309	1
		LEH				
7	Ladakh	(LADAKH)	NUBRA	M/S BOGDANG	37070500501	1
		LEH				
8	Ladakh	(LADAKH)	NUBRA	M/S NAKPOTHANG	37070500502	1
		LEH				
9	Ladakh	(LADAKH)	NUBRA	M/S CHANGMAR	37070500506	1

						CWSN
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Toilets
		LEH		P/S GUNESTHANG		
10	Ladakh	(LADAKH)	NUBRA	GONGMA	37070500512	1
		LEH		M/S ARANOO		
11	Ladakh	(LADAKH)	NUBRA	GOKMA	37070500902	1
10	T - J -]]	LEH		MCUDMADOO	27070501101	1
12	Ladakh	(LADAKH) LEH	NUBRA	M/S UDMAROO	37070501101	1
13	Ladakh	LEH (LADAKH)	NUBRA	P/S TIRIT	37070502103	1
15	Lauakii	LEH	NUDKA		37070302103	1
14	Ladakh	(LADAKH)	NUBRA	M/S KHALSR	37070502401	1
	Lauain	LEH	NODIMI		57070502101	1
15	Ladakh	(LADAKH)	NUBRA	M/S DIGGER	37070502605	1
16	Ladakh	KARGIL	KARGIL	PS PISHOO	37080100121	1
17	Ladakh	KARGIL	KARGIL	MS CHANCHIK	37080100123	1
18	Ladakh	KARGIL	KARGIL	PS YANGTEE	37080100126	1
19	Ladakh	KARGIL	KARGIL	GMS BAROO	37080100307	1
20	Ladakh	KARGIL	KARGIL	PS BIAMATHANG	37080100309	1
20	Ladakh	KARGIL	KARGIL	GGMS POYEN	37080100309	1
21	Ladakh	KARGIL	KARGIL	MS GOMA MINJI	37080100408	1
23	Ladakh	KARGIL	KARGIL	MS GOUND MINJI	37080100505	1
23	Ladakh	KARGIL	KARGIL	KGBV MINJI KARGIL	37080100509	1
24	Ladakh	KARGIL	KARGIL	PS CHAPRING	37080100509	1
26	Ladakh	KARGIL	KARGIL	MS BATAMBIS	37080100602	<u> </u>
20						1
	Ladakh	KARGIL	KARGIL	MS SHILKCHY	37080100901	
28	Ladakh	KARGIL	KARGIL	MS THANG	37080101002	1
29	Ladakh	KARGIL	KARGIL	MS CHULISKIMBO	37080101107	1
30	Ladakh	KARGIL	KARGIL	MS KARKITCHO	37080101201	1
31	Ladakh	KARGIL	KARGIL	MS KHUNDA	37080101202	1
32	Ladakh	KARGIL	KARGIL	MS MAJDAS	37080101204	1
33	Ladakh	KARGIL	KARGIL	MS LATOO	37080101208	1
34	Ladakh	KARGIL	KARGIL	MS STENGS	37080101302	1
35	Ladakh	KARGIL	KARGIL	GMS YOURBALTAK	37080101303	1
	, , , ,			MS		4
36	Ladakh	KARGIL	KARGIL	DOKSCHUTUMAIL	37080101306	1
37	Ladakh	KARGIL	KARGIL	MS YOURBALTAK	37080101308	1
38	Ladakh	KARGIL	KARGIL	MSTUMAIL	37080101502	1
				G. BOYS MS		4
39	Ladakh	KARGIL	KARGIL	AKCHAMAIL	37080101601	1
40	Ladakh	KARGIL	KARGIL	MS MANBOUR	37080101602	1
41	Ladakh	KARGIL	KARGIL	GMS AKCHAMAL	37080101604	1
42	Ladakh	KARGIL	KARGIL	MS APATE	37080101702	1
43	Ladakh	KARGIL	KARGIL	LHS BATALIK	37080101806	1
44	Ladakh	KARGIL	KARGIL	M S BAGH E	37080101901	1

C N						CWSN
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Toilets
. –				KHOMENI		
45	Ladakh	KARGIL	KARGIL	MS BERCHY	37080102001	1
46	Ladakh	KARGIL	KARGIL	RT PS YARBARCHAY	37080102002	1
47	Ladakh	KARGIL	KARGIL	MS DARCHIKS	37080102301	1
10				RT PS SPANGS		
48	Ladakh	KARGIL	KARGIL	TOOTH	37080102402	1
40	T - J - 1 1-	VADCU	VADCU	PS AJINO PORA	2700200402	1
49	Ladakh	KARGIL	KARGIL	KAKSAR	37080300403	1
50	Ladakh	KARGIL	ZANSKAR	MS SKAGUM	37080201001	1
51	Ladakh	KARGIL	ZANSKAR	MS BAKARCHY	37080201002	1
52	Ladakh	KARGIL	ZANSKAR	PS TOKTA	37080201704	1
53	Ladakh	KARGIL	ZANSKAR	MS SANI	37080201902	1
54	Ladakh	KARGIL	ZANSKAR	MS PISHU	37080202603	1
55	Ladakh	KARGIL	DRASS	MS Khiber	37080300203	1
56	Ladakh	KARGIL	DRASS	MS CHOKIYAL	37080300501	1
57	Ladakh	KARGIL	DRASS	MS DANDAL	37080300601	1
58	Ladakh	KARGIL	DRASS	PS DANDAL THANG	37080300602	1
59	Ladakh	KARGIL	DRASS	MS JUSGOUND	37080300603	1
				PS KHARENO PORA		
60	Ladakh	KARGIL	DRASS	MUSHKOO	37080300802	1
				SSA PS Akhon		
61	Ladakh	KARGIL	DRASS	Mohala	37080300906	1
62	Ladakh	KARGIL	DRASS	MS GOMA GOSHAN	37080301204	1
63	Ladakh	KARGIL	DRASS	PS GATO Goshan	37080301205	1
				SSA PS SHAGRAN		
64	Ladakh	KARGIL	DRASS	GOSHAN	37080301207	1
65	Ladakh	KARGIL	DRASS	MS LAMMAR	37080301211	1
66	Ladakh	KARGIL	DRASS	MS THRONGUN	37080301401	1
67	Ladakh	KARGIL	DRASS	MS SALAM PORA	37080301404	1
68	Ladakh	KARGIL	DRASS	MS YOULBO	37080301601	1
69	Ladakh	KARGIL	DRASS	MS LAMOCHAN	37080301608	1
70	Ladakh	KARGIL	DRASS	GIRLS MS BHIMBET	37080301702	1
71	Ladakh	KARGIL	DRASS	PS KASHAL	37080301703	1
72	Ladakh	KARGIL	DRASS	KGBV DRASS	37080301709	1
73	Ladakh	KARGIL	DRASS	MS DRASS	37080302101	1
74	Ladakh	KARGIL	DRASS	MS BEARASS	37080302102	1
75	Ladakh	KARGIL	DRASS	GMS DRASS	37080302102	1
76	Ladakh	KARGIL	TAISURU	MS BRAKDOQ	37080400101	1
,0	Zudunii	In in Cold	11100100	M S GOMA		
77	Ladakh	KARGIL	TAISURU	PARKACHIK	37080400102	1
78	Ladakh	KARGIL	TAISURU	PS STOKJUK	37080400104	1
79	Ladakh	KARGIL	TAISURU	PS YOKMA	37080400105	1

S.No	state_name	district_name	block_name	school_name	udise_sch_code	CWSN Toilets
				PARKACHUIK		
80	Ladakh	KARGIL	TAISURU	MS ACHUMBUR	37080400201	1
81	Ladakh	KARGIL	TAISURU	MS GOMA TANGOLE	37080400303	1
82	Ladakh	KARGIL	TAISURU	MS ANALTIK	37080400304	1
83	Ladakh	KARGIL	TAISURU	MS KOCHIK	37080400401	1
84	Ladakh	KARGIL	TAISURU	MS MAITA	37080400802	1
85	Ladakh	KARGIL	TAISURU	PS YOULJUK THANG	37080400803	1
86	Ladakh	KARGIL	TAISURU	MS BRAKCHAN	37080400804	1
87	Ladakh	KARGIL	TAISURU	PS PURTIKCHY	37080400901	1
88	Ladakh	KARGIL	TAISURU	MS YOKMA NUMSUSRU	37080401001	1
89	Ladakh	KARGIL	TAISURU	MS GOMA NUMSURU	37080401002	1
90	Ladakh	KARGIL	TAISURU	MS RANTHAK	37080401003	1
91	Ladakh	KARGIL	TAISURU	MS NAMSURU	37080401004	1
92	Ladakh	KARGIL	TAISURU	MS PANIKHAR	37080401303	1
93	Ladakh	KARGIL	TAISURU	MS BAIMACHAN	37080401601	1
94	Ladakh	KARGIL	TAISURU	GMS TAISURU	37080401701	1
95	Ladakh	KARGIL	CHIKTAN	MS SHAKARDO	37080500403	1
96	Ladakh	KARGIL	CHIKTAN	MS BODH KHARBO	37080500701	1
97	Ladakh	KARGIL	CHIKTAN	MS GUMORJUKS	37080500904	1
98	Ladakh	KARGIL	CHIKTAN	GMS PERGUE	37080501202	1
99	Ladakh	KARGIL	CHIKTAN	MS SANJAK	37080501304	1
100	Ladakh	KARGIL	SANKOO	MS NAMA	37080600105	1
101	Ladakh	KARGIL	SANKOO	MS CHUMIKCHAN	37080600108	1
102	Ladakh	KARGIL	SANKOO	MS GOMA SANGRAH	37080600202	1
103	Ladakh	KARGIL	SANKOO	GMS SANGRAH	37080600203	1
104	Ladakh	KARGIL	SANKOO	MS STAKPA	37080600404	1
105	Ladakh	KARGIL	SANKOO	PS MALIKBER -K	37080600501	1
106	Ladakh	KARGIL	SANKOO	PS UMBA	37080600504	1
107	Ladakh	KARGIL	SANKOO	MS KARCHY KHAR	37080600603	1
108	Ladakh	KARGIL	SANKOO	PS STAQBURIK	37080600605	1
109	Ladakh	KARGIL	SANKOO	MS LABABS	37080600802	1
110	Ladakh	KARGIL	SANKOO	GMS TAIKET	37080600803	1
111	Ladakh	KARGIL	SANKOO	MS YARCHOKS	37080600806	1
112	Ladakh	KARGIL	SANKOO	MS HAMBURTIK	37080600808	1
113	Ladakh	KARGIL	SANKOO	MS KHANDI	37080600902	1
114	Ladakh	KARGIL	SANKOO	MS PANGBAR	37080601001	1
115	Ladakh	KARGIL	SANKOO	MS THILLA	37080601006	1
116	Ladakh	KARGIL	SANKOO	MS SHARGANDIK	37080601101	1
117	Ladakh	KARGIL	SANKOO	MS ITCHOO	37080601201	1
118	Ladakh	KARGIL	SANKOO	MS LANKARCHY BROQ	37080601301	1

						CWSN
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Toilets
119	Ladakh	KARGIL	SANKOO	MS SKILMERCHY	37080601304	1
120	Ladakh	KARGIL	SANKOO	SSA PS YOKMATOO	37080601308	1
121	Ladakh	KARGIL	SANKOO	SSA PS DANGA	37080601309	1
122	Ladakh	KARGIL	SANKOO	MS CHIKGRONG	37080601402	1
123	Ladakh	KARGIL	SANKOO	MS GOMATAMBIS	37080601404	1
124	Ladakh	KARGIL	SANKOO	GMS TAMBIS	37080601407	1
125	Ladakh	KARGIL	SANKOO	MS ZGANGJING	37080601503	1
126	Ladakh	KARGIL	SANKOO	PS ZAMBAKHA	37080601505	1
127	Ladakh	KARGIL	SANKOO	MS SARCHEY	37080601506	1
128	Ladakh	KARGIL	SANKOO	MS KANOOR	37080601508	1
				MS GATOO		
129	Ladakh	KARGIL	SANKOO	TRESPONE	37080601604	1
130	Ladakh	KARGIL	SANKOO	M/S ZOTPI THANG	37080601605	1
131	Ladakh	KARGIL	SANKOO	MS MARPOTHANG	37080601606	1
132	Ladakh	KARGIL	SANKOO	MS SHAGARAN	37080601608	1
133	Ladakh	KARGIL	SANKOO	MS MIRKHOR	37080601614	1
134	Ladakh	KARGIL	SANKOO	SSA PS GRONGSTOT	37080601616	1
				MS GOMA		
135	Ladakh	KARGIL	SANKOO	SALISKOTE	37080601703	1
136	Ladakh	KARGIL	SANKOO	MS LONGJUK	37080601704	1
				MS YUKMA		
137	Ladakh	KARGIL	SANKOO	SALISKOTE	37080601707	1
138	Ladakh	KARGIL	SANKOO	SSA PS TOLO THANG	37080601708	1
100		VADOU	CANWOO	PS IQBAL COLONY	27000(01712	1
139	Ladakh	KARGIL	SANKOO	SALISKOTE	37080601712	1
140	Ladakh	KARGIL	SANKOO	MS GOUND YOUKMA	37080601803	1
141	Ladakh	KARGIL	SANKOO	MS GASKAL	37080601804	1
142	Ladakh	KARGIL	SANKOO	PS Yakmakoron	37080601807	1
143	Ladakh	KARGIL	SANKOO	MS FARONA	37080601901	1
144	Ladakh	KARGIL	SANKOO	MS BRAKO	37080602005	1
145	Ladakh	KARGIL	SANKOO	PS THUSGAM GOUND	37080602006	1
145	Ladakh	KARGIL	SANKOO	GOOND GMS HUMBREE	37080602007	1
140	Ladakh	KARGIL	SANKOO	SSA PS LALUNG	37080602007	1
148	Ladakh	KARGIL	SANKOO	GMS THASGAM	37080602009	1
149	Ladakh	KARGIL	SANKOO	SSA PS THANG	37080602011	1
150	Ladakh	KARGIL	SHARGOLE	MS ANDO	37080700102	1
151	Ladakh	KARGIL	SHARGOLE	MS THARUMSA	37080700107	1
152	Ladakh	KARGIL	SHARGOLE	MS GRONG	37080700108	1
153	Ladakh	KARGIL	SHARGOLE	MS ZGANG	37080700109	1
154	Ladakh	KARGIL	SHARGOLE	MS Y-THARUMSA	37080700111	1
155	Ladakh	KARGIL	SHARGOLE	PS BAWAGRONG	37080700115	1

						CWSN
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Toilets
156	Ladakh	KARGIL	SHARGOLE	MS SHARGOLE	37080700302	1
157	Ladakh	KARGIL	SHARGOLE	MS FOKAR FOO	37080700402	1
158	Ladakh	KARGIL	SHARGOLE	MS CHATITHANG	37080700609	1
159	Ladakh	KARGIL	SHARGOLE	MS RGYAL	37080700702	1
160	Ladakh	KARGIL	SHARGOLE	MS BROK LONGMA	37080700708	1
161	Ladakh	KARGIL	SHARGOLE	GMS WAKHA	37080700709	1
162	Ladakh	KARGIL	SHARGOLE	PS TINGDOO	37080700801	1
163	Ladakh	KARGIL	SHARGOLE	MS TINDO	37080701001	1
164	Ladakh	KARGIL	SHARGOLE	MS KARAMBA	37080701002	1
165	Ladakh	KARGIL	SHARGOLE	MS KARIT	37080701201	1
166	Ladakh	KARGIL	SHARGOLE	MS STACHY	37080701302	1
				PS GONGSTOO		
167	Ladakh	KARGIL	SHARGOLE	ТАСНА	37080701303	1
168	Ladakh	KARGIL	SHARGOLE	PS LOTSUM	37080701403	1
169	Ladakh	KARGIL	SHARGOLE	MS DARKAT	37080701501	1
170	Ladakh	KARGIL	SHARGOLE	MS NUNUMCHY	37080701601	1

Secondary List of Approved Schools in CWSN Toilets

						CWSN
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Toilets
1	Ladakh	KARGIL	KARGIL	HS LANKORE	37080100109	1
2	Ladakh	KARGIL	KARGIL	HS MINJI	37080100506	1
3	Ladakh	KARGIL	KARGIL	HS BADGUM	37080101205	1
4	Ladakh	KARGIL	KARGIL	HS KAKSAR	37080300401	1
5	Ladakh	KARGIL	ZANSKAR	HS KARSHA	37080202501	1
6	Ladakh	KARGIL	DRASS	HS KHARBO	37080300103	1
7	Ladakh	KARGIL	DRASS	HS MURAD BAGH	37080302001	1
8	Ladakh	KARGIL	DRASS	HS PANDRASS	37080302005	1
9	Ladakh	KARGIL	TAISURU	HS PARKACHIK	37080400106	1
10	Ladakh	KARGIL	TAISURU	HS KARGEE	37080401202	1
11	Ladakh	KARGIL	SANKOO	HS SANGRAH	37080600204	1
12	Ladakh	KARGIL	SANKOO	HS TIKET	37080600904	1
13	Ladakh	KARGIL	SANKOO	HS TAMBIS	37080601406	1
14	Ladakh	KARGIL	SHARGOLE	HS SKIMBO	37080700502	1

Elementary_List of Approved schools in Drinking water

S.No	state_name	district_name	block_name	school_name	udise_sch_code	Drinking Water
1	Ladakh	KARGIL	DRASS	MS DANDAL	37080300601	1

						Drinking
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Water
2	Ladakh	KARGIL	DRASS	MS JUSGOUND	37080300603	1
3	Ladakh	KARGIL	DRASS	SSA PS Goniyal	37080300703	1
4	Ladakh	KARGIL	DRASS	MS SALAM PORA	37080301404	1
5	Ladakh	KARGIL	DRASS	MS YOULBO	37080301601	1
6	Ladakh	KARGIL	DRASS	PS TAISAR	37080301605	1
7	Ladakh	KARGIL	DRASS	MS GINDIYAL	37080301609	1
8	Ladakh	KARGIL	DRASS	PS KASHAL	37080301703	1
9	Ladakh	KARGIL	DRASS	MS NINGORE	37080301706	1
10	Ladakh	KARGIL	TAISURU	PS PURTIKCHY	37080400901	1
11	Ladakh	KARGIL	CHIKTAN	MS KUKARCHY	37080500201	1
12	Ladakh	KARGIL	CHIKTAN	MS KHARDON	37080500203	1
13	Ladakh	KARGIL	CHIKTAN	KGBV CHICKTAN	37080500213	1
14	Ladakh	KARGIL	CHIKTAN	PS SAMONI	37080500406	1
15	Ladakh	KARGIL	CHIKTAN	MS GUMORJUKS	37080500904	1
16	Ladakh	KARGIL	CHIKTAN	MS PHOSA	37080501306	1
				SSA PS FRAITH		
17	Ladakh	KARGIL	SANKOO	SANKOO	37080600112	1
				SSA PS KHATOD		
18	Ladakh	KARGIL	SANKOO	СНОМІК	37080600113	1
				SSA PS TOLO		
19	Ladakh	KARGIL	SANKOO	THANG	37080601708	1
20	T - J -]]	VADCU	CANKOO	PS THUSGAM	27000(0200)	1
20	Ladakh	KARGIL	SANKOO	GOUND	37080602006	1

Secondary List of Approved Schools in Drinking Water

						Drinking
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Water
1	Ladakh	KARGIL	KARGIL	HS BAROO	37080100310	1
2	Ladakh	KARGIL	KARGIL	H S LALONG	37080101801	1
3	Ladakh	KARGIL	CHIKTAN	HS Y-KHARBO	37080500302	1
4	Ladakh	KARGIL	CHIKTAN	HS HAGNIS	37080500605	1
5	Ladakh	KARGIL	CHIKTAN	HS SAMRAH	37080501205	1
6	Ladakh	KARGIL	SANKOO	HS BARTO(RMSA)	37080601004	1

Higher Secondary List of Approved schools in Drinking Water

						Drinking
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Water
1	Ladakh	KARGIL	KARGIL	HSS CHOSKOR	37080100605	1
2	Ladakh	KARGIL	ZANSKAR	HSS PHEY	37080201701	1

Elementary List of Approved schools in Boundary wa	11
--	----

						boundary
S.No	state_name	district_name	block_name	school_name	udise_sch_code	wall
		LEH				
1	Ladakh	(LADAKH)	KHALTSE	M/S DHA	37070200101	1
		LEH				
2	Ladakh	(LADAKH)	KHALTSE	P/S KURAMBIG	37070200602	1
		LEH		M/S DOMKHAR		
3	Ladakh	(LADAKH)	KHALTSE	BARMA	37070200604	1
		LEH				
4	Ladakh	(LADAKH)	KHALTSE	M/S SASPOL	37070201403	1
		LEH		/		
5	Ladakh	(LADAKH)	KHALTSE	P/S HANURONG	37070202402	1
		LEH				1
6	Ladakh	(LADAKH)	KHARU	P/S LANKOR	37070300303	1
		LEH				1
7	Ladakh	(LADAKH)	KHARU	M/S PHUKTSE	37070300402	1
		LEH				1
8	Ladakh	(LADAKH)	KHARU	P/S MIRU	37070300601	1
		LEH				1
9	Ladakh	(LADAKH)	LEH	P/S THANKAR	37070400203	1
		LEH				1
10	Ladakh	(LADAKH)	LEH	M/S TUNGLUNG	37070400405	
		LEH				1
11	Ladakh	(LADAKH)	LEH	GMS CHUSGO FIANG	37070400802	I
		LEH				1
12	Ladakh	(LADAKH)	LEH	P/S THANGNAK	37070400804	1
		LEH				1
13	Ladakh	(LADAKH)	LEH	M/S SPITUK	37070400901	1
		LEH				1
14	Ladakh	(LADAKH)	LEH	P/S SPITUK PHARKA	37070400902	-
		LEH				1
15	Ladakh	(LADAKH)	LEH	P/S PALAM	37070400903	
		LEH		D /G IDEV GOI OVEV	00000000	1
16	Ladakh	(LADAKH)	LEH	P/S IBEX COLONEY	37070400912	
4 17	T - J -]]	LEH			27070400045	1
17	Ladakh	(LADAKH)	LEH	P/S SPITUK	37070400915	
10	Ladalah	LEH			27070401002	1
18	Ladakh	(LADAKH)	LEH	P/S SABOO PHOO	37070401002	
10	Ladalah	LEH		M/CAVILCADOO	27070401002	1
19	Ladakh	(LADAKH) LEH	LEH	M/S AYU SABOO	37070401003	
20	Ladakh	LEH (LADAKH)	LEH	M/S NANG	37070401101	1
20		LEH			37070401101	
21	Ladakh	(LADAKH)	LEH	M/S SHEY YOKNOS	37070401202	1
		LEH		P/S KILIBUK	37070401202	1
22	Ladakh	LEN	LEH	r/3 NILIDUN	3/0/0401302	1

S.No	state_name	district_name	block_name	school_name	udise_sch_code	boundary wall
		(LADAKH)				
23	Ladakh	LEH (LADAKH)	LEH	P/S STAKMO	37070401307	1
24	Ladakh	LEH (LADAKH)	LEH	M/S RAMBIRPUR	37070401401	1
25	Ladakh	LEH (LADAKH)	LEH	P/S STOK RUTOO	37070401703	1
26	Ladakh	LEH (LADAKH)	LEH	M/S TASHI THONGSMON	37070401807	1
27	Ladakh	LEH (LADAKH)	LEH	P/S ZAMCHUNG	37070401808	1
28	Ladakh	LEH (LADAKH)	LEH	P/S CHILLING	37070401901	1
29	Ladakh	LEH (LADAKH)	LEH	P/S SUMDA DO	37070401902	1
30	Ladakh	LEH (LADAKH)	LEH	P/S HANKAR	37070402003	1
31	Ladakh	LEH (LADAKH)	LEH	P/S CHUCHOT SHAMMA	37070402101	1
32	Ladakh	LEH (LADAKH)	LEH	M/S YARLOK	37070402202	1
33	Ladakh	LEH (LADAKH)	LEH	M/S ALCHIRONG	37070402203	1
34	Ladakh	LEH (LADAKH)	LEH	P/S BASGORONG	37070402205	1
35	Ladakh	LEH (LADAKH)	LEH	P/S JARAMANDI	37070402207	1
36	Ladakh	LEH (LADAKH)	LEH	P/S STAKNA	37070402401	1
37	Ladakh	LEH (LADAKH)	LEH	GOVT P/S TUKCHA	37070402503	1
38	Ladakh	LEH (LADAKH)	LEH	GOVTM/S GANGLAS	37070402504	1
39	Ladakh	LEH (LADAKH)	LEH	GOVT M/S LEH	37070402506	1
40	Ladakh	LEH (LADAKH)	LEH	GOVT M/S SKARA	37070402507	1
41	Ladakh	LEH (LADAKH)	NUBRA	M/S BOGDANG	37070500501	1
42	Ladakh	LEH (LADAKH)	NUBRA	M/S WARIS	37070500603	1
43	Ladakh	LEH (LADAKH)	NUBRA	M/S KURI	37070500806	1
44	Ladakh	LEH (LADAKH)	NUBRA	M/S TONGSTED	37070500901	1

S.No	state_name	district_name	block_name	school_name	udise_sch_code	boundary wall
45	Ladakh	LEH (LADAKH)	NUBRA	P/S KHEMI	37070500905	1
43	Lauakii	LEH	NUDIXA		37070300903	
46	Ladakh	(LADAKH)	NUBRA	PS SUNUDHO	37070501204	1
		LEH				1
47	Ladakh	(LADAKH)	NUBRA	P/S LARGAYB GONGMA	37070501402	-
48	Ladakh	LEH (LADAKH)	NUBRA	M/S SKAMPUK	37070501501	1
40	Lauakii	LEH	NUDKA	M/S SKAMF OK	37070301301	
49	Ladakh	(LADAKH)	NUBRA	M/S CHAMSHEN	37070502001	1
		LEH				1
50	Ladakh	(LADAKH)	NUBRA	P/S YOULKHAM	37070502104	1
- 4		LEH			25050(00004	1
51	Ladakh	(LADAKH)	NYOMA	M/S TUKLA	37070600201	
52	Ladakh	LEH (LADAKH)	NYOMA	M/S TERI PHO	37070600402	1
52	Lauakii	LEH	NIOMA		37070000402	
53	Ladakh	(LADAKH)	NYOMA	M/S HEMYA	37070600502	1
		LEH		,		1
54	Ladakh	(LADAKH)	NYOMA	P/S KUMDOK	37070600801	1
		LEH		- /2		1
55	Ladakh	(LADAKH)	NYOMA	P/S SRIYUL	37070600803	
56	Ladakh	LEH (LADAKH)	NYOMA	P/S KESSAR	37070600901	1
50	Lauakii	LEH	NIOMA	I / S KESSAK	37070000901	
57	Ladakh	(LADAKH)	NYOMA	M/S NIDDAR	37070601302	1
		LEH				1
58	Ladakh	(LADAKH)	NYOMA	P/S NAGA ANLAY	37070601504	1
		LEH				1
59	Ladakh	(LADAKH)	NYOMA	P/S BUK ANLAY	37070601505	-
60	Ladalth	LEH			37070601601	1
60	Ladakh	(LADAKH) LEH	NYOMA	M/S KUYOUL	37070001001	
61	Ladakh	(LADAKH)	NYOMA	P/S CHARGOG TSAGA	37070601701	1
62	Ladakh	KARGIL	KARGIL	MS GOUND HARDAS	37080101001	1
63	Ladakh	KARGIL	KARGIL	MS KHUNDA	37080101202	1
64	Ladakh	KARGIL	KARGIL	LHS BATALIK	37080101806	1
65	Ladakh	KARGIL	ZANSKAR	MS AKSHOW	37080200101	1
66	Ladakh	KARGIL	ZANSKAR	MS TANGZAY	37080200203	1
67	Ladakh	KARGIL	ZANSKAR	MS RANTAKSHA	37080200801	1
68	Ladakh	KARGIL	ZANSKAR	MS ATTING	37080200901	1
69	Ladakh	KARGIL	ZANSKAR	MS L-REGING	37080201802	1
70	Ladakh	KARGIL	ZANSKAR	MS SANI	37080201902	1
71	Ladakh	KARGIL	ZANSKAR	MS SALAPI	37080202002	1

S.No	state_name	district_name	block_name	school_name	udise_sch_code	boundary wall
72	Ladakh	KARGIL	ZANSKAR	PS UFTI	37080202202	1
				SSA PS SHAGRAN		1
73	Ladakh	KARGIL	DRASS	GOSHAN	37080301207	
74	Ladakh	KARGIL	DRASS	MS LAMOCHAN	37080301608	1
75	Ladakh	KARGIL	DRASS	BPS BHIMBET	37080301705	1
76	Ladakh	KARGIL	DRASS	KGBV DRASS	37080301709	1
77	Ladakh	KARGIL	DRASS	MS NOWPORA	37080301801	1
78	Ladakh	KARGIL	TAISURU	MS FAROL	37080400103	1
79	Ladakh	KARGIL	TAISURU	PS STOKJUK	37080400104	1
80	Ladakh	KARGIL	TAISURU	PS KHICHORE	37080400805	1
81	Ladakh	KARGIL	TAISURU	MS THANGBOO	37080400807	1
82	Ladakh	KARGIL	TAISURU	PS PURTIKCHY	37080400901	1
83	Ladakh	KARGIL	TAISURU	MS DAMSNA	37080400903	1
84	Ladakh	KARGIL	TAISURU	MS NAMSURU	37080401004	1
85	Ladakh	KARGIL	TAISURU	MS KARGE	37080401201	1
86	Ladakh	KARGIL	TAISURU	MS KHOWS	37080401404	1
87	Ladakh	KARGIL	TAISURU	PS DALCHY	37080401502	1
88	Ladakh	KARGIL	CHIKTAN	GMS SHAKAR	37080500402	1
89	Ladakh	KARGIL	CHIKTAN	MS SANJAK	37080501304	1
90	Ladakh	KARGIL	CHIKTAN	MS PHOSA	37080501306	1
91	Ladakh	KARGIL	SANKOO	MS CHYCHSNA	37080600106	1
92	Ladakh	KARGIL	SANKOO	MS KHANDI	37080600902	1
93	Ladakh	KARGIL	SANKOO	MS TABCHE	37080600903	1
94	Ladakh	KARGIL	SANKOO	SSA PS GAMATING	37080600906	1
95	Ladakh	KARGIL	SANKOO	MS LANKARCHY BROQ	37080601301	1
96	Ladakh	KARGIL	SANKOO	MS SHAGARAN	37080601608	1
97	Ladakh	KARGIL	SANKOO	SSA PS ZAMBAKHA	37080601612	1
98	Ladakh	KARGIL	SANKOO	GMS SALISKOTE	37080601702	1
99	Ladakh	KARGIL	SANKOO	MS GOMA SALISKOTE	37080601703	1
100	Ladakh	KARGIL	SANKOO	PS MARPODOKS	37080601711	1
101	Ladakh	KARGIL	SANKOO	PS IQBAL COLONY SALISKOTE	37080601712	1
102	Ladakh	KARGIL	SANKOO	MS GASKAL	37080601804	1
103	Ladakh	KARGIL	SANKOO	MS FARONA	37080601901	1
104	Ladakh	KARGIL	SANKOO	MS BRAKO	37080602005	1
105	Ladakh	KARGIL	SHARGOLE	MS GRONG	37080700108	1
106	Ladakh	KARGIL	SHARGOLE	MS PASBRCHY	37080700202	1
107	Ladakh	KARGIL	SHARGOLE	MS FOKAR FOO	37080700402	1
108	Ladakh	KARGIL	SHARGOLE	MS CHATITHANG	37080700609	1
109	Ladakh	KARGIL	SHARGOLE	MS TINDO	37080701001	1

S.No	state_name	district_name	block_name	school_name	udise_sch_code	ELECTRICITY
				M/S		
		LEH		ACHINATHANG		
1	Ladakh	(LADAKH)	KHALTSE	YOGMA	37070200507	1
		LEH				
2	Ladakh	(LADAKH)	KHARU	P/S NAKDAN	37070300803	1
		LEH				
3	Ladakh	(LADAKH)	NYOMA	M/S KUYOUL	37070601601	1

Elementary List of Approved schools in ELECTRICITY

Elementary List of Approved schools in Major Repair

S.No	state_name	district_name	block_name	school_name	udise_sch_code	Major repair
0.110	State_name	LEH	bioen_nume	Jenoor_nume	uuise_sen_eoue	
1	Ladakh	(LADAKH)	KHALTSE	P/S KAPTO	37070200702	3
		LEH				
2	Ladakh	(LADAKH)	KHALTSE	P/S SHILA	37070201601	2
		LEH				3
3	Ladakh	(LADAKH)	LEH	M/S SPITUK	37070400901	3
		LEH				2
4	Ladakh	(LADAKH)	LEH	P/S SABOO PHOO	37070401002	2
		LEH				2
5	Ladakh	(LADAKH)	LEH	P/S NERMA	37070401304	2
		LEH		P/S CHUCHOT		6
6	Ladakh	(LADAKH)	LEH	SHAMMA	37070402101	0
		LEH				3
7	Ladakh	(LADAKH)	LEH	M/S YARLOK	37070402202	5
		LEH				1
8	Ladakh	(LADAKH)	NUBRA	M/S CHANGMAR	37070500506	-
		LEH				3
9	Ladakh	(LADAKH)	NUBRA	M/S WARIS	37070500603	5
		LEH		- /		2
10	Ladakh	(LADAKH)	NUBRA	P/S BURMA	37070500907	
		LEH				3
11	Ladakh	(LADAKH)	NYOMA	M/S TUKLA	37070600201	
10		LEH		D /0 WINIGWAN DUO	2525260202	1
12	Ladakh	(LADAKH)	NYOMA	P/S KUNGYAM DHO	37070600302	
10	Tadalah	LEH			27070(01202	1
13	Ladakh	(LADAKH)	NYOMA	M/S NYOMA	37070601303	
14	Ladakh	LEH (LADAKH)	NYOMA		37070601401	2
		,		M/S MUDH		1
15	Ladakh	KARGIL	SANKOO	PS THAMA	37080600111	1
16	Ladakh	KARGIL	SANKOO	SSA PS KHATOD CHOMIK	37080600113	1
10	Lauakii	KAKGIL	JANKUU	MS SANGRAH	37080600113	
17	Ladakh	KARGIL	SANKOO	THANG	37080600205	1
17	Lauakii	NANGIL	SANKUU	IIIANG	3700000205	

						Major
S.No	state_name	district_name	block_name	school_name	udise_sch_code	repair
18	Ladakh	KARGIL	SANKOO	MS YARCHOKS	37080600806	1
19	Ladakh	KARGIL	SANKOO	MS HAMBURTIK	37080600808	1
20	Ladakh	KARGIL	SANKOO	MS SHARGANDIK	37080601101	1
				MS LANKARCHY		1
21	Ladakh	KARGIL	SANKOO	THANG	37080601303	1
22	Ladakh	KARGIL	SANKOO	SSA PS DANGA	37080601309	1
23	Ladakh	KARGIL	SANKOO	SSA PS GAMATOO	37080601312	1
24	Ladakh	KARGIL	SANKOO	SSA PS ZAMBAKHA	37080601612	1
25	Ladakh	KARGIL	SANKOO	PS THUSGAM GOUND	37080602006	1
26	Ladakh	KARGIL	SHARGOLE	MS CHATITHANG	37080700609	1
27	Ladakh	KARGIL	SHARGOLE	PS MULBEKH	37080700610	1
28	Ladakh	KARGIL	SHARGOLE	MS BROK LONGMA	37080700708	1

Secondary & Higher Secondary List of Approved schools in Major Repair

S.No	state_name	district_name	block_name	school_name	udise_sch_code	Major repair
				GOVT. GIRLS		
				HR. SEC. SCH.		
1	Ladakh	KARGIL	KARGIL	KARGIL	37080100127	1
				GOVT. HR. SEC.		
				SCH.		
2	Ladakh	KARGIL	KARGIL	YOURBALTAK	37080101310	2
				HSS		
3	Ladakh	KARGIL	SANKOO	LANKERCHY	37080601306	1
				GOVT. HIGHER		
				SECONDARY,		
4	Ladakh	KARGIL	SANKOO	TRESPONE	37080601617	1

Elementary List of Approved schools in Furniture

S.No	state_name	district_name	block_name	school_name	udise_sch_code	FURNITURE			
		LEH							
1	Ladakh	(LADAKH)	DURBUK	M/S TIALING	37070100104	4			
		LEH							
2	Ladakh	(LADAKH)	DURBUK	M/S LAGA	37070100202	3			
		LEH		M/S					
3	Ladakh	(LADAKH)	DURBUK	SHACHUKUL	37070100402	2			
		LEH							
4	Ladakh	(LADAKH)	DURBUK	M/S THARUK	37070100404	14			
		LEH							
5	Ladakh	(LADAKH)	DURBUK	M/S IRATH	37070100407	1			
		LEH		KGBV					
6	Ladakh	(LADAKH)	DURBUK	DURBUK	37070100411	12			

S.No	state_name	district_name	block_name	school_name	udise_sch_code	FURNITURE
		LEH				
7	Ladakh	(LADAKH)	KHALTSE	M/S SANITH	37070200102	5
		LEH		M/S		
8	Ladakh	(LADAKH)	KHALTSE	SKURBUCHAN	37070200504	10
		LEH				
9	Ladakh	(LADAKH)	KHALTSE	M/S URBIS	37070200608	1
-		LEH		M/S		
10	Ladakh	(LADAKH)	KHALTSE	ТАКМАСНІК	37070200801	4
		LEH				
11	Ladakh	(LADAKH)	KHALTSE	M/S KHALTSE	37070201001	5
	Luuuiii	LEH		M/S	07070201001	0
12	Ladakh	(LADAKH)	KHALTSE	SASPOCHEY	37070201101	1
	Luuuiii	LEH		M/S	0,0,0201101	-
13	Ladakh	(LADAKH)	KHALTSE	SKONGSHAT	37070201202	1
	Luuuiii	LEH			0,0,0201202	-
14	Ladakh	(LADAKH)	KHALTSE	M/S ALCHI	37070201502	2
	Lucum	LEH			0,0,0201002	
15	Ladakh	(LADAKH)	KHALTSE	M/S KANJI	37070201902	4
	Lucum	LEH			0,0,0201,02	1
16	Ladakh	(LADAKH)	KHARU	M/S TAKNAK	37070300102	17
10	Lucum	LEH		M/S POKTSA	57070500102	17
17	Ladakh	(LADAKH)	KHARU	IGOO	37070300302	1
17	Lucum	LEH		1000	57070500502	1
18	Ladakh	(LADAKH)	KHARU	M/S PHUKTSE	37070300402	3
10	Lauaim	LEH	Minito	MJSTHORISE	57070500102	5
19	Ladakh	(LADAKH)	KHARU	M/S SHANG	37070300801	1
17	Lucum	LEH		NI/ B BIIIII d	57070500001	1
20	Ladakh	(LADAKH)	KHARU	M/S GIA	37070301102	5
20	Lucum	LEH			57070501102	5
21	Ladakh	(LADAKH)	LEH	M/S NEY	37070400201	2
	Luuum	LEH		M/S	07070100201	
22	Ladakh	(LADAKH)	LEH	TUNGLUNG	37070400405	3
	Buddhi	LEH		rondlond	5, 6, 6 100 105	
23	Ladakh	(LADAKH)	LEH	M/S SPITUK	37070400901	7
	Junanni	LEH		M/S SHEY	5, 5, 5, 5, 100, 01	,
24	Ladakh	(LADAKH)	LEH	YOKNOS	37070401202	5
	uuunii	LEH		M/S	0,0,0101202	<u></u>
25	Ladakh	(LADAKH)	LEH	RAMBIRPUR	37070401401	5
	Luuuiii	LEH		M/S TASHI	0,0,0101101	5
26	Ladakh	(LADAKH)	LEH	GATSAL	37070401502	3
	Junanni	LEH		5111 UIIL	0.070101002	<u> </u>
27	Ladakh	(LADAKH)	LEH	M/S KUZEY	37070401802	8
	Junanni	LEH		M/S TASHI	0,0,0101002	Ŭ Ŭ
28	Ladakh	(LADAKH)	LEH	THONGSMON	37070401807	3
20	Luuumi	LEH			57070101007	5
29	Ladakh	(LADAKH)	LEH	M/S YARLOK	37070402202	6
<u> </u>	Lauami	נשטאמניים		MI STANLOK	57070402202	U

S.No	state_name	district_name	block_name	school_name	udise_sch_code	FURNITURE
		LEH		M/S		
30	Ladakh	(LADAKH)	LEH	ALCHIRONG	37070402203	6
		LEH		GOVTM/S		
31	Ladakh	(LADAKH)	LEH	GANGLAS	37070402504	4
		LEH		GOVT M/S		
32	Ladakh	(LADAKH)	LEH	SKARA	37070402507	13
		LEH		M/S TURTUK		
33	Ladakh	(LADAKH)	NUBRA	FAROL	37070500302	25
		LEH				
34	Ladakh	(LADAKH)	NUBRA	M/S WARIS	37070500603	6
		LEH		M/S ARANOO		
35	Ladakh	(LADAKH)	NUBRA	GOKMA	37070500902	3
		LEH				
36	Ladakh	(LADAKH)	NUBRA	M/S KUBET	37070500903	1
		LEH				
37	Ladakh	(LADAKH)	NUBRA	M/S SKURU	37070501301	1
		LEH		M/S BOYS		
38	Ladakh	(LADAKH)	NUBRA	DISKIT	37070501901	2
		LEH		M/S		
39	Ladakh	(LADAKH)	NUBRA	CHAMSHEN	37070502001	2
		LEH				
40	Ladakh	(LADAKH)	NUBRA	M/S TIGGER	37070502101	5
		LEH				
41	Ladakh	(LADAKH)	NUBRA	M/S KHALSR	37070502401	3
		LEH				
42	Ladakh	(LADAKH)	NUBRA	M/S DIGGER	37070502605	2
		LEH				
43	Ladakh	(LADAKH)	NYOMA	M/S TERI PHO	37070600402	1
		LEH				
44	Ladakh	(LADAKH)	NYOMA	M/S HEMYA	37070600502	1
		LEH				
45	Ladakh	(LADAKH)	NYOMA	M/S TARCHIT	37070600601	1
		LEH		M/S		
46	Ladakh	(LADAKH)	NYOMA	SKITMANG	37070600902	2
		LEH				
47	Ladakh	(LADAKH)	NYOMA	M/S NYOMA	37070601303	3
		LEH				
48	Ladakh	(LADAKH)	NYOMA	M/S TSAGA	37070601402	2
				M S BAGH E		
49	Ladakh	KARGIL	KARGIL	KHOMENI	37080101901	8
50	Ladakh	KARGIL	DRASS	MS BEARASS	37080302102	5
				MS GREEP		
51	Ladakh	KARGIL	CHIKTAN	HAGNIS	37080500606	1
52	Ladakh	KARGIL	SANKOO	MS STAKPA	37080600404	6
53	Ladakh	KARGIL	SHARGOLE	MS ANDO	37080700102	5

S.No	state_name	district_name	block_name	school_name	udise_sch_code	FURNITURE
				MS		
54	Ladakh	KARGIL	SHARGOLE	KURBATHANG	37080700103	4

Elementary List of Approved schools in Ramp & Handrail

	state_nam	district_nam			udise_sch_cod	RAM
S. No	е	е	block_name	school_name	е	Р
1	Ladakh	KARGIL	DRASS	MS NOWPORA	37080301801	1
2	Ladakh	KARGIL	TAISURU	MS BRAKDOQ	37080400101	1
				SSA PS		
				KHATOD		
3	Ladakh	KARGIL	SANKOO	СНОМІК	37080600113	1
				MS		
4	Ladakh	KARGIL	SANKOO	THSNGBOO	37080600401	1
5	Ladakh	KARGIL	SANKOO	PS SHATO	37080600403	1
				MS GOMA		
6	Ladakh	KARGIL	SANKOO	SALISKOTE	37080601703	1
				PS		
7	Ladakh	KARGIL	SANKOO	MARPODOKS	37080601711	1

Elementary List of Approved schools in DILAPIDATED -PS

S.No	state_name	district_name	block_name	school_name	udise_sch_code	DILAPIDATED
		LEH				1
1	Ladakh	(LADAKH)	DURBUK	PS Chibra	37070100107	1
		LEH				1
2	Ladakh	(LADAKH)	DURBUK	PS Kargyam Burma	37070100109	1
		LEH				1
3	Ladakh	(LADAKH)	DURBUK	P/S MODE	37070100201	1
		LEH				1
4	Ladakh	(LADAKH)	DURBUK	P/S NEMGO	37070100203	1
		LEH				1
5	Ladakh	(LADAKH)	DURBUK	P/S RELLAY	37070100204	1
		LEH				1
6	Ladakh	(LADAKH)	NYOMA	P/S SRIYUL	37070600803	1
		LEH				1
7	Ladakh	(LADAKH)	NYOMA	P/S LOMA	37070601305	1
		LEH		P/S TSONGA		1
8	Ladakh	(LADAKH)	NYOMA	KHARU	37070601309	1
		LEH				1
9	Ladakh	(LADAKH)	NYOMA	P/S SHADO	37070601503	I
		LEH				1
10	Ladakh	(LADAKH)	NYOMA	P/S NAGA ANLAY	37070601504	l

		LEH				.
11	Ladakh	(LADAKH)	NYOMA	P/S BUK ANLAY	37070601505	1
12	Ladakh	KARGIL	KARGIL	PS Hitto	37080100114	1
13	Ladakh	KARGIL	KARGIL	PS SPANGLUNG	37080100806	1
14	Ladakh	KARGIL	KARGIL	PS HUNDARMAN	37080100904	1
15	Ladakh	KARGIL	ZANSKAR	PS HONGCHAT	37080203001	1
16	Ladakh	KARGIL	DRASS	PS ASH GROOM	37080300205	1
17	Ladakh	KARGIL	DRASS	PS SUMAT	37080300302	1
18	Ladakh	KARGIL	DRASS	PS DANDAL THANG	37080300602	1
19	Ladakh	KARGIL	DRASS	PS KHARENO PORA MUSHKOO	37080300802	1
20	Ladakh	KARGIL	DRASS	PS GATO Goshan	37080300802	1
20	Lauakii	KAKUL	DRASS	SSA PS SHAGRAN	37080301205	1
21	Ladakh	KARGIL	DRASS	GOSHAN	37080301207	1
22	Ladakh	KARGIL	DRASS	SSA PS JOLOLO	37080301208	1
23	Ladakh	KARGIL	DRASS	SSA PS NAGOPORA	37080301405	1
24	Ladakh	KARGIL	DRASS	BPS BHIMBET	37080301705	1
25	Ladakh	KARGIL	DRASS	RT PS KHANDIYAL	37080302107	1
				SSA PS SYEED		1
26	Ladakh	KARGIL	DRASS	MOHALLA	37080302202	
27	Ladakh	KARGIL	CHIKTAN	P/S CHARCHAN	37080500609	1
28	Ladakh	KARGIL	CHIKTAN	PS MONMOLONG	37080500909	1
29	Ladakh	KARGIL	SANKOO	PS SHATO	37080600403	1
30	Ladakh	KARGIL	SANKOO	PS PANBER BROK	37080601002	1
31	Ladakh	KARGIL	SANKOO	SSA PS YOKMATOO	37080601308	1
32	Ladakh	KARGIL	SANKOO	SSA PS DANGA	37080601309	1
33	Ladakh	KARGIL	SANKOO	SSA PS GRONG LANKERCHAY	37080601311	1
34	Ladakh	KARGIL	SANKOO	SSA PS GAMATOO	37080601312	1
	Ladakh	KARGIL	SANKOO	PS GONPAKHAR	37080601401	1
36	Ladakh	KARGIL	SANKOO	SSA PS ZAMBAKHA	37080601612	1
				SSA PS TOLO		1
37	Ladakh	KARGIL	SANKOO	THANG	37080601708	
38	Ladakh	KARGIL	SANKOO	PS PASHIPI THANG	37080601710	1
39	Ladakh	KARGIL	SANKOO	PS MARPODOKS	37080601711	1
40	Ladakh	KARGIL	SANKOO	PS Yakmakoron	37080601807	1
41	Ladakh	KARGIL	SANKOO	PS KAMUTHUL	37080602001	1
42	Ladakh	KARGIL	SANKOO	PS THUSGAM GOUND	37080602006	1

Elementary List of Approved schools in DILAPIDATED - UPS

S.No	state_name	district_name	block_name	school_name	udise_sch_code	DILAPIDATED
		LEH				1
1	Ladakh	(LADAKH)	DURBUK	M/S TIALING	37070100104	1

S.No	state_name	district_name	block_name	school_name	udise_sch_code	DILAPIDATED
		LEH				1
2	Ladakh	(LADAKH)	DURBUK	MS Kherapullu	37070100108	-
	Ladalah	LEH	עווססווס	MISIACA	27070100202	1
3	Ladakh	(LADAKH) LEH	DURBUK	M/S LAGA	37070100202	
4	Ladakh	LEH (LADAKH)	DURBUK	M/S SHAYOK	37070100207	3
1	Lauan	LEH	DORDOR	MySSIMION	37070100207	
5	Ladakh	(LADAKH)	KHALTSE	M/S SANITH	37070200102	1
		LEH		,		1
6	Ladakh	(LADAKH)	KHALTSE	M/S URBIS	37070200608	1
_		LEH				1
7	Ladakh	(LADAKH)	NYOMA	KGBV/NYOMA	37070601307	-
8	Ladakh	LEH (LADAKH)	NYOMA		37070601401	1
Ö	Lauakii	LEH		M/S MUDH	37070001401	
9	Ladakh	(LADAKH)	NYOMA	M/S TSAGA	37070601402	1
		LEH			2.2,0001102	1
10	Ladakh	(LADAKH)	NYOMA	M/S PONGUG	37070601506	1
		LEH				1
11	Ladakh	(LADAKH)	NYOMA	M/S KUYOUL	37070601601	
12	Ladakh	KARGIL	KARGIL	MS BALTIKHAR	37080100802	1
13	Ladakh	KARGIL	KARGIL	MS STENGS	37080101302	1
14	Ladakh	KARGIL	ZANSKAR	MS AKSHOW	37080200101	1
15	Ladakh	KARGIL	ZANSKAR	MS TANGZAY	37080200203	1
16	Ladakh	KARGIL	ZANSKAR	MS TESTA	37080200207	1
17	Ladakh	KARGIL	ZANSKAR	MS ABRAN	37080200701	1
18	Ladakh	KARGIL	ZANSKAR	MS RANTAKSHA	37080200801	1
19	Ladakh	KARGIL	ZANSKAR	MS ATTING	37080200901	1
20	Ladakh	KARGIL	ZANSKAR	MS L-REGING	37080201802	1
21	Ladakh	KARGIL	ZANSKAR	MS SANI	37080201902	1
22	Ladakh	KARGIL	ZANSKAR	MS SALAPI	37080202002	1
23	Ladakh	KARGIL	ZANSKAR	BMS PADUM	37080202102	1
24	Ladakh	KARGIL	ZANSKAR	MS KARGAIK	37080202901	1
25	Ladakh	KARGIL	DRASS	MS DOKS	37080300502	1
26	Ladakh	KARGIL	DRASS	MS JUSGOUND	37080300603	1
27	Ladakh	KARGIL	DRASS	MS THROUNGOUS	37080300701	1
28	Ladakh	KARGIL	DRASS	MS HOLIYAL	37080300901	1
29	Ladakh	KARGIL	DRASS	MS MATAYAN	37080301001	1
30	Ladakh	KARGIL	DRASS	MS GOSHAN	37080301202	1
31	Ladakh	KARGIL	DRASS	MS LAMMAR	37080301211	1
20	Ladalah	VADCII		MS	27000201212	1
32	Ladakh	KARGIL	DRASS	HONTOUSGRONG	37080301212	1
33	Ladakh	KARGIL	DRASS	MS THRONGUN	37080301401	1
34	Ladakh	KARGIL	DRASS	GIRLS MS BHIMBET	37080301702	1

S.No	state_name	district_name	block_name	school_name	udise_sch_code	DILAPIDATED
35	Ladakh	KARGIL	DRASS	MS NOWPORA	37080301801	1
36	Ladakh	KARGIL	TAISURU	MS KHARPOKHAR	37080400701	1
37	Ladakh	KARGIL	CHIKTAN	MS SAPI	37080500401	1
38	Ladakh	KARGIL	CHIKTAN	MS LAMSU	37080500502	1
39	Ladakh	KARGIL	CHIKTAN	MS SAMRAH LONGMA	37080501201	1
40	Ladakh	KARGIL	CHIKTAN	MS SANJAK	37080501304	1
41	Ladakh	KARGIL	SANKOO	MS THSNGBOO	37080600401	1
42	Ladakh	KARGIL	SANKOO	MS MADH	37080600402	1
43	Ladakh	KARGIL	SANKOO	MS YARCHOKS	37080600806	1
44	Ladakh	KARGIL	SANKOO	MS SHARGANDIK	37080601101	1
45	Ladakh	KARGIL	SANKOO	MS LANKARCHY BROQ	37080601301	1
46	Ladakh	KARGIL	SANKOO	MS LANKARCHY THANG	37080601303	1
47	Ladakh	KARGIL	SANKOO	MS GOMATAMBIS	37080601404	1
48	Ladakh	KARGIL	SANKOO	MS MARPOTHANG	37080601606	1
49	Ladakh	KARGIL	SANKOO	MS MIRKHOR	37080601614	1
50	Ladakh	KARGIL	SANKOO	GMS SALISKOTE	37080601702	1
51	Ladakh	KARGIL	SANKOO	MS GOMA SALISKOTE	37080601703	1
52	Ladakh	KARGIL	SANKOO	MS LONGJUK	37080601704	1
53	Ladakh	KARGIL	SANKOO	MS YUKMA SALISKOTE	37080601707	1
54	Ladakh	KARGIL	SANKOO	MS FARONA	37080601901	1
55	Ladakh	KARGIL	SANKOO	MS THOVINA	37080602003	1

Secondary List of Approved Schools in Science Lab

S.No	state_name	district_name	block_name	school name	udise_sch_code	Science Lab
		LEH				1
1	Ladakh	(LADAKH)	NYOMA	HS ANLAY	37070601502	1
2	Ladakh	KARGIL	TAISURU	HS YOULJUK	37080400801	1
3	Ladakh	KARGIL	SHARGOLE	HS SKIMBO	37080700502	1

	Secondary List of Approved Schools in Library									
						library				
S.No	state_name	district_name	block_name	school_name	udise_sch_code	room				
		LEH				1				
1	Ladakh	(LADAKH)	KHARU	H/S IGOO	37070300301	1				
2	Ladakh	LEH	LEH	H/S FIANG	37070400801	1				

Secondary List of Approved Schools in Library

S.No	state_name	district_name	block_name	school_name	udise_sch_code	library room
		(LADAKH)				
3	Ladakh	KARGIL	TAISURU	HS YOULJUK	37080400801	1

Secondary List of Approved Schools in Computer Room

							computer
S	S.No	state_name	district_name	block_name	school_name	udise_sch_code	room
	1	Ladakh	KARGIL	CHIKTAN	HS BODH KHARBO	37080500702	1
	2	Ladakh	KARGIL	SHARGOLE	HS SKIMBO	37080700502	1
	3	Ladakh	KARGIL	SHARGOLE	HS KHACHEY	37080700901	1

Secondary List of Approved Schools in Art & Craft

						Art/Craft
S.No	state_name	district_name	block_name	school_name	udise_sch_code	ROOM
1	Ladakh	KARGIL	DRASS	HS PANDRASS	37080302005	1
2	Ladakh	KARGIL	TAISURU	HS YOULJUK	37080400801	1
3	Ladakh	KARGIL	TAISURU	GHS PANIKHAR	37080401501	1

Elementary List of Approved schools in Solar Panel for Schools

						SOLAR
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Panel
		LEH				
1	Ladakh	(LADAKH)	KHALTSE	M/S DHA	37070200101	1
		LEH				
2	Ladakh	(LADAKH)	NUBRA	M/S KURI	37070500806	1
		LEH				
3	Ladakh	(LADAKH)	NUBRA	M/S TERCHEY	37070501201	1
		LEH				
4	Ladakh	(LADAKH)	NYOMA	M/S HEMYA	37070600502	1
				M M SCHOOL		
5	Ladakh	KARGIL	KARGIL	KARGIL	37080100101	1
6	Ladakh	KARGIL	KARGIL	PS BALTI BAZAR	37080100111	1
7	Ladakh	KARGIL	KARGIL	PS GOMA AKRGIL	37080100113	1
8	Ladakh	KARGIL	KARGIL	PS Hitto	37080100114	1
9	Ladakh	KARGIL	KARGIL	MS YABGO	37080100115	1
10	Ladakh	KARGIL	KARGIL	MS DASS	37080100120	1
11	Ladakh	KARGIL	KARGIL	PS PISHOO	37080100121	1
12	Ladakh	KARGIL	KARGIL	PS YANGTEE	37080100126	1
13	Ladakh	KARGIL	KARGIL	MS TITI CHUMIK	37080100306	1
14	Ladakh	KARGIL	KARGIL	PS BIAMATHANG	37080100309	1
15	Ladakh	KARGIL	KARGIL	PS BAROO	37080100311	1

						SOLAR
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Panel
				PS THANG		
16	Ladakh	KARGIL	KARGIL	YOUKHMA	37080100314	1
17	Ladakh	KARGIL	KARGIL	PS GRONG MINJI	37080100501	1
18	Ladakh	KARGIL	KARGIL	PS DANGOCHY	37080100502	1
19	Ladakh	KARGIL	KARGIL	MS GOMA MINJI	37080100504	1
20	Ladakh	KARGIL	KARGIL	PS THANG MINJI	37080100507	1
				KGBV MINJI		
21	Ladakh	KARGIL	KARGIL	KARGIL	37080100509	1
22	Ladakh	KARGIL	KARGIL	MS MUTURIK	37080100601	1
23	Ladakh	KARGIL	KARGIL	PS CHAPRING	37080100602	1
24	Ladakh	KARGIL	KARGIL	PS GAWOLO	37080100603	1
25	Ladakh	KARGIL	KARGIL	PS GRONG	37080100604	1
26	Ladakh	KARGIL	KARGIL	MS LOBER	37080100607	1
27	Ladakh	KARGIL	KARGIL	UPS DOKS	37080100608	1
28	Ladakh	KARGIL	KARGIL	PS GONKHA	37080100614	1
				RT PS STARGA		
29	Ladakh	KARGIL	KARGIL	CHOSKORE	37080100620	1
30	Ladakh	KARGIL	KARGIL	PS FAROL	37080100701	1
31	Ladakh	KARGIL	KARGIL	MS BATAMBIS	37080100702	1
32	Ladakh	KARGIL	KARGIL	PS GONGLUM SAPI	37080100803	1
33	Ladakh	KARGIL	KARGIL	PS MARPOYOUL	37080100804	1
34	Ladakh	KARGIL	KARGIL	PS SPANGLUNG	37080100806	1
35	Ladakh	KARGIL	KARGIL	PS HUNDARMAN	37080100904	1
36	Ladakh	KARGIL	KARGIL	PS G.SHILIKCHAY	37080100905	1
37	Ladakh	KARGIL	KARGIL	PS SSA KHAROL	37080101003	1
38	Ladakh	KARGIL	KARGIL	MS MUNTHANG	37080101105	1
39	Ladakh	KARGIL	KARGIL	SSA MUNTYHANG	37080101109	1
				PS KARKIT		
40	Ladakh	KARGIL	KARGIL	BUDGAM	37080101110	1
41	Ladakh	KARGIL	KARGIL	PS K CHOO	37080101112	1
42	Ladakh	KARGIL	KARGIL	MS KHUNDA	37080101202	1
43	Ladakh	KARGIL	KARGIL	PS HARAL	37080101203	1
44	Ladakh	KARGIL	KARGIL	MS MAJDAS	37080101204	1
45	Ladakh	KARGIL	KARGIL	MS LATOO	37080101208	1
				GMS		
46	Ladakh	KARGIL	KARGIL	YOURBALTAK	37080101303	1
47	Ladakh	KARGIL	KARGIL	PS BAIMA	37080101305	1
48	Ladakh	KARGIL	KARGIL	PS GYGKHAR	37080101307	1
				RT PS		
				SHARGARAN		
49	Ladakh	KARGIL	KARGIL	YOURBALTAK	37080101309	1
50	Ladakh	KARGIL	KARGIL	GOVT PRY	37080101311	1

S.No	state_name	district_name	block_name	school_name	udise_sch_code	SOLAR Panel
				SCHOOL GAYLSA		
51	Ladakh	KARGIL	KARGIL	MS TUMAIL	37080101502	1
				G. BOYS MS		
52	Ladakh	KARGIL	KARGIL	AKCHAMAIL	37080101601	1
53	Ladakh	KARGIL	KARGIL	MS MANBOUR	37080101602	1
				PS RONG		
54	Ladakh	KARGIL	KARGIL	AKCHAMAL	37080101603	1
55	Ladakh	KARGIL	KARGIL	PS SSA YOKMA	37080101605	1
56	Ladakh	KARGIL	KARGIL	PS FARMA	37080101608	1
				PS THANGO		
57	Ladakh	KARGIL	KARGIL	APATEE	37080101701	1
58	Ladakh	KARGIL	KARGIL	MS APATE	37080101702	1
59	Ladakh	KARGIL	KARGIL	MS SILMO	37080101802	1
60	Ladakh	KARGIL	KARGIL	MS SABURCHY	37080101805	1
61	Ladakh	KARGIL	KARGIL	LHS BATALIK	37080101806	1
62	Ladakh	KARGIL	KARGIL	MS SSA OLOKHA	37080101807	1
63	Ladakh	KARGIL	KARGIL	MS BERCHY	37080102001	1
64	Ladakh	KARGIL	KARGIL	RT PS YARBARCHAY	37080102002	1
65	Ladakh	KARGIL	KARGIL	RT PS SIRCHANGRAH	37080102204	1
66	Ladakh	KARGIL	KARGIL	MS SANACHY	37080102304	1
				RT PS SPANGS		
67	Ladakh	KARGIL	KARGIL	ТООТН	37080102402	1
68	Ladakh	KARGIL	KARGIL	RT PS ONDUS	37080102801	1
69	Ladakh	KARGIL	KARGIL	PS AJINO PORA KAKSAR	37080300403	1
70	Ladakh	KARGIL	ZANSKAR	MS AKSHOW	37080200101	1
71	Ladakh	KARGIL	ZANSKAR	PS AKSHOW YOKMA	37080200102	1
72	Ladakh	KARGIL	ZANSKAR	MS TESTA	37080200207	1
73	Ladakh	KARGIL	ZANSKAR	MS CHA	37080200301	1
74	Ladakh	KARGIL	ZANSKAR	PS ANMU	37080200302	1
75	Ladakh	KARGIL	ZANSKAR	MS MARLING	37080200403	1
76	Ladakh	KARGIL	ZANSKAR	PS NAMZUR	37080200505	1
77	Ladakh	KARGIL	ZANSKAR	PS TAHAN	37080200602	1
78	Ladakh	KARGIL	ZANSKAR	PS SHAMILING	37080200603	1
79	Ladakh	KARGIL	ZANSKAR	MS ABRAN	37080200701	1
80	Ladakh	KARGIL	ZANSKAR	MS RANTAKSHA	37080200801	1
81	Ladakh	KARGIL	ZANSKAR	MS ATTING	37080200901	1
82	Ladakh	KARGIL	ZANSKAR	MS SHAGAR	37080200902	1
83	Ladakh	KARGIL	ZANSKAR	PS TANKAR	37080200903	1
84	Ladakh	KARGIL	ZANSKAR	MS BAKARCHY	37080201002	1

						SOLAR
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Panel
85	Ladakh	KARGIL	ZANSKAR	MS MANDA	37080201004	1
86	Ladakh	KARGIL	ZANSKAR	MS HIMILING	37080201101	1
87	Ladakh	KARGIL	ZANSKAR	PS YUGAR	37080201304	1
88	Ladakh	KARGIL	ZANSKAR	PS LAROO	37080201403	1
89	Ladakh	KARGIL	ZANSKAR	MS SHUN	37080201501	1
90	Ladakh	KARGIL	ZANSKAR	PS SHADAY	37080201502	1
91	Ladakh	KARGIL	ZANSKAR	MS RALAKUNG	37080201703	1
92	Ladakh	KARGIL	ZANSKAR	PS TOKTA	37080201704	1
93	Ladakh	KARGIL	ZANSKAR	MS L-REGING	37080201802	1
94	Ladakh	KARGIL	ZANSKAR	PS SOU	37080201903	1
95	Ladakh	KARGIL	ZANSKAR	MS STARA	37080202001	1
96	Ladakh	KARGIL	ZANSKAR	GMS PADUM	37080202101	1
97	Ladakh	KARGIL	ZANSKAR	BMS PADUM	37080202102	1
98	Ladakh	KARGIL	ZANSKAR	PS STAKAR	37080202105	1
99	Ladakh	KARGIL	ZANSKAR	PS UBRAK	37080202106	1
100	Ladakh	KARGIL	ZANSKAR	MS SHEELA	37080202107	1
101	Ladakh	KARGIL	ZANSKAR	PS SHILLA PHOO	37080202108	1
102	Ladakh	KARGIL	ZANSKAR	PS KHANGOK	37080202112	1
103	Ladakh	KARGIL	ZANSKAR	PS UFTI	37080202202	1
104	Ladakh	KARGIL	ZANSKAR	PS KISHARAK	37080202205	1
105	Ladakh	KARGIL	ZANSKAR	PS RUKRUK	37080202301	1
106	Ladakh	KARGIL	ZANSKAR	PS NEROK	37080202302	1
107	Ladakh	KARGIL	ZANSKAR	MS YOULANG	37080202503	1
108	Ladakh	KARGIL	ZANSKAR	PS TAMPO	37080202602	1
109	Ladakh	KARGIL	ZANSKAR	MS PISHU	37080202603	1
110	Ladakh	KARGIL	ZANSKAR	MS PITMO	37080202604	1
111	Ladakh	KARGIL	ZANSKAR	MS CHAZAR	37080202605	1
112	Ladakh	KARGIL	ZANSKAR	MS SHILINGSKIT	37080202606	1
113	Ladakh	KARGIL	ZANSKAR	PS HANAMUR	37080202607	1
114	Ladakh	KARGIL	ZANSKAR	MS PIPCHA	37080202801	1
115	Ladakh	KARGIL	ZANSKAR	MS KARGAIK	37080202901	1
116	Ladakh	KARGIL	ZANSKAR	PS HONGCHAT	37080203001	1
117	Ladakh	KARGIL	DRASS	PS MASKIYAL	37080300102	1
118	Ladakh	KARGIL	DRASS	PS KOTHI BAGH	37080300106	1
119	Ladakh	KARGIL	DRASS	MS SHIMSHA	37080300201	1
120	Ladakh	KARGIL	DRASS	MS Khiber	37080300203	1
121	Ladakh	KARGIL	DRASS	PS ASH GROOM	37080300205	1
122	Ladakh	KARGIL	DRASS	PS SUMAT	37080300302	1
123	Ladakh	KARGIL	DRASS	MS DOKS	37080300502	1
124	Ladakh	KARGIL	DRASS	MS DANDAL	37080300601	1
125	Ladakh	KARGIL	DRASS	PS DANDAL	37080300602	1

S.No	state_name	district_name	block_name	school_name	udise_sch_code	SOLAR Panel
				THANG		
126	Ladakh	KARGIL	DRASS	MS JUSGOUND	37080300603	1
127	Ladakh	KARGIL	DRASS	MS THROUNGOUS	37080300701	1
128	Ladakh	KARGIL	DRASS	PS CHESPANG	37080300702	1
129	Ladakh	KARGIL	DRASS	SSA PS Goniyal	37080300703	1
				PS KHARENO		
130	Ladakh	KARGIL	DRASS	PORA MUSHKOO	37080300802	1
				SSA PS Akhon		
131	Ladakh	KARGIL	DRASS	Mohala	37080300906	1
132	Ladakh	KARGIL	DRASS	PS NAITH GAM	37080301203	1
				MS GOMA		
133	Ladakh	KARGIL	DRASS	GOSHAN	37080301204	1
134	Ladakh	KARGIL	DRASS	PS GATO Goshan	37080301205	1
107			55422	SSA PS SHAGRAN		
135	Ladakh	KARGIL	DRASS	GOSHAN	37080301207	1
136	Ladakh	KARGIL	DRASS	SSA PS JOLOLO	37080301208	1
137	Ladakh	KARGIL	DRASS	PS HAJI PORA	37080301307	1
138	Ladakh	KARGIL	DRASS	PS ULBEARUS	37080301402	1
139	Ladakh	KARGIL	DRASS	SSA PS NAGOPORA	37080301405	1
140	Ladakh	KARGIL	DRASS	PS TAISAR	37080301605	1
			55422	SSA PS		
141	Ladakh	KARGIL	DRASS	KHABOPORA	37080301606	1
142	Ladakh	KARGIL	DRASS	MS LAMOCHAN	37080301608	1
143	Ladakh	KARGIL	DRASS	PS KASHAL	37080301703	1
144	Ladakh	KARGIL	DRASS	PS KRUTIYAL	37080301704	1
145	Ladakh	KARGIL	DRASS	BPS BHIMBET	37080301705	1
146	Ladakh	KARGIL	DRASS	KGBV DRASS	37080301709	1
147	Ladakh	KARGIL	DRASS	MS NOWPORA	37080301801	1
148	Ladakh	KARGIL	DRASS	PS MASJIDGAM	37080301803	1
1.10		WADOU	DDAGG	PS GATO MURAD	2500000000	1
149	Ladakh	KARGIL	DRASS	BAGH	37080302003	1
150	Ladakh	KARGIL	DRASS	PS THANGJUK	37080302006	1
151	Ladakh	KARGIL	DRASS	MS BEARASS	37080302102	1
152	Ladakh	KARGIL	DRASS	GMS DRASS	37080302106	1
153	Ladakh	KARGIL	DRASS	RT PS KHANDIYAL	37080302107	1
1 - 1	Ladal-h	VADCU		SSA PS SYEED	27000202202	1
154	Ladakh	KARGIL	DRASS	MOHALLA	37080302202	1
155	Ladakh	KARGIL	TAISURU	PS STOKJUK	37080400104	1
156	Ladakh	KARGIL	TAISURU	PS YOKMA PARKACHUIK	37080400105	1
150	Ladakh	KARGIL	TAISURU	PARRACHOIR PS G ACHAMBUR	37080400103	1
157	Ladakh	KARGIL	TAISURU	PS G ACHAMBOR PS TRINGOCHY	37080400202	1
150	Ladakh	KARGIL	TAISURU	PS GOMA	37080400301	1
122	LdUdKII	NANGIL	TAISUKU	LOMA	57060400601	1

C N		.				SOLAR
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Panel
1.00			TAIOUDU	GYALING	05000400504	
160	Ladakh	KARGIL	TAISURU	MS KHARPOKHAR	37080400701	1
161	Ladakh	KARGIL	TAISURU	MS MAITA	37080400802	1
1(2)	I	VADCU	TAICUDU	PS YOULJUK	27000400002	1
162	Ladakh	KARGIL	TAISURU	THANG	37080400803	1
163	Ladakh	KARGIL	TAISURU	PS KHICHORE	37080400805	1
164	Ladakh	KARGIL	TAISURU	MS THANGBOO	37080400807	1
165	Ladakh	KARGIL	TAISURU	PS PURTIKCHY	37080400901	1
166	Ladakh	KARGIL	TAISURU	MS RANTHAK	37080401003	1
1.0		WADOW	TAIGUDU	SSA PS MUSTYE	25000404005	1
167	Ladakh	KARGIL	TAISURU	NAMSURU	37080401005	1
1(0	Ladalah	VADCU	TAICUDU	SSA PS TRONGOES	27000401204	1
168	Ladakh	KARGIL	TAISURU	KARGEE	37080401204	1
169	Ladakh	KARGIL	TAISURU	PS GOUND KHOWS	37080401401	1
170	Ladakh	KARGIL	TAISURU	PS SALDAKS	37080401403	1
171	Ladakh	KARGIL	TAISURU	PS KHOWAS GATOO	37080401406	1
171	Ladakh	KARGIL		PS DALCHY		1
172	Ladakh		TAISURU		37080401502	1
173		KARGIL	TAISURU	PS CHOSKOR	37080401602	1
	Ladakh	KARGIL	TAISURU	GMS TAISURU	37080401701	
175	Ladakh	KARGIL	TAISURU	KGBV TAISURU	37080401702	1
176	Ladakh	KARGIL	TAISURU	PS STUMSKHORE	37080401703	1
177	Ladakh	KARGIL	TAISURU	MS RANGDUM	37080401801	1
178	Ladakh	KARGIL	CHIKTAN	P/S YAQROL	37080500208	1
179	Ladakh	KARGIL	CHIKTAN	PS OLOKHOTOO	37080500209	1
180	Ladakh	KARGIL	CHIKTAN	KGBV CHICKTAN	37080500213	1
181	Ladakh	KARGIL	CHIKTAN	MS AYET	37080500301	1
182	Ladakh	KARGIL	CHIKTAN	MS SAPI	37080500401	1
183	Ladakh	KARGIL	CHIKTAN	MS SHAKARDO	37080500403	1
104	I	VADCU	CULUTAN	GMS RONG	27000500405	1
184	Ladakh	KARGIL	CHIKTAN	SHAKAR	37080500405	1
185	Ladakh	KARGIL	CHIKTAN	PS SAMONI	37080500406	1
186	Ladakh	KARGIL	CHIKTAN	MS MANGSHANDO	37080500407	1
187	Ladakh	KARGIL	CHIKTAN	MS SHANGCHAY	37080500408	1
188	Ladakh	KARGIL	CHIKTAN	P/S AMZEED	37080500410	1
189	Ladakh	KARGIL	CHIKTAN	MS SHANDOW	37080500501	1
190	Ladakh	KARGIL	CHIKTAN	MS CHOMORTAN	37080500603	1
191	Ladakh	KARGIL	CHIKTAN	P/S GRUCHEY	37080500608	1
192	Ladakh	KARGIL	CHIKTAN	P/S CHARCHAN	37080500609	1
193	Ladakh	KARGIL	CHIKTAN	P/S TAKMATAN	37080500610	1
194	Ladakh	KARGIL	CHIKTAN	PS CHUMIKCHAN	37080500611	1
195	Ladakh	KARGIL	CHIKTAN	P/S MAGMORE	37080500612	1

						SOLAR
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Panel
				MS BODH		
196	Ladakh	KARGIL	CHIKTAN	KHARBO	37080500701	1
197	Ladakh	KARGIL	CHIKTAN	MS YOKMAL	37080500705	1
198	Ladakh	KARGIL	CHIKTAN	MS GUMORJUKS	37080500904	1
199	Ladakh	KARGIL	CHIKTAN	PS KHANGRAL	37080500907	1
200	Ladakh	KARGIL	CHIKTAN	MS STAKCHAY	37080500908	1
201	Ladakh	KARGIL	CHIKTAN	PS MONMOLONG	37080500909	1
202	Ladakh	KARGIL	CHIKTAN	P/S CHANGLUNG	37080500910	1
203	Ladakh	KARGIL	CHIKTAN	MS DARGO	37080501103	1
204	Ladakh	KARGIL	CHIKTAN	GMS PERGUE	37080501202	1
205	Ladakh	KARGIL	CHIKTAN	PS DACHY	37080501203	1
206	Ladakh	KARGIL	CHIKTAN	PS SAMRAH DOO	37080501204	1
207	Ladakh	KARGIL	CHIKTAN	MS CHULICHAN	37080501207	1
208	Ladakh	KARGIL	CHIKTAN	P/S THRONGS	37080501209	1
				PS CHARUBS		
209	Ladakh	KARGIL	CHIKTAN	SAMRAH	37080501211	1
210	Ladakh	KARGIL	CHIKTAN	MS PHOSA	37080501306	1
211	Ladakh	KARGIL	SANKOO	PS RALAM	37080600102	1
212	Ladakh	KARGIL	SANKOO	PS BANALSA	37080600104	1
213	Ladakh	KARGIL	SANKOO	PS THAMA	37080600111	1
				SSA PS FRAITH		
214	Ladakh	KARGIL	SANKOO	SANKOO	37080600112	1
				SSA PS KHATOD		
215	Ladakh	KARGIL	SANKOO	СНОМІК	37080600113	1
				SSA PS YOKMA		
216	Ladakh	KARGIL	SANKOO	GRONG	37080600114	1
017		VADOU	CANIZOO	SSA PS BALTI	27000(00115	1
217	Ladakh	KARGIL	SANKOO	BHAHOO	37080600115	1
218	Ladakh	KARGIL	SANKOO	SSA PS YOWKCHOW	37080600116	1
210	Ladakh	KARGIL	SANKOO	PS MANKDOM	37080600201	1
219	Lauanii	KANGIL	SANKOU	MS SANGRAH	3700000201	1
220	Ladakh	KARGIL	SANKOO	THANG	37080600205	1
	Luuuiii			SSA PS CHOLUNG	0,00000100	
221	Ladakh	KARGIL	SANKOO	SANGRAH	37080600206	1
222	Ladakh	KARGIL	SANKOO	PS KUSAR	37080600306	1
223	Ladakh	KARGIL	SANKOO	PS SHATO	37080600403	1
224	Ladakh	KARGIL	SANKOO	PS GONGSO	37080600405	1
225	Ladakh	KARGIL	SANKOO	PS MALIKBER -K	37080600501	1
226	Ladakh	KARGIL	SANKOO	PS MALIKBER-T	37080600502	1
227	Ladakh	KARGIL	SANKOO	PS UMBA	37080600504	1
228	Ladakh	KARGIL	SANKOO	PS STAQBURIK	37080600605	1
229	Ladakh	KARGIL	SANKOO	PS THRONGOUS	37080600701	1

						SOLAR
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Panel
230	Ladakh	KARGIL	SANKOO	PS RICHEN	37080600702	1
231	Ladakh	KARGIL	SANKOO	PS LASTAQ	37080600804	1
232	Ladakh	KARGIL	SANKOO	MS BARSOO	37080600807	1
233	Ladakh	KARGIL	SANKOO	SSA PS TIMA	37080600809	1
234	Ladakh	KARGIL	SANKOO	PS SHISPORE	37080600901	1
235	Ladakh	KARGIL	SANKOO	MS TABCHE	37080600903	1
236	Ladakh	KARGIL	SANKOO	SSA PS ROLPO	37080600905	1
237	Ladakh	KARGIL	SANKOO	SSA PS GAMATING	37080600906	1
238	Ladakh	KARGIL	SANKOO	MS PANGBAR	37080601001	1
239	Ladakh	KARGIL	SANKOO	PS PANBER BROK	37080601002	1
240	Ladakh	KARGIL	SANKOO	PS YARKSHNG	37080601003	1
241	Ladakh	KARGIL	SANKOO	PS CHEBER	37080601005	1
				SSA PS		
242	Ladakh	KARGIL	SANKOO	SHARGANDIK	37080601102	1
243	Ladakh	KARGIL	SANKOO	PS LANKERCHY	37080601302	1
244	Ladakh	KARGIL	SANKOO	MS SKILMERCHY	37080601304	1
245	Ladakh	KARGIL	SANKOO	PS ZAKHAR LAK	37080601305	1
				SSA PS		
246	Ladakh	KARGIL	SANKOO	YOKMATOO	37080601308	1
247	Ladakh	KARGIL	SANKOO	SSA PS DANGA	37080601309	1
248	Ladakh	KARGIL	SANKOO	SSA PS GATO	37080601310	1
				SSA PS GRONG		
249	Ladakh	KARGIL	SANKOO	LANKERCHAY	37080601311	1
250	Ladakh	KARGIL	SANKOO	SSA PS GAMATOO	37080601312	1
251	Ladakh	KARGIL	SANKOO	PS GONPAKHAR	37080601401	1
252	I J. 1 .	VADCU	CANKOO	PS GROUNG	27000601400	1
252	Ladakh	KARGIL	SANKOO	TAMBIS PS THAGOL	37080601409	1
253	Ladakh	KARGIL	SANKOO	TAMBIS	37080601410	1
254	Ladakh	KARGIL	SANKOO	PS KUKSHOW	37080601410	1
255	Ladakh	KARGIL	SANKOO	PS SALTONG	37080601502	1
256	Ladakh	KARGIL	SANKOO	PS KHARGOK	37080601502	1
230	Lauakii	MINUIL	5/11/100	SSA PS	57000001001	1
257	Ladakh	KARGIL	SANKOO	ZAMBAKHA	37080601612	1
258	Ladakh	KARGIL	SANKOO	PS SATTA	37080601613	1
				PS IQBAL COLONY		
259	Ladakh	KARGIL	SANKOO	SALIŠKOTE	37080601712	1
				PS Goma Horlam		
260	Ladakh	KARGIL	SANKOO	GM Pore	37080601806	1
261	Ladakh	KARGIL	SANKOO	PS Yakmakoron	37080601807	1
262	Ladakh	KARGIL	SANKOO	PS KAMUTHUL	37080602001	1
263	Ladakh	KARGIL	SANKOO	PS BARDUM	37080602002	1
264	Ladakh	KARGIL	SANKOO	PS THUSGAM	37080602006	1

						SOLAR
S.No	state_name	district_name	block_name	school_name	udise_sch_code	Panel
				GOUND		
265	Ladakh	KARGIL	SANKOO	SSA PS LALUNG	37080602008	1
266	Ladakh	KARGIL	SANKOO	SSA PS THANG	37080602011	1
267	Ladakh	KARGIL	SANKOO	SSA PS LUNJING	37080602012	1
268	Ladakh	KARGIL	SANKOO	SSA PS GUNTABSD	37080602013	1
269	Ladakh	KARGIL	SHARGOLE	PS FEKBAR	37080700106	1
270	Ladakh	KARGIL	SHARGOLE	PS BRAKCHAN	37080700114	1
271	Ladakh	KARGIL	SHARGOLE	PS BAWAGRONG	37080700115	1
272	Ladakh	KARGIL	SHARGOLE	PS KUSKTAY	37080700201	1
				PS CHOSKORE		
273	Ladakh	KARGIL	SHARGOLE	F00	37080700403	1
274	Ladakh	KARGIL	SHARGOLE	MS CHAMBA	37080700603	1
				PS CHOSKOR		
275	Ladakh	KARGIL	SHARGOLE	WAKHA	37080700604	1
276	Ladakh	KARGIL	SHARGOLE	PS PACHIKHAR	37080700605	1
277	Ladakh	KARGIL	SHARGOLE	PS KURTAN	37080700607	1
278	Ladakh	KARGIL	SHARGOLE	PS MULBEKH	37080700610	1
279	Ladakh	KARGIL	SHARGOLE	MS RGYAL	37080700702	1
280	Ladakh	KARGIL	SHARGOLE	MS GOMA BROK	37080700704	1
281	Ladakh	KARGIL	SHARGOLE	PS RGYALKHANG	37080700705	1
282	Ladakh	KARGIL	SHARGOLE	GMS WAKHA	37080700709	1
283	Ladakh	KARGIL	SHARGOLE	PS SHARGING	37080700711	1
284	Ladakh	KARGIL	SHARGOLE	PS Gongma Brok	37080700715	1
285	Ladakh	KARGIL	SHARGOLE	MS KHARKHOR	37080700716	1
286	Ladakh	KARGIL	SHARGOLE	PS TINGDOO	37080700801	1
287	Ladakh	KARGIL	SHARGOLE	PS KHACHY	37080700902	1
288	Ladakh	KARGIL	SHARGOLE	PS GURDA	37080700903	1
289	Ladakh	KARGIL	SHARGOLE	MS KARAMBA	37080701002	1
				P/S		
290	Ladakh	KARGIL	SHARGOLE	СНОМОЅНОКРА	37080701004	1
				PS FRAITH		
291	Ladakh	KARGIL	SHARGOLE	KARITH	37080701202	1
292	Ladakh	KARGIL	SHARGOLE	MS STACHY	37080701302	1
202	T - J -]]	WADOU	CUADCOLE	PS GONGSTOO	27000704202	
293	Ladakh	KARGIL	SHARGOLE	ТАСНА	37080701303	1
294	Ladakh	KARGIL	SHARGOLE	PS DROPCHAT	37080701401	1
295	Ladakh	KARGIL	SHARGOLE	PS LOTSUM	37080701403	1
296	Ladakh	KARGIL	SHARGOLE	MS SHAGARAN	37080701404	1
207	Ladalah	VADCU		PS SHUKCHIK	27000701406	1
297	Ladakh	KARGIL	SHARGOLE	LOTSUM	37080701406	1
298	Ladakh	KARGIL	SHARGOLE	MS NUNUMCHY	37080701601	1

				Solar Panel for S		
S.N	state_nam	district_nam	block_nam		udise_sch_cod	SOLAR
0	е	е	е	school_name	е	Panel
				H/S		
		LEH		ACHINATHAN		
1	Ladakh	(LADAKH)	KHALTSE	G	37070202401	1
		LEH				
2	Ladakh	(LADAKH)	KHARU	HS GIA	37070301101	1
				H/S		
		LEH		KHARNAKLIN		
3	Ladakh	(LADAKH)	LEH	G	37070401503	1
		LEH				
4	Ladakh	(LADAKH)	NUBRA	H/S PANAMIK	37070500801	1
		LEH				
5	Ladakh	(LADAKH)	NUBRA	H/S HUNDER	37070501801	1
				H/S		
		LEH		CHUMATHAN		
6	Ladakh	(LADAKH)	NYOMA	G	37070601201	1
				HS GOMA		
7	Ladakh	KARGIL	KARGIL	KARGIL	37080100125	1
				HS		
8	Ladakh	KARGIL	KARGIL	CHULICHAN	37080102101	1
9	Ladakh	KARGIL	KARGIL	HS KAKSAR	37080300401	1
				HS		
10	Ladakh	KARGIL	ZANSKAR	THANGSOU	37080200401	1
11	Ladakh	KARGIL	ZANSKAR	HS ZANGLA	37080202601	1
12	Ladakh	KARGIL	DRASS	HS KHARBO	37080300103	1
13	Ladakh	KARGIL	DRASS	HS MUSHKO	37080300801	1
14	Ladakh	KARGIL	DRASS	HS PANDRASS	37080302005	1
				HS TANGOLE		
15	Ladakh	KARGIL	TAISURU	2019	37080400302	1
				GHS		
16	Ladakh	KARGIL	TAISURU	PANIKHAR	37080401501	1

Secondary & Higher Secondary List of Approved schools in Solar Panel for Schools

	Name of the			
S. No	Zone	UDISE Code	Name of the School	Enrollment 9 th to 12 th
1	Kargil	37080100127	GHSS KARGIL	616
2	Zanskar	37080202111	HSS PADAM	169
3	Drass	37080302203	HSS DRASS	380
4	Taisuru	37080401504	HSS PANIKHAR	219
5	Chiktan	37080500211	HSS CHIKTAN	112
6	Sankoo	37080601617	HSS TRESPONE	540
7	Shargole	37080700101	HSS PUSHKUM	188
8	Durbuk	37070100403	HR/SEC/S TANGTSE	125
			HR/SEC/SCHOOL	
9	Khaltsi	37070201004	KHALTSI	192
10	Sakti	37070300108	HR/SEC/SCHOOL SAKTI	65
			BOYS HR/SEC SCHOOL	
11	Leh	37070402523	LEH	390
12	Diskit	37070501908	HR.SEC. DISKIT	211
13	Nyoma	37070601306	HR/SEC/S/NYOMA	78

Band Competition List of the 13 Hr. Secondary Schools

LIST OF SCHOOLS APPROVED FOR ICT LAB: 2023-24

			<u>ED FOR ICT LAB, ELE</u>		
No	District	Block	School Name	School Code	Enrolment
1.	LEH (LADAKH)	DURBUK	KGBV DURBUK	37070100411	24
2.	LEH (LADAKH)	KHALTSE	M/S SASPOL	37070201403	13
3.	LEH (LADAKH)	LEH	M/S YARLOK	37070402202	12
4.	LEH (LADAKH)	LEH	GOVT M/S SKARA	37070402507	26
5.	KARGIL	CHIKTAN	GMS CHIKTAN	37080500202	10
6.	KARGIL	CHIKTAN	KGBV CHICKTAN	37080500213	36
7.	KARGIL	DRASS	MS CHOKIYAL	37080300501	11
8.	KARGIL	DRASS	MS JUSGOUND	37080300603	12
9.	KARGIL	DRASS	MS YOULBO	37080301601	10
10.	KARGIL	DRASS	MS GINDIYAL	37080301609	18
11.	KARGIL	DRASS	GIRLS MS BHIMBET	37080301702	30
12.	KARGIL	DRASS	MS NINGORE	37080301706	13
13.	KARGIL	DRASS	KGBV DRASS	37080301709	10
14.	KARGIL	DRASS	MS BEARASS	37080302102	10
15.	KARGIL	DRASS	GMS DRASS	37080302106	11
16.	KARGIL	KARGIL	GIRL MIDDLE SCH KARGIL	37080100103	33
17.	KARGIL	KARGIL	GMS BAROO	37080100307	28
18.	KARGIL	KARGIL	MS SSA HORMOS	37080100405	11
19.	KARGIL	KARGIL	GGMS POYEN	37080100408	19
20.	KARGIL	KARGIL	KGBV MINJI KARGIL	37080100509	28
21.	KARGIL	KARGIL	MS ARCHU	37080100606	23
22.	KARGIL	KARGIL	UPS DOKS	37080100608	11
23.	KARGIL	KARGIL	MS SHILKCHY	37080100901	12

A LICT OF COLLOOL C ADDROVED FOR LCT LAD, FLEMENTARY, 2022, 24

24.					Enrolment
	KARGIL	KARGIL	MS STENGS	37080101302	10
25.	KARGIL	KARGIL	MS YOURBALTAK	37080101308	19
26.	KARGIL	KARGIL	MS TUMAIL	37080101502	11
27.	KARGIL	KARGIL	GMS AKCHAMAL	37080101604	25
28.	KARGIL	KARGIL	MS DARCHIKS	37080102301	10
29.	KARGIL	SANKOO	MS CHYCHSNA	37080600106	13
30.	KARGIL	SANKOO	MS THSNGBOO	37080600401	11
31.	KARGIL	SANKOO	MS HAMBURTIK	37080600808	13
32.	KARGIL	SANKOO	MS ITCHOO	37080601201	12
33.	KARGIL	SANKOO	MS LANKARCHY THANG	37080601303	72
34.	KARGIL	SANKOO	MS ZGANGJING	37080601503	25
35.	KARGIL	SANKOO	MS SARCHEY	37080601506	12
36.	KARGIL	SANKOO	M/S ZOTPI THANG	37080601605	11
37.	KARGIL	SANKOO	MS MIRKHOR	37080601614	11
38.	KARGIL	SANKOO	KGBV THASGAM	37080602010	19
39.	KARGIL	SHARGOLE	MS SAMAR	37080700105	10
40.	KARGIL	SHARGOLE	MS THARUMSA	37080700107	11
41.	KARGIL	SHARGOLE	MS GRONG	37080700108	10
42.	KARGIL	SHARGOLE	MS FOKAR FOO	37080700402	13
43.	KARGIL	TAISURU	MS ACHUMBUR	37080400201	15
44.	KARGIL	TAISURU	MS KHOWS	37080401404	13
45.	KARGIL	TAISURU	MS BAIMACHAN	37080401601	16
46.	KARGIL	TAISURU	KGBV TAISURU	37080401702	11

ļ	D. LIST OF SCHOOLS APPROVED FOR SMART CLASSROOM, SECONDARY/SR. SECONDARY: 2023-24					
	No	District	Block	School Name	School Code	Enrolment

No	District	Block	School Name	School Code	Enrolment
1.	LEH (LADAKH)	DURBUK	H/S R.S. SATOO	37070100102	31
2.	LEH (LADAKH)	KHALTSE	H/S HANU YOKMA	37070200205	39
3.	LEH (LADAKH)	KHALTSE	H/S TIA	37070200402	17
4.	LEH (LADAKH)	KHALTSE	H/S WANLA	37070201606	37
5.	LEH (LADAKH)	LEH	H/S MATHO	37070402301	18
6.	LEH (LADAKH)	LEH	GOVT High School SKALZANGLING	37070402519	79
7.	LEH (LADAKH)	NUBRA	HS L PACHATHANG	37070501403	25
8.	LEH (LADAKH)	NUBRA	H/S CHARASA	37070502102	17
9.	LEH (LADAKH)	NYOMA	HS ANLAY	37070601502	16
10.	KARGIL	DRASS	GOVT. HIGHER SECONDARY SCHOOL, DRASS	37080302203	380
11.	KARGIL	KARGIL	GOVT. GIRLS HR. SEC. SCH. KARGIL	37080100127	616
12.	KARGIL	KARGIL	HSS CHANIGOUND	37080101101	244
13.	KARGIL	KARGIL	GOVT. HR. SEC. SCH. YOURBALTAK	37080101310	147
14.	KARGIL	KARGIL	HIGHER SEC SCHOOL AKCHMAL	37080101607	157
15.	KARGIL	KARGIL	GOVT. HR. SEC. SCH. SILMO	37080101810	105
16.	KARGIL	SANKOO	GOVT. HR. SEC SCHOOL SANKOO	37080600117	274
17.	KARGIL	SHARGOLE	GOVT, HIGHER SECONDARY SCHOOL SHARGOLE	37080700304	155
18.	KARGIL	TAISURU	HSS BAIMA PURTIKCHY	37080400902	64
19.	KARGIL	TAISURU	GOVT. HR. SEC. SCHOOL PANIKHAR	37080401504	219
20.	KARGIL	ZANSKAR	HSS PADAM	37080202111	169

Appointment of Language Teachers

List of School (701) Hindi Teacher (New) recommended in 2023-24 under Samagra Shiksha (One Hindi Teacher per School)

Sl.No	District	School UDISE
1	LEH (LADAKH)	37070300601
2	LEH (LADAKH)	37070601402
3	KARGIL	37080301401
4	KARGIL	37080100408
5	KARGIL	37080601308
6	LEH (LADAKH)	37070402204
7	LEH (LADAKH)	37070500512
8	LEH (LADAKH)	37070200301
9	LEH (LADAKH)	37070502803
10	LEH (LADAKH)	37070200101
11	KARGIL	37080202002
12	KARGIL	37080701002
13	KARGIL	37080700903
14	KARGIL	37080601309
15	KARGIL	37080401404
16	LEH (LADAKH)	37070301102
17	LEH (LADAKH)	37070100203
18	KARGIL	37080200203
19	KARGIL	37080401406
20	LEH (LADAKH)	37070600902
21	KARGIL	37080202110
22	KARGIL	37080201802
23	KARGIL	37080600902
24	KARGIL	37080601304
25	KARGIL	37080600108
26	KARGIL	37080401101
27	KARGIL	37080100314
28	KARGIL	37080102102
29	LEH (LADAKH)	37070501204
30	LEH (LADAKH)	37070500905
31	KARGIL	37080701501
32	LEH (LADAKH)	37070400102
33	KARGIL	37080100901
34	LEH (LADAKH)	37070400903
35	KARGIL	37080601305
36	KARGIL	37080601302
37	KARGIL	37080500909
38	LEH (LADAKH)	37070502001

Sl.No	District	School UDISE
39	LEH (LADAKH)	37070502105
40	LEH (LADAKH)	37070300403
41	KARGIL	37080700107
42	KARGIL	37080700402
43	KARGIL	37080500403
44	KARGIL	37080400402
45	KARGIL	37080700202
46	KARGIL	37080201501
47	KARGIL	37080102301
48	LEH (LADAKH)	37070402207
49	LEH (LADAKH)	37070601305
50	LEH (LADAKH)	37070402101
51	KARGIL	37080401601
52	KARGIL	37080100701
53	LEH (LADAKH)	37070600803
54	KARGIL	37080202302
55	LEH (LADAKH)	37070500802
56	LEH (LADAKH)	37070100405
57	KARGIL	37080400101
58	KARGIL	37080700103
59	KARGIL	37080500706
60	LEH (LADAKH)	37070201902
61	KARGIL	37080601603
62	KARGIL	37080301601
63	KARGIL	37080700708
64	KARGIL	37080101202
65	KARGIL	37080302106
66	KARGIL	37080501202
67	KARGIL	37080301605
68	KARGIL	37080202604
69	KARGIL	37080601601
70	LEH (LADAKH)	37070200501
71	KARGIL	37080600501
72	LEH (LADAKH)	37070200606
73	LEH (LADAKH)	37070400403
74	KARGIL	37080300906
75	LEH (LADAKH)	37070202301
76	KARGIL	37080300603
77	KARGIL	37080300106
78	LEH (LADAKH)	37070400802
79	LEH (LADAKH)	37070600804
80	LEH (LADAKH)	37070502104

Sl.No	District	School UDISE
81	LEH (LADAKH)	37070300803
82	KARGIL	37080601501
83	KARGIL	37080101208
84	KARGIL	37080100123
85	KARGIL	37080601702
86	KARGIL	37080600205
87	KARGIL	37080101303
88	LEH (LADAKH)	37070501905
89	KARGIL	37080601507
90	KARGIL	37080501207
91	KARGIL	37080600603
92	KARGIL	37080602010
93	KARGIL	37080302006
94	LEH (LADAKH)	37070200901
95	KARGIL	37080201403
96	LEH (LADAKH)	37070500701
97	KARGIL	37080101309
98	LEH (LADAKH)	37070601505
99	LEH (LADAKH)	37070400701
100	KARGIL	37080500202
101	LEH (LADAKH)	37070501902
102	KARGIL	37080100904
103	KARGIL	37080401602
104	KARGIL	37080401005
105	LEH (LADAKH)	37070200701
106	LEH (LADAKH)	37070600801
107	KARGIL	37080100405
108	KARGIL	37080601608
109	KARGIL	37080101004
110	KARGIL	37080601602
111	KARGIL	37080600703
112	KARGIL	37080601006
113	KARGIL	37080400304
114	KARGIL	37080400401
115	KARGIL	37080701406
116	KARGIL	37080101807
117	KARGIL	37080100115
118	KARGIL	37080700705
119	KARGIL	37080601901
120	KARGIL	37080101601
121	LEH (LADAKH)	37070502605
122	KARGIL	37080301203

Sl.No	District	School UDISE
123	LEH (LADAKH)	37070202001
124	LEH (LADAKH)	37070601302
125	LEH (LADAKH)	37070300801
126	LEH (LADAKH)	37070203001
127	LEH (LADAKH)	37070601503
128	KARGIL	37080700715
129	LEH (LADAKH)	37070201903
130	KARGIL	37080500407
131	KARGIL	37080300601
132	LEH (LADAKH)	37070500907
133	LEH (LADAKH)	37070300203
134	KARGIL	37080500606
135	LEH (LADAKH)	37070100410
136	LEH (LADAKH)	37070100101
137	LEH (LADAKH)	37070500804
138	KARGIL	37080202602
139	LEH (LADAKH)	37070202402
140	KARGIL	37080600206
141	KARGIL	37080202102
142	LEH (LADAKH)	37070200608
143	KARGIL	37080600701
144	KARGIL	37080100113
145	LEH (LADAKH)	37070100406
146	KARGIL	37080100803
147	LEH (LADAKH)	37070401302
148	LEH (LADAKH)	37070501901
149	KARGIL	37080600504
150	KARGIL	37080500201
151	KARGIL	37080600802
152	KARGIL	37080600116
153	LEH (LADAKH)	37070400912
154	KARGIL	37080400303
155	KARGIL	37080301703
156	KARGIL	37080100507
157	LEH (LADAKH)	37070502103
158	LEH (LADAKH)	37070400915
159	KARGIL	37080101703
160	KARGIL	37080102204
161	LEH (LADAKH)	37070401902
162	LEH (LADAKH)	37070500903
163	LEH (LADAKH)	37070202801
164	KARGIL	37080601301

Sl.No	District	School UDISE
165	KARGIL	37080101112
166	LEH (LADAKH)	37070400201
167	LEH (LADAKH)	37070202403
168	KARGIL	37080300201
169	KARGIL	37080200101
170	LEH (LADAKH)	37070300102
171	LEH (LADAKH)	37070201202
172	KARGIL	37080701401
173	LEH (LADAKH)	37070402203
174	LEH (LADAKH)	37070500304
175	KARGIL	37080202205
176	LEH (LADAKH)	37070501701
177	KARGIL	37080400105
178	KARGIL	37080600804
179	KARGIL	37080600111
180	KARGIL	37080701001
181	KARGIL	37080601606
182	LEH (LADAKH)	37070402503
183	KARGIL	37080101201
184	KARGIL	37080500408
185	KARGIL	37080400202
186	LEH (LADAKH)	37070100301
187	LEH (LADAKH)	37070401501
188	KARGIL	37080101605
189	KARGIL	37080100311
190	KARGIL	37080101001
191	KARGIL	37080600806
192	KARGIL	37080300203
193	KARGIL	37080101307
194	KARGIL	37080300703
195	KARGIL	37080600101
196	KARGIL	37080101002
197	LEH (LADAKH)	37070500307
198	KARGIL	37080601502
199	KARGIL	37080100501
200	KARGIL	37080201101
201	KARGIL	37080601410
202	KARGIL	37080100905
203	LEH (LADAKH)	37070301105
204	KARGIL	37080601712
205	KARGIL	37080302202
206	LEH (LADAKH)	37070502504

Sl.No	District	School UDISE
207	KARGIL	37080200102
208	KARGIL	37080300205
209	LEH (LADAKH)	37070300105
210	LEH (LADAKH)	37070100305
211	KARGIL	37080400903
212	LEH (LADAKH)	37070400203
213	KARGIL	37080501201
214	KARGIL	37080101003
215	LEH (LADAKH)	37070402001
216	LEH (LADAKH)	37070201801
217	KARGIL	37080301608
218	LEH (LADAKH)	37070200801
219	KARGIL	37080400102
220	KARGIL	37080202101
221	KARGIL	37080602003
222	KARGIL	37080601505
223	KARGIL	37080700403
224	KARGIL	37080100126
225	LEH (LADAKH)	37070600502
226	LEH (LADAKH)	37070200206
227	LEH (LADAKH)	37070600901
228	KARGIL	37080601310
229	LEH (LADAKH)	37070501906
230	KARGIL	37080602008
231	LEH (LADAKH)	37070501803
232	KARGIL	37080100103
233	LEH (LADAKH)	37070500309
234	LEH (LADAKH)	37070500904
235	LEH (LADAKH)	37070401808
236	KARGIL	37080100620
237	KARGIL	37080500401
238	LEH (LADAKH)	37070400402
239	LEH (LADAKH)	37070201501
240	KARGIL	37080100804
241	KARGIL	37080202107
242	KARGIL	37080600106
243	LEH (LADAKH)	37070201611
244	KARGIL	37080500213
245	LEH (LADAKH)	37070100104
246	KARGIL	37080202606
247	KARGIL	37080100613
248	LEH (LADAKH)	37070300404

Sl.No	District	School UDISE
249	LEH (LADAKH)	37070502503
250	KARGIL	37080302003
251	KARGIL	37080602002
252	KARGIL	37080701403
253	KARGIL	37080300802
254	LEH (LADAKH)	37070601504
255	LEH (LADAKH)	37070500803
256	KARGIL	37080301705
257	KARGIL	37080301402
258	LEH (LADAKH)	37070100302
259	KARGIL	37080500609
260	KARGIL	37080601005
261	KARGIL	37080300701
262	KARGIL	37080102001
263	KARGIL	37080202106
264	KARGIL	37080101806
265	KARGIL	37080202605
266	KARGIL	37080700109
267	KARGIL	37080301709
268	KARGIL	37080100307
269	LEH (LADAKH)	37070600601
270	LEH (LADAKH)	37070501201
271	KARGIL	37080700709
272	KARGIL	37080501204
273	KARGIL	37080401401
274	LEH (LADAKH)	37070402507
275	LEH (LADAKH)	37070500503
276	KARGIL	37080600201
277	KARGIL	37080600803
278	KARGIL	37080600402
279	LEH (LADAKH)	37070500506
280	KARGIL	37080500602
281	KARGIL	37080601802
282	KARGIL	37080700609
283	LEH (LADAKH)	37070201301
284	LEH (LADAKH)	37070100204
285	KARGIL	37080700716
286	KARGIL	37080700114
287	KARGIL	37080601311
288	KARGIL	37080200801
289	KARGIL	37080301211
290	KARGIL	37080500203

Sl.No	District	School UDISE
291	KARGIL	37080601407
292	LEH (LADAKH)	37070301103
293	KARGIL	37080500904
294	KARGIL	37080401204
295	KARGIL	37080100309
296	KARGIL	37080100601
297	KARGIL	37080100121
298	LEH (LADAKH)	37070402004
299	KARGIL	37080501304
300	LEH (LADAKH)	37070401401
301	LEH (LADAKH)	37070500308
302	LEH (LADAKH)	37070300701
303	KARGIL	37080500902
304	KARGIL	37080200903
305	LEH (LADAKH)	37070100408
306	KARGIL	37080600502
307	KARGIL	37080602011
308	LEH (LADAKH)	37070502206
309	KARGIL	37080401403
310	KARGIL	37080400807
311	KARGIL	37080600304
312	KARGIL	37080100509
313	LEH (LADAKH)	37070100402
314	LEH (LADAKH)	37070401003
315	KARGIL	37080701303
316	KARGIL	37080201903
317	KARGIL	37080500406
318	KARGIL	37080500610
319	KARGIL	37080601007
320	KARGIL	37080601312
321	LEH (LADAKH)	37070501501
322	KARGIL	37080202105
323	LEH (LADAKH)	37070600302
324	LEH (LADAKH)	37070200604
325	KARGIL	37080100114
326	KARGIL	37080401003
327	KARGIL	37080600115
328	LEH (LADAKH)	37070300302
329	LEH (LADAKH)	37070300501
330	KARGIL	37080200602
331	KARGIL	37080201502
332	KARGIL	37080101901

Sl.No	District	School UDISE
333	KARGIL	37080601804
334	KARGIL	37080601201
335	KARGIL	37080101701
336	KARGIL	37080100902
337	LEH (LADAKH)	37070201502
338	KARGIL	37080701201
339	KARGIL	37080202202
340	LEH (LADAKH)	37070301201
341	KARGIL	37080102002
342	LEH (LADAKH)	37070201609
343	KARGIL	37080202112
344	LEH (LADAKH)	37070201403
345	LEH (LADAKH)	37070300103
346	LEH (LADAKH)	37070401304
347	KARGIL	37080400602
348	KARGIL	37080102402
349	LEH (LADAKH)	37070500306
350	KARGIL	37080600103
351	KARGIL	37080101603
352	KARGIL	37080101805
353	KARGIL	37080601401
354	KARGIL	37080401801
355	LEH (LADAKH)	37070502101
356	KARGIL	37080100502
357	LEH (LADAKH)	37070601601
358	KARGIL	37080700610
359	KARGIL	37080500701
360	LEH (LADAKH)	37070100107
361	KARGIL	37080400104
362	KARGIL	37080400804
363	KARGIL	37080101204
364	KARGIL	37080202001
365	KARGIL	37080400301
366	KARGIL	37080401701
367	LEH (LADAKH)	37070500501
368	KARGIL	37080101302
369	LEH (LADAKH)	37070100407
370	KARGIL	37080601402
371	KARGIL	37080100604
372	LEH (LADAKH)	37070401502
373	KARGIL	37080501209
374	KARGIL	37080101608

Sl.No	District	School UDISE
375	KARGIL	37080501211
376	KARGIL	37080602001
377	KARGIL	37080101306
378	LEH (LADAKH)	37070401802
379	LEH (LADAKH)	37070502502
380	LEH (LADAKH)	37070401807
381	LEH (LADAKH)	37070301001
382	KARGIL	37080101602
383	KARGIL	37080100503
384	LEH (LADAKH)	37070402205
385	LEH (LADAKH)	37070300303
386	LEH (LADAKH)	37070200204
387	KARGIL	37080101305
388	LEH (LADAKH)	37070401202
389	LEH (LADAKH)	37070500401
390	KARGIL	37080500608
391	KARGIL	37080401502
392	LEH (LADAKH)	37070500908
393	KARGIL	37080100619
394	KARGIL	37080202108
395	KARGIL	37080300702
396	LEH (LADAKH)	37070201001
397	LEH (LADAKH)	37070401002
398	LEH (LADAKH)	37070201701
399	KARGIL	37080300505
400	KARGIL	37080200701
401	KARGIL	37080101105
402	KARGIL	37080301212
403	KARGIL	37080600801
404	KARGIL	37080700106
405	LEH (LADAKH)	37070401303
406	LEH (LADAKH)	37070501402
407	KARGIL	37080600404
408	KARGIL	37080101604
409	LEH (LADAKH)	37070500305
410	KARGIL	37080301606
411	KARGIL	37080501103
412	KARGIL	37080401102
413	LEH (LADAKH)	37070600301
414	KARGIL	37080500204
415	KARGIL	37080602009
416	KARGIL	37080202901

Sl.No	District	School UDISE
417	KARGIL	37080500611
418	KARGIL	37080202301
419	KARGIL	37080700113
420	KARGIL	37080301001
421	KARGIL	37080700902
422	KARGIL	37080600306
423	KARGIL	37080601707
424	KARGIL	37080601506
425	LEH (LADAKH)	37070100404
426	KARGIL	37080102304
427	KARGIL	37080500612
428	LEH (LADAKH)	37070400405
429	KARGIL	37080100603
430	KARGIL	37080400701
431	KARGIL	37080601708
432	LEH (LADAKH)	37070402202
433	KARGIL	37080100606
434	KARGIL	37080700108
435	KARGIL	37080700603
436	KARGIL	37080600403
437	LEH (LADAKH)	37070402302
438	KARGIL	37080600906
439	KARGIL	37080700102
440	KARGIL	37080100602
441	LEH (LADAKH)	37070501909
442	KARGIL	37080700204
443	KARGIL	37080201002
444	LEH (LADAKH)	37070500806
445	KARGIL	37080600807
446	KARGIL	37080700302
447	KARGIL	37080600401
448	KARGIL	37080500301
449	LEH (LADAKH)	37070601307
450	KARGIL	37080200403
451	LEH (LADAKH)	37070402502
452	KARGIL	37080600203
453	KARGIL	37080701302
454	KARGIL	37080501001
455	LEH (LADAKH)	37070301104
456	KARGIL	37080101110
457	KARGIL	37080601711
458	LEH (LADAKH)	37070500502

Sl.No	District	School UDISE
459	KARGIL	37080601002
460	KARGIL	37080301207
461	KARGIL	37080600112
462	LEH (LADAKH)	37070500604
463	KARGIL	37080601404
464	LEH (LADAKH)	37070402505
465	KARGIL	37080600905
466	KARGIL	37080501203
467	KARGIL	37080500209
468	LEH (LADAKH)	37070300104
469	KARGIL	37080300901
470	KARGIL	37080101308
471	KARGIL	37080600104
472	LEH (LADAKH)	37070501101
473	LEH (LADAKH)	37070200702
474	KARGIL	37080300302
475	LEH (LADAKH)	37070100206
476	KARGIL	37080200207
477	KARGIL	37080400103
478	LEH (LADAKH)	37070502202
479	KARGIL	37080500907
480	KARGIL	37080202603
481	LEH (LADAKH)	37070601303
482	LEH (LADAKH)	37070502401
483	KARGIL	37080101809
484	KARGIL	37080302102
485	LEH (LADAKH)	37070500902
486	LEH (LADAKH)	37070500202
487	KARGIL	37080100616
488	LEH (LADAKH)	37070201607
489	KARGIL	37080400803
490	LEH (LADAKH)	37070200202
491	KARGIL	37080301202
492	KARGIL	37080700105
493	KARGIL	37080500502
494	LEH (LADAKH)	37070400804
495	KARGIL	37080500208
496	LEH (LADAKH)	37070502301
497	LEH (LADAKH)	37070200201
498	LEH (LADAKH)	37070402003
499	KARGIL	37080701601
500	KARGIL	37080100802

Sl.No	District	School UDISE
501	KARGIL	37080302101
502	KARGIL	37080201902
503	LEH (LADAKH)	37070201904
504	LEH (LADAKH)	37070500807
505	KARGIL	37080600605
506	LEH (LADAKH)	37070200503
507	KARGIL	37080101107
508	KARGIL	37080301404
509	KARGIL	37080700702
510	KARGIL	37080201304
511	KARGIL	37080600405
512	LEH (LADAKH)	37070401001
513	KARGIL	37080301706
514	KARGIL	37080100101
515	KARGIL	37080301801
516	KARGIL	37080200902
517	KARGIL	37080602012
518	LEH (LADAKH)	37070401101
519	LEH (LADAKH)	37070201601
520	KARGIL	37080203001
521	KARGIL	37080700115
522	KARGIL	37080601303
523	KARGIL	37080700704
524	KARGIL	37080301803
525	KARGIL	37080700201
526	KARGIL	37080301405
527	KARGIL	37080301704
528	KARGIL	37080201404
529	KARGIL	37080202201
530	LEH (LADAKH)	37070300304
531	LEH (LADAKH)	37070401703
532	KARGIL	37080600114
533	LEH (LADAKH)	37070201610
534	LEH (LADAKH)	37070600401
535	LEH (LADAKH)	37070600201
536	KARGIL	37080601614
537	KARGIL	37080500705
538	LEH (LADAKH)	37070600202
539	KARGIL	37080300403
540	KARGIL	37080601612
541	KARGIL	37080600102
542	KARGIL	37080301205

Sl.No	District	School UDISE
543	KARGIL	37080202607
544	KARGIL	37080101109
545	LEH (LADAKH)	37070402527
546	LEH (LADAKH)	37070500504
547	KARGIL	37080301702
548	KARGIL	37080600808
549	KARGIL	37080101502
550	KARGIL	37080601604
551	LEH (LADAKH)	37070200203
552	KARGIL	37080601503
553	KARGIL	37080401201
554	KARGIL	37080601710
555	KARGIL	37080200603
556	LEH (LADAKH)	37070502002
557	KARGIL	37080100614
558	LEH (LADAKH)	37070100306
559	LEH (LADAKH)	37070201401
560	KARGIL	37080401703
561	KARGIL	37080500603
562	LEH (LADAKH)	37070200102
563	KARGIL	37080500405
564	KARGIL	37080700711
565	KARGIL	37080101311
566	KARGIL	37080102801
567	LEH (LADAKH)	37070200603
568	KARGIL	37080700607
569	KARGIL	37080101203
570	KARGIL	37080401001
571	KARGIL	37080200505
572	KARGIL	37080200302
573	KARGIL	37080401004
574	KARGIL	37080300602
575	KARGIL	37080700504
576	KARGIL	37080601605
577	KARGIL	37080601807
578	KARGIL	37080100702
579	LEH (LADAKH)	37070401203
580	KARGIL	37080400201
581	KARGIL	37080100120
582	KARGIL	37080600903
583	KARGIL	37080700104
584	KARGIL	37080601101

Sl.No	District	School UDISE
585	KARGIL	37080101802
586	LEH (LADAKH)	37070500302
587	KARGIL	37080500501
588	KARGIL	37080401002
589	KARGIL	37080202801
590	LEH (LADAKH)	37070601506
591	KARGIL	37080100504
592	LEH (LADAKH)	37070200509
593	KARGIL	37080600113
594	KARGIL	37080701004
595	KARGIL	37080400802
596	LEH (LADAKH)	37070401901
597	KARGIL	37080600702
598	LEH (LADAKH)	37070200602
599	LEH (LADAKH)	37070401307
600	KARGIL	37080601803
601	KARGIL	37080601001
602	KARGIL	37080500410
603	LEH (LADAKH)	37070501301
604	LEH (LADAKH)	37070400902
605	KARGIL	37080400901
606	KARGIL	37080602013
607	LEH (LADAKH)	37070100108
608	KARGIL	37080601003
609	LEH (LADAKH)	37070100109
610	KARGIL	37080200901
611	LEH (LADAKH)	37070100411
612	KARGIL	37080600302
613	KARGIL	37080300502
614	KARGIL	37080600202
615	KARGIL	37080601508
616	KARGIL	37080100403
617	KARGIL	37080401702
618	KARGIL	37080500910
619	KARGIL	37080500402
620	LEH (LADAKH)	37070500303
621	KARGIL	37080700604
622	KARGIL	37080401303
623	LEH (LADAKH)	37070600402
624	LEH (LADAKH)	37070500603
625	KARGIL	37080101702
626	LEH (LADAKH)	37070100307

Sl.No	District	School UDISE
627	KARGIL	37080302107
628	KARGIL	37080100608
629	KARGIL	37080700801
630	KARGIL	37080100806
631	KARGIL	37080100306
632	LEH (LADAKH)	37070300201
633	LEH (LADAKH)	37070300207
634	LEH (LADAKH)	37070500901
635	LEH (LADAKH)	37070200302
636	KARGIL	37080202503
637	KARGIL	37080100607
638	KARGIL	37080300102
639	LEH (LADAKH)	37070201101
640	KARGIL	37080301609
641	KARGIL	37080400305
642	LEH (LADAKH)	37070601701
643	LEH (LADAKH)	37070501401
644	LEH (LADAKH)	37070100207
645	KARGIL	37080602005
646	KARGIL	37080601102
647	LEH (LADAKH)	37070501001
648	KARGIL	37080301204
649	KARGIL	37080600105
650	KARGIL	37080602007
651	KARGIL	37080601704
652	KARGIL	37080100505
653	LEH (LADAKH)	37070601401
654	LEH (LADAKH)	37070100202
655	LEH (LADAKH)	37070601309
656	KARGIL	37080100111
657	KARGIL	37080400805
658	LEH (LADAKH)	37070402501
659	LEH (LADAKH)	37070402401
660	KARGIL	37080100611
661	LEH (LADAKH)	37070402506
662	KARGIL	37080200206
663	LEH (LADAKH)	37070400502
664	LEH (LADAKH)	37070601501
665	KARGIL	37080201704
666	KARGIL	37080302109
667	LEH (LADAKH)	37070500505
668	KARGIL	37080700111

Sl.No	District	School UDISE
669	KARGIL	37080501306
670	KARGIL	37080300501
671	KARGIL	37080600107
672	LEH (LADAKH)	37070200504
673	LEH (LADAKH)	37070402504
674	KARGIL	37080701404
675	KARGIL	37080102203
676	KARGIL	37080602006
677	KARGIL	37080600901
678	KARGIL	37080601806
679	KARGIL	37080601616
680	LEH (LADAKH)	37070501802
681	KARGIL	37080301307
682	LEH (LADAKH)	37070100501
683	LEH (LADAKH)	37070400901
684	LEH (LADAKH)	37070200507
685	KARGIL	37080601409
686	KARGIL	37080500908
687	LEH (LADAKH)	37070300402
688	KARGIL	37080200301
689	KARGIL	37080600602
690	KARGIL	37080601703
691	KARGIL	37080400601
692	LEH (LADAKH)	37070100201
693	KARGIL	37080600809
694	LEH (LADAKH)	37070502501
695	KARGIL	37080700605
696	LEH (LADAKH)	37070502302
697	KARGIL	37080201001
698	KARGIL	37080201004
699	KARGIL	37080701202
700	KARGIL	37080301607
701	KARGIL	37080301208

Sl.No	District	School UDISE
1	KARGIL	37080100408
2	LEH (LADAKH)	37070500512
3	LEH (LADAKH)	37070301102
4	KARGIL	37080401406
5	KARGIL	37080100901
6	KARGIL	37080700107
7	KARGIL	37080500403
8	KARGIL	37080102301
9	KARGIL	37080700103
10	KARGIL	37080601603
11	KARGIL	37080301601
12	KARGIL	37080101202
13	KARGIL	37080300906
14	KARGIL	37080101208
15	KARGIL	37080600603
16	LEH (LADAKH)	37070400701
17	KARGIL	37080500202
18	LEH (LADAKH)	37070501902
19	KARGIL	37080100405
20	KARGIL	37080601608
21	KARGIL	37080601602
22	KARGIL	37080601006
23	KARGIL	37080601901
24	LEH (LADAKH)	37070100101
25	LEH (LADAKH)	37070400915
26	KARGIL	37080101703
27	LEH (LADAKH)	37070300102
28	LEH (LADAKH)	37070402203
29	KARGIL	37080601606
30	KARGIL	37080101201
31	KARGIL	37080500408
32	KARGIL	37080300203
33	KARGIL	37080400102
34	KARGIL	37080602003
35	KARGIL	37080100613
36	KARGIL	37080300701
37	KARGIL	37080700109
38	KARGIL	37080100307
39	LEH (LADAKH)	37070402507
40	KARGIL	37080600803

List of School (115) Urdu Teacher (New) recommended in 2023-24 under Samagra Shiksha (One Urdu Teacher per School)

Sl.No	District	School UDISE
41	KARGIL	37080601802
42	KARGIL	37080601311
43	KARGIL	37080601407
44	KARGIL	37080501304
45	KARGIL	37080400807
46	LEH (LADAKH)	37070401003
47	KARGIL	37080101901
48	KARGIL	37080601804
49	KARGIL	37080100902
50	KARGIL	37080701201
51	KARGIL	37080102402
52	KARGIL	37080600103
53	LEH (LADAKH)	37070502101
54	LEH (LADAKH)	37070500501
55	KARGIL	37080101302
56	KARGIL	37080601402
57	LEH (LADAKH)	37070401502
58	KARGIL	37080101306
59	LEH (LADAKH)	37070401802
60	LEH (LADAKH)	37070500401
61	KARGIL	37080300505
62	KARGIL	37080600404
63	KARGIL	37080101604
64	KARGIL	37080602009
65	KARGIL	37080301001
66	KARGIL	37080601707
67	LEH (LADAKH)	37070100404
68	LEH (LADAKH)	37070402202
69	KARGIL	37080100606
70	KARGIL	37080700108
71	KARGIL	37080700102
72	KARGIL	37080101110
73	KARGIL	37080601404
74	LEH (LADAKH)	37070402505
75	KARGIL	37080300901
76	KARGIL	37080101308
77	LEH (LADAKH)	37070601303
78	KARGIL	37080101809
79	KARGIL	37080301202
80	KARGIL	37080700105
81	KARGIL	37080500502
82	KARGIL	37080302101

Sl.No	District	School UDISE
83	KARGIL	37080600605
84	KARGIL	37080101107
85	KARGIL	37080301404
86	KARGIL	37080601303
87	KARGIL	37080601614
88	LEH (LADAKH)	37070402527
89	KARGIL	37080301702
90	KARGIL	37080600808
91	KARGIL	37080101502
92	KARGIL	37080601604
93	KARGIL	37080601503
94	KARGIL	37080401001
95	KARGIL	37080401004
96	KARGIL	37080700504
97	KARGIL	37080400201
98	LEH (LADAKH)	37070500302
99	KARGIL	37080100504
100	KARGIL	37080300502
101	KARGIL	37080100306
102	KARGIL	37080301609
103	KARGIL	37080602005
104	KARGIL	37080301204
105	KARGIL	37080100505
106	KARGIL	37080600105
107	KARGIL	37080100111
108	LEH (LADAKH)	37070402506
109	LEH (LADAKH)	37070400502
110	KARGIL	37080300501
111	KARGIL	37080600107
112	LEH (LADAKH)	37070200504
113	LEH (LADAKH)	37070400901
114	KARGIL	37080601703
115	KARGIL	37080201001

Gender

KGBV

List of Replacement of Bedding in KGBV Type I

S. no.	District Name	District Code	School Name	UDISE Code
1	Leh	37070	KGBV Tangtse Type-I	37070100411
2	Leh	37070	KGBV Lakjung Type - I	37070502302
3	Leh	37070	KGBV Nyoma Type- I	37070601307
4	Leh	37070	KGBV Kharu Type-I	37070300210

List of Replacement of Bedding in KGBV type IV

S. no.	District Name	District Code	School Name	UDISE Code
Leh	37070	1	KGBV Sumoor Type-IV	37070502201
Leh	37070	1	KGBV Tangtse Type-IV	37070100403

EQUITY

	List of school for Incinerator Machines (Elementary)				
S.No.	District Name	District Code	School Management	School Name	UDISE Code
1	LEH (LADAKH)	3707	Department of Education	KGBV KHARU	37070300210
2	LEH (LADAKH)	3707	Department of Education	M/S TARU	37070400601
3	LEH (LADAKH)	3707	Department of Education	MS Gompa	37070402529
4	KARGIL	3708	Department of Education	MS TINDO	37080701001
5	KARGIL	3708	Department of Education	MS KARIT	37080701201

List of school for Incinerator machines (Secondary)

s. no.	District Name	District Code	School Management	School Name	UDISE Code
1	LEH (LADAKH)	3707	Department of Education	P/S FOTOKSAR	37070201607
2	KARGIL	3708	Department of Education	HSS PHEY	37080201701
3	KARGIL	3708	Department of Education	HSS PADAM	37080202111
4	KARGIL	3708	Department of Education	HS MUSHKO	37080300801
5	KARGIL	3708	Department of Education	HS MURAD BAGH	37080302001
6	KARGIL	3708	Department of Education	GOVT. HIGHER SECONDARY SCHOOL, DRASS	37080302203
7	KARGIL	3708	Department of Education	HS PARKACHIK	37080400106
8	KARGIL	3708	Department of Education	HS TANGOLE 2019	37080400302
9	KARGIL	3708	Department of Education	HS YOULJUK	37080400801
10	KARGIL	3708	Department of Education	HSS BAIMA PURTIKCHY	37080400902
11	KARGIL	3708	Department of Education	HS KARGEE	37080401202
12	KARGIL	3708	Department of Education	GHS PANIKHAR	37080401501
13	KARGIL	3708	Department of Education	GOVT. HR. SEC. SCHOOL PANIKHAR	37080401504
14	KARGIL	3708	Department of Education	GOVT. HIGHER SECONDARY SCHOOL SHAKAR	37080500212
15	KARGIL	3708	Department of Education	HSS KHANGRAL	37080500906
16	KARGIL	3708	Department of Education	GOVT. HR. SEC SCHOOL SANKOO	37080600117
17	KARGIL	3708	Department of Education	GOVT. HR. SEC. BARSOO	37080600810
18	KARGIL	3708	Department of Education	HS TIKET	37080600904
19	KARGIL	3708	Department of Education	HS BARTO(RMSA)	37080601004

s. no.	District Name	District Code	School Management	School Name	UDISE Code
20	KARGIL	3708	Department of Education	HSS LANKERCHY	37080601306
21	KARGIL	3708	Department of Education	HS TAMBIS	37080601406
22	KARGIL	3708	Department of Education	GHS GM PORE	37080601801
23	KARGIL	3708	Department of Education	HS THUSGAM	37080602004
24	KARGIL	3708	Department of Education	GOVT, HIGHER SECONDARY SCHOOL SHARGOLE	37080700304
25	KARGIL	3708	Department of Education	HS TACHA	37080701301

List of school for	Vending Machines	(Elementary)
DIDE OF DUNIOUT IO	· · · · · · · · · · · · · · · · · · ·	(momontal y)

S. No.District CodeSchool ManagementSchool NameUDISE Code1LEH (LADAKH)3707Department of EducationKGBV KIIARU370703002102LEH (LADAKH)3707Department of EducationM/S TARU370704006013LEH (LADAKII)3707Department of EducationM/S Gompa370704025294KARGIL3708Department of EducationGIRL MIDDLE SCH KARGIL37080100135KARGIL3708Department of EducationGIRL MIDDLE SCH KARGIL370801001326KARGIL3708Department of EducationGMS BAROO370801003017KARGIL3708Department of EducationMS GOMA MINJI370801005049KARGIL3708Department of EducationMS LOBER3708010050910KARGIL3708Department of EducationMS LOBER3708010060711KARGIL3708Department of EducationMS LOBER3708010060712KARGIL3708Department of EducationMS LOBER3708010061314KARGIL3708Department of EducationMS CHULISKIMBO370801010715KARGIL3708Department of EducationMS CHULISKIMBO3708010102016KARGIL3708Department of EducationMS CHULISKIMBO3708010130817KARGIL3708Department of EducationMS CHULISKIMBO3708010130818KARGIL3708Department of Education <t< th=""><th colspan="8">List of school for Vending Machines (Elementary)</th></t<>	List of school for Vending Machines (Elementary)							
I(LADAKH)3707Department of EducationKuby KHARU370703002102LADAKH)3707Department of EducationM/S TARU370704006013LEH3707Department of EducationMS Gompa370704025294KARGIL3708Department of EducationGIRL MIDDLE SCH370801001035KARGIL3708Department of EducationGMS CHANCHIK370801001236KARGIL3708Department of EducationGMS BAROO370801003077KARGIL3708Department of EducationGMS BAROO370801005048KARGIL3708Department of EducationMS COMA MINJI370801005049KARGIL3708Department of EducationMS ACMU3708010050611KARGIL3708Department of EducationMS ACMU3708010060611KARGIL3708Department of EducationMS LOBER3708010060712KARGIL3708Department of EducationMS CHUTUK3708010060813KARGIL3708Department of EducationMS CHUTUK3708010103014KARGIL3708Department of EducationMS CHUTUK3708010103015KARGIL3708Department of EducationMS CHULISKIMBO370801013016KARGIL3708Department of EducationMS CHULISKIMBO3708010130615KARGIL3708Department of EducationMS CHULISKIMAL3708010130616K	S. No.	Name		School Management	School Name	UDISE Code		
2(LADAKH)3707Department of EducationM/S TARU370704005013LEH (LADAKH)3707Department of EducationMS Gompa370704025294KARGIL3708Department of EducationGRIL MIDDLE SCH KARGIL370801001035KARGIL3708Department of EducationGMS BAROO370801001236KARGIL3708Department of EducationGMS PAROO370801004088KARGIL3708Department of EducationGGMS POYEN370801004088KARGIL3708Department of EducationMS GOMA MINJI3708010050910KARGIL3708Department of EducationMS ACHU3708010060611KARGIL3708Department of EducationMS LOBER3708010060712KARGIL3708Department of EducationUPS DOKS3708010060713KARGIL3708Department of EducationMS CHUTUK3708010060714KARGIL3708Department of EducationMS Bathang3708010060115KARGIL3708Department of EducationMS CHUTUK3708010100116KARGIL3708Department of EducationMS CHUTUKA3708010130819KARGIL3708Department of EducationMS YOURBALTAK3708010130819KARGIL3708Department of EducationMS SUSCHUTUMAIL3708010130819KARGIL3708Department of EducationMS CARCHAMAL37080101308<	1		3707	Department of Education	KGBV KHARU	37070300210		
3(LADAKH)3707Department of EducationMs Gompa370704025294KARGIL3708Department of EducationGIRL MIDDLE SCH KARGIL370801001035KARGIL3708Department of EducationMS CHANCHIK370801001236KARGIL3708Department of EducationGMS PAROO370801004087KARGIL3708Department of EducationGMS POYEN370801005049KARGIL3708Department of EducationMS GOMA MINJI3708010050910KARGIL3708Department of EducationMS LOBER3708010060611KARGIL3708Department of EducationMS LOBER3708010060612KARGIL3708Department of EducationUPS CHUTUK3708010060813KARGIL3708Department of EducationUPS CHUTUK3708010010214KARGIL3708Department of EducationMS CHUTUK370801010215KARGIL3708Department of EducationMS CHUTUMAL3708010120216KARGIL3708Department of EducationMS YOURBALTAK3708010130619KARGIL3708Department of EducationMS TUMAL3708010130819KARGIL3708Department of EducationMS YOURBALTAK3708010130819KARGIL3708Department of EducationMS GARGAPONE3708010130820KARGIL3708Department of EducationMS GARGAPONE37080101201	2		3707	Department of Education	M/S TARU	37070400601		
4KARGIL3708Department of EducationKARGIL370801001035KARGIL3708Department of EducationMS CHANCHIK370801001036KARGIL3708Department of EducationGMS BAROO370801003077KARGIL3708Department of EducationGMS POYEN370801004088KARGIL3708Department of EducationMS GOMA MINJI370801005049KARGIL3708Department of EducationMS ARCHU3708010050910KARGIL3708Department of EducationMS LOBER3708010060611KARGIL3708Department of EducationUPS DOKS3708010060812KARGIL3708Department of EducationUPS CHUTUK3708010061314KARGIL3708Department of EducationMS CHULISKIMBO370801090215KARGIL3708Department of EducationMS CHULISKIMBO3708010100217KARGIL3708Department of EducationMS VOURBALTAK3708010130819KARGIL3708Department of EducationMS VOURBALTAK3708010160421KARGIL3708Department of EducationMS ACHAMAL3708010130819KARGIL3708Department of EducationMS ACHAMAL3708010160421KARGIL3708Department of EducationMS BAGH E KHOMENI3708010130822KARGIL3708Department of EducationMS ACHAMAL370801013082	3		3707	Department of Education	MS Gompa	37070402529		
6KARGIL3708Department of EducationGMS BAROO370801003077KARGIL3708Department of EducationGGMS POYEN370801005048KARGIL3708Department of EducationMS GOMA MINJI370801005049KARGIL3708Department of EducationMS GOMA MINJI3708010050910KARGIL3708Department of EducationMS ARCHU3708010060611KARGIL3708Department of EducationMS LOBER3708010060712KARGIL3708Department of EducationUPS CHUTUK3708010060813KARGIL3708Department of EducationUPS CHUTUK3708010060814KARGIL3708Department of EducationMS Bathang370801010090215KARGIL3708Department of EducationMS CHUISUBO3708010110716KARGIL3708Department of EducationMS CHUISUBAD3708010120217KARGIL3708Department of EducationMS TUMAIL3708010130819KARGIL3708Department of EducationMS CARPONE3708010170320KARGIL3708Department of EducationMS GARPONE3708010170321KARGIL3708Department of EducationMS GARPONE3708010170322KARGIL3708Department of EducationMS GARPONE3708010120223KARGIL3708Department of EducationMS GARGARDO3708010120324 <td>4</td> <td>KARGIL</td> <td>3708</td> <td>Department of Education</td> <td></td> <td>37080100103</td>	4	KARGIL	3708	Department of Education		37080100103		
7KARGIL3708Department of EducationGGMS POYEN370801004088KARGIL3708Department of EducationMS GOMA MINJI370801005049KARGIL3708Department of EducationKGBV MINJI KARGIL3708010050910KARGIL3708Department of EducationMS ARCHU3708010060611KARGIL3708Department of EducationMS LOBER3708010060712KARGIL3708Department of EducationUPS DOKS3708010060813KARGIL3708Department of EducationUPS CHUTUK3708010060814KARGIL3708Department of EducationMS Edution3708010060815KARGIL3708Department of EducationMS CHULISKIMBO3708010102016KARGIL3708Department of EducationMS CHULISKIMBO3708010120217KARGIL3708Department of EducationMS YOURBALTAK3708010130818KARGIL3708Department of EducationMS GARPONE3708010130220KARGIL3708Department of EducationMS GARPONE3708010170322KARGIL3708Department of EducationMS GARGADO370801020323KARGIL3708Department of EducationMS CARGADO370801020324KARGIL3708Department of EducationMS CARGADO370801020325KARGIL3708Department of EducationMS CARGADO3708010203 <td< td=""><td>5</td><td>KARGIL</td><td>3708</td><td>Department of Education</td><td>MS CHANCHIK</td><td>37080100123</td></td<>	5	KARGIL	3708	Department of Education	MS CHANCHIK	37080100123		
8KARGIL3708Department of EducationMS GOMA MINJI370801005049KARGIL3708Department of EducationKGBV MINJI KARGIL3708010050910KARGIL3708Department of EducationMS ARCHU3708010060611KARGIL3708Department of EducationMS LOBER3708010060712KARGIL3708Department of EducationUPS DOKS3708010060313KARGIL3708Department of EducationUPS CHUTUK3708010061314KARGIL3708Department of EducationMS CHULISKIMBO370801010090215KARGIL3708Department of EducationMS CHULISKIMBO3708010120216KARGIL3708Department of EducationMS YOURBALTAK3708010130618KARGIL3708Department of EducationMS YOURBALTAK3708010130619KARGIL3708Department of EducationMS YOURBALTAK3708010150220KARGIL3708Department of EducationMS CARPONE3708010160421KARGIL3708Department of EducationMS CARPONE3708010170322KARGIL3708Department of EducationMS CARPONE3708010120223KARGIL3708Department of EducationMS GARGADO370801020124KARGIL3708Department of EducationMS GARGADO370801020125KARGIL3708Department of EducationMS SHIMSHA37080300201<	6	KARGIL	3708	Department of Education	GMS BAROO	37080100307		
9KARGIL3708Department of EducationKGBV MINJI KARGIL3708010050910KARGIL3708Department of EducationMS ARCHU3708010060611KARGIL3708Department of EducationMS LOBER3708010060712KARGIL3708Department of EducationUPS DOKS3708010060813KARGIL3708Department of EducationUPS CHUTUK3708010061314KARGIL3708Department of EducationMS Bathang3708010090215KARGIL3708Department of EducationMS CHULISKIMBO370801010716KARGIL3708Department of EducationMS CHULISKIMBO3708010120217KARGIL3708Department of EducationMS NOKSCHUTUMAIL3708010130618KARGIL3708Department of EducationMS YOURBALTAK3708010130819KARGIL3708Department of EducationMS CARPONE3708010160420KARGIL3708Department of EducationMS GARPONE3708010170322KARGIL3708Department of EducationMS BACHAMAL3708010120323KARGIL3708Department of EducationMS CARGARDO3708010120324KARGIL3708Department of EducationMS CARGARDO3708010120325KARGIL3708Department of EducationMS CARGARDO3708030020126KARGIL3708Department of EducationMS COBHAN37080300201<	7	KARGIL	3708	Department of Education	GGMS POYEN	37080100408		
10KARGIL3708Department of EducationMS ARCHU3708010060611KARGIL3708Department of EducationMS LOBER3708010060712KARGIL3708Department of EducationUPS DOKS3708010060813KARGIL3708Department of EducationUPS CHUTUK3708010061314KARGIL3708Department of EducationMS CHULISKIMBO3708010010015KARGIL3708Department of EducationMS CHULISKIMBO3708010120216KARGIL3708Department of EducationMS CHULISKIMBO3708010120217KARGIL3708Department of EducationMS CHULISKIMBO3708010130618KARGIL3708Department of EducationMS YOURBALTAK3708010130819KARGIL3708Department of EducationMS TUMAIL3708010150220KARGIL3708Department of EducationMS GARPONE3708010170322KARGIL3708Department of EducationMS GARPONE3708010120223KARGIL3708Department of EducationMS GARGARDO3708010220324KARGIL3708Department of EducationMS SHIMSHA3708030020124KARGIL3708Department of EducationMS SHIMSHA3708030020125KARGIL3708Department of EducationMS GOMA GOSHAN3708030020126KARGIL3708Department of EducationMS GOMA GOSHAN37080301202 <td>8</td> <td>KARGIL</td> <td>3708</td> <td>Department of Education</td> <td>MS GOMA MINJI</td> <td>37080100504</td>	8	KARGIL	3708	Department of Education	MS GOMA MINJI	37080100504		
11KARGIL3708Department of EducationMS LOBER3708010060712KARGIL3708Department of EducationUPS DOKS3708010060813KARGIL3708Department of EducationUPS CHUTUK3708010061314KARGIL3708Department of EducationMS Bathang3708010090215KARGIL3708Department of EducationMS CHULISKIMBO3708010107016KARGIL3708Department of EducationMS CHULISKIMBO3708010120217KARGIL3708Department of EducationMS VOURBALTAK3708010130818KARGIL3708Department of EducationMS YOURBALTAK3708010150220KARGIL3708Department of EducationMS TUMAIL3708010160421KARGIL3708Department of EducationMS GARPONE3708010170322KARGIL3708Department of EducationMS GARPONE3708010170323KARGIL3708Department of EducationMS GARGARDO3708010120224KARGIL3708Department of EducationMS DARCHIKS3708010120325KARGIL3708Department of EducationMS SHIMSHA3708030020126KARGIL3708Department of EducationMS CHANA3708030020127KARGIL3708Department of EducationMS CHANA3708030020128KARGIL3708Department of EducationMS COMA GOSHAN37080301204 <tr<< td=""><td>9</td><td>KARGIL</td><td>3708</td><td>Department of Education</td><td>KGBV MINJI KARGIL</td><td>37080100509</td></tr<<>	9	KARGIL	3708	Department of Education	KGBV MINJI KARGIL	37080100509		
12KARGIL3708Department of EducationUPS DOKS3708010060813KARGIL3708Department of EducationUPS CHUTUK3708010061314KARGIL3708Department of EducationMs Bathang3708010090215KARGIL3708Department of EducationMs CHULISKIMBO3708010107016KARGIL3708Department of EducationMS CHULISKIMBO3708010120217KARGIL3708Department of EducationMS DOKSCHUTUMAIL3708010130618KARGIL3708Department of EducationMS YOURBALTAK3708010130819KARGIL3708Department of EducationMS TUMAIL3708010150220KARGIL3708Department of EducationMS TUMAIL3708010160421KARGIL3708Department of EducationMS CARPONE3708010170322KARGIL3708Department of EducationMS LAKHA3708010180923KARGIL3708Department of EducationMS GARGARDO3708010220325KARGIL3708Department of EducationMS DARCHIKS370803020126KARGIL3708Department of EducationMS THROUNGOUS370803020127KARGIL3708Department of EducationMS GARGARDO370803020126KARGIL3708Department of EducationMS GOMA GOSHAN370803020127KARGIL3708Department of EducationMS GOMA GOSHAN37080301202 <td>10</td> <td>KARGIL</td> <td>3708</td> <td>Department of Education</td> <td>MS ARCHU</td> <td>37080100606</td>	10	KARGIL	3708	Department of Education	MS ARCHU	37080100606		
13KARGIL3708Department of EducationUPS CHUTUK3708010061314KARGIL3708Department of EducationMs Bathang3708010090215KARGIL3708Department of EducationMS CHULISKIMBO3708010110716KARGIL3708Department of EducationMS CHULISKIMBO3708010120217KARGIL3708Department of EducationMS KHUNDA3708010130618KARGIL3708Department of EducationMS YOURBALTAK3708010130819KARGIL3708Department of EducationMS TUMAIL3708010150220KARGIL3708Department of EducationMS CARPONE3708010160421KARGIL3708Department of EducationMS GARPONE3708010170322KARGIL3708Department of EducationMS LAKHA3708010180923KARGIL3708Department of EducationMS DARCHIKS370801020324KARGIL3708Department of EducationMS DARCHIKS370801020325KARGIL3708Department of EducationMS SHIMSHA3708030020127KARGIL3708Department of EducationMS CHUYAL3708030020128KARGIL3708Department of EducationMS COSHAN3708030120429KARGIL3708Department of EducationMS GOMA GOSHAN3708030120429KARGIL3708Department of EducationMS GOMA GOSHAN37080301204 <t< td=""><td>11</td><td>KARGIL</td><td>3708</td><td>Department of Education</td><td>MS LOBER</td><td>37080100607</td></t<>	11	KARGIL	3708	Department of Education	MS LOBER	37080100607		
14KARGIL3708Department of EducationMs Bathang3708010090215KARGIL3708Department of EducationMS CHULISKIMBO3708010110716KARGIL3708Department of EducationMS KHUNDA3708010120217KARGIL3708Department of EducationMS DOKSCHUTUMAIL3708010130618KARGIL3708Department of EducationMS YOURBALTAK3708010130819KARGIL3708Department of EducationMS TUMAIL3708010150220KARGIL3708Department of EducationMS CARPONE3708010160421KARGIL3708Department of EducationMS GARPONE3708010170322KARGIL3708Department of EducationMS CARGARDO3708010190124KARGIL3708Department of EducationMS GARGARDO3708010220325KARGIL3708Department of EducationMS DARCHIKS3708030020127KARGIL3708Department of EducationMS HIMSHA3708030020128KARGIL3708Department of EducationMS GORA GOSHAN3708030120230KARGIL3708Department of EducationMS GOMA GOSHAN3708030120230KARGIL3708Department of EducationMS GINDIYAL3708030120431KARGIL3708Department of EducationMS GOMA GOSHAN3708030120433KARGIL3708Department of EducationMS GINDIYAL370803010	12	KARGIL	3708	Department of Education	UPS DOKS	37080100608		
15KARGIL3708Department of EducationMS CHULISKIMBO3708010110716KARGIL3708Department of EducationMS KHUNDA3708010120217KARGIL3708Department of EducationMS DOKSCHUTUMAIL3708010130618KARGIL3708Department of EducationMS YOURBALTAK3708010130819KARGIL3708Department of EducationMS TUMAIL3708010150220KARGIL3708Department of EducationMS TUMAIL3708010160421KARGIL3708Department of EducationMS GARPONE3708010170322KARGIL3708Department of EducationMS LAKHA3708010180923KARGIL3708Department of EducationMS GARGARDO370801020324KARGIL3708Department of EducationMS DARCHIKS3708010230126KARGIL3708Department of EducationMS SHIMSHA3708030020127KARGIL3708Department of EducationMS HINCOUS3708030020128KARGIL3708Department of EducationMS GOSHAN3708030120230KARGIL3708Department of EducationMS GOMA GOSHAN3708030120230KARGIL3708Department of EducationMS GINDIYAL3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030140433KARGIL3708Department of EducationMS GINDIYAL37080301404	13	KARGIL	3708	Department of Education	UPS CHUTUK	37080100613		
16KARGIL3708Department of EducationMS KHUNDA3708010120217KARGIL3708Department of EducationMS DOKSCHUTUMAIL3708010130618KARGIL3708Department of EducationMS YOURBALTAK3708010130819KARGIL3708Department of EducationMS TUMAIL3708010150220KARGIL3708Department of EducationMS TUMAIL3708010160421KARGIL3708Department of EducationMS GARPONE3708010170322KARGIL3708Department of EducationMS GARPONE3708010180923KARGIL3708Department of EducationMS BAGH E KHOMENI3708010190124KARGIL3708Department of EducationMS GARGARDO3708010220325KARGIL3708Department of EducationMS SHIMSHA3708030020126KARGIL3708Department of EducationMS THROUNGOUS3708030070128KARGIL3708Department of EducationMS GOSHAN3708030120230KARGIL3708Department of EducationMS GOMA GOSHAN3708030120431KARGIL3708Department of EducationMS GOMA GOSHAN3708030120433KARGIL3708Department of EducationMS GOMA GOSHAN3708030120434KARGIL3708Department of EducationMS GINDIYAL3708030140432KARGIL3708Department of EducationMS GINDIYAL370803	14	KARGIL	3708	Department of Education	Ms Bathang	37080100902		
17KARGIL3708Department of EducationMS DOKSCHUTUMAIL3708010130618KARGIL3708Department of EducationMS YOURBALTAK3708010130819KARGIL3708Department of EducationMS TUMAIL3708010150220KARGIL3708Department of EducationGMS AKCHAMAL3708010160421KARGIL3708Department of EducationMS GARPONE3708010170322KARGIL3708Department of EducationMS GARPONE3708010180923KARGIL3708Department of EducationMS BAGH E KHOMENI3708010190124KARGIL3708Department of EducationMS GARCARDO3708010220325KARGIL3708Department of EducationMS SHIMSHA3708030020126KARGIL3708Department of EducationMS THROUNGOUS3708030020127KARGIL3708Department of EducationMS GOSHAN3708030020128KARGIL3708Department of EducationMS GOMA GOSHAN3708030120230KARGIL3708Department of EducationMS GOMA GOSHAN3708030120431KARGIL3708Department of EducationMS GINDIYAL3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030170238KARGIL3708Department of EducationMS GOMA GOSHAN3708030140432KARGIL3708Department of EducationMS GINDIYAL3	15	KARGIL	3708	Department of Education	MS CHULISKIMBO	37080101107		
18KARGIL3708Department of EducationMS YOURBALTAK3708010130819KARGIL3708Department of EducationMS TUMAIL3708010150220KARGIL3708Department of EducationGMS AKCHAMAL3708010160421KARGIL3708Department of EducationMS GARPONE3708010170322KARGIL3708Department of EducationMS LAKHA3708010180923KARGIL3708Department of EducationMS BAGH E KHOMENI3708010190124KARGIL3708Department of EducationMS GARGARDO3708010220325KARGIL3708Department of EducationMS DARCHIKS3708010230126KARGIL3708Department of EducationMS SHIMSHA3708030020127KARGIL3708Department of EducationMS GOSHAN3708030070128KARGIL3708Department of EducationMS GOMA GOSHAN3708030120230KARGIL3708Department of EducationMS GANA GOSHAN3708030120431KARGIL3708Department of EducationMS GINDIYAL3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030170238KARGIL3708Department of EducationMS GINDIYAL3708030170234KARGIL3708Department of EducationMS GINDIYAL3708030170635KARGIL3708Department of EducationMS GINDIYAL37080301706 </td <td>16</td> <td>KARGIL</td> <td>3708</td> <td>Department of Education</td> <td>MS KHUNDA</td> <td>37080101202</td>	16	KARGIL	3708	Department of Education	MS KHUNDA	37080101202		
19KARGIL3708Department of EducationMS TUMAIL3708010150220KARGIL3708Department of EducationGMS AKCHAMAL3708010160421KARGIL3708Department of EducationMS GARPONE3708010170322KARGIL3708Department of EducationMS LAKHA3708010180923KARGIL3708Department of EducationMS SAGRARDO3708010190124KARGIL3708Department of EducationMS GARGARDO3708010220325KARGIL3708Department of EducationMS DARCHIKS3708010230126KARGIL3708Department of EducationMS SHIMSHA3708030020127KARGIL3708Department of EducationMS THROUNGOUS3708030020128KARGIL3708Department of EducationMS GOSHAN3708030120230KARGIL3708Department of EducationMS GOMA GOSHAN3708030120431KARGIL3708Department of EducationMS GINDIYAL3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030160933KARGIL3708Department of EducationMS GINDIYAL3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationMS NINGORE37080301706	17	KARGIL	3708	Department of Education	MS DOKSCHUTUMAIL	37080101306		
20KARGIL3708Department of EducationGMS AKCHAMAL3708010160421KARGIL3708Department of EducationMS GARPONE3708010170322KARGIL3708Department of EducationMS LAKHA3708010180923KARGIL3708Department of EducationMS BAGH E KHOMENI3708010190124KARGIL3708Department of EducationMS GARGARDO3708010220325KARGIL3708Department of EducationMS DARCHIKS3708010230126KARGIL3708Department of EducationMS SHIMSHA3708030020127KARGIL3708Department of EducationMS THROUNGOUS3708030070128KARGIL3708Department of EducationMS GOSHAN3708030120230KARGIL3708Department of EducationMS GOMA GOSHAN3708030120431KARGIL3708Department of EducationMS GINDIYAL3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030170233KARGIL3708Department of EducationMS GINDIYAL3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationMS NINGORE37080301706	18	KARGIL	3708	Department of Education	MS YOURBALTAK	37080101308		
21KARGIL3708Department of EducationMS GARPONE3708010170322KARGIL3708Department of EducationMS LAKHA3708010180923KARGIL3708Department of EducationM S BAGH E KHOMENI3708010190124KARGIL3708Department of EducationMS GARGARDO3708010220325KARGIL3708Department of EducationMS DARCHIKS3708010230126KARGIL3708Department of EducationMS SHIMSHA3708030020127KARGIL3708Department of EducationMS THROUNGOUS3708030070128KARGIL3708Department of EducationMS GOSHAN3708030120230KARGIL3708Department of EducationMS GOMA GOSHAN3708030120431KARGIL3708Department of EducationMS GINDIYAL3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030170233KARGIL3708Department of EducationMS GINDIYAL3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationMS ONNGORE37080301709	19	KARGIL	3708	Department of Education	MS TUMAIL	37080101502		
22KARGIL3708Department of EducationMS LAKHA3708010180923KARGIL3708Department of EducationM S BAGH E KHOMENI3708010190124KARGIL3708Department of EducationMS GARGARDO3708010220325KARGIL3708Department of EducationMS DARCHIKS3708010230126KARGIL3708Department of EducationMS SHIMSHA3708030020127KARGIL3708Department of EducationMS THROUNGOUS3708030070128KARGIL3708Department of EducationMS HOLIYAL3708030090129KARGIL3708Department of EducationMS GOMA GOSHAN3708030120230KARGIL3708Department of EducationMS GOMA GOSHAN3708030120431KARGIL3708Department of EducationMS GINDIYAL3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationMS NINGORE37080301706	20	KARGIL	3708	Department of Education	GMS AKCHAMAL	37080101604		
23KARGIL3708Department of EducationM S BAGH E KHOMENI3708010190124KARGIL3708Department of EducationMS GARGARDO3708010220325KARGIL3708Department of EducationMS DARCHIKS3708010230126KARGIL3708Department of EducationMS SHIMSHA3708030020127KARGIL3708Department of EducationMS THROUNGOUS3708030070128KARGIL3708Department of EducationMS GOSHAN3708030020129KARGIL3708Department of EducationMS GOMA GOSHAN3708030120230KARGIL3708Department of EducationMS GARA ANDRA3708030120431KARGIL3708Department of EducationMS GINDIYAL3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationMS NINGORE37080301709	21	KARGIL	3708	Department of Education	MS GARPONE	37080101703		
24KARGIL3708Department of EducationMS GARGARDO3708010220325KARGIL3708Department of EducationMS DARCHIKS3708010230126KARGIL3708Department of EducationMS SHIMSHA3708030020127KARGIL3708Department of EducationMS THROUNGOUS3708030070128KARGIL3708Department of EducationMS HOLIYAL3708030090129KARGIL3708Department of EducationMS GOSHAN3708030120230KARGIL3708Department of EducationMS GOMA GOSHAN3708030120431KARGIL3708Department of EducationMS GINDIYAL3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationMS NINGORE37080301709	22	KARGIL	3708	Department of Education	MS LAKHA	37080101809		
25KARGIL3708Department of EducationMS DARCHIKS3708010230126KARGIL3708Department of EducationMS SHIMSHA3708030020127KARGIL3708Department of EducationMS THROUNGOUS3708030070128KARGIL3708Department of EducationMS HOLIYAL3708030090129KARGIL3708Department of EducationMS GOSHAN3708030120230KARGIL3708Department of EducationMS GOMA GOSHAN3708030120431KARGIL3708Department of EducationMS SALAM PORA3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030160933KARGIL3708Department of EducationGIRLS MS BHIMBET3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationMS NINGORE37080301709	23	KARGIL	3708	Department of Education	M S BAGH E KHOMENI	37080101901		
26KARGIL3708Department of EducationMS SHIMSHA3708030020127KARGIL3708Department of EducationMS THROUNGOUS3708030070128KARGIL3708Department of EducationMS HOLIYAL3708030090129KARGIL3708Department of EducationMS GOSHAN3708030120230KARGIL3708Department of EducationMS GOMA GOSHAN3708030120431KARGIL3708Department of EducationMS GINDIYAL3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationMS NINGORE37080301709	24	KARGIL	3708	Department of Education	MS GARGARDO	37080102203		
27KARGIL3708Department of EducationMS THROUNGOUS3708030070128KARGIL3708Department of EducationMS HOLIYAL3708030090129KARGIL3708Department of EducationMS GOSHAN3708030120230KARGIL3708Department of EducationMS GOMA GOSHAN3708030120431KARGIL3708Department of EducationMS SALAM PORA3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030160933KARGIL3708Department of EducationGIRLS MS BHIMBET3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationKGBV DRASS37080301709	25	KARGIL	3708	Department of Education	MS DARCHIKS	37080102301		
28KARGIL3708Department of EducationMS HOLIYAL3708030090129KARGIL3708Department of EducationMS GOSHAN3708030120230KARGIL3708Department of EducationMS GOMA GOSHAN3708030120431KARGIL3708Department of EducationMS SALAM PORA3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030160933KARGIL3708Department of EducationGIRLS MS BHIMBET3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationKGBV DRASS37080301709	26	KARGIL	3708	Department of Education	MS SHIMSHA	37080300201		
29KARGIL3708Department of EducationMS GOSHAN3708030120230KARGIL3708Department of EducationMS GOMA GOSHAN3708030120431KARGIL3708Department of EducationMS SALAM PORA3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030160933KARGIL3708Department of EducationGIRLS MS BHIMBET3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationKGBV DRASS37080301709	27	KARGIL	3708	Department of Education	MS THROUNGOUS	37080300701		
30KARGIL3708Department of EducationMS GOMA GOSHAN3708030120431KARGIL3708Department of EducationMS SALAM PORA3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030160933KARGIL3708Department of EducationGIRLS MS BHIMBET3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationKGBV DRASS37080301709	28	KARGIL	3708	Department of Education	MS HOLIYAL	37080300901		
30KARGIL3708Department of EducationMS GOMA GOSHAN3708030120431KARGIL3708Department of EducationMS SALAM PORA3708030140432KARGIL3708Department of EducationMS GINDIYAL3708030160933KARGIL3708Department of EducationGIRLS MS BHIMBET3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationKGBV DRASS37080301709	29	KARGIL	3708	-	MS GOSHAN	37080301202		
32KARGIL3708Department of EducationMS GINDIYAL3708030160933KARGIL3708Department of EducationGIRLS MS BHIMBET3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationKGBV DRASS37080301709	30			-	MS GOMA GOSHAN	37080301204		
33KARGIL3708Department of EducationGIRLS MS BHIMBET3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationKGBV DRASS37080301709	31	KARGIL	3708	Department of Education	MS SALAM PORA	37080301404		
33KARGIL3708Department of EducationGIRLS MS BHIMBET3708030170234KARGIL3708Department of EducationMS NINGORE3708030170635KARGIL3708Department of EducationKGBV DRASS37080301709	32	KARGIL		-	MS GINDIYAL	37080301609		
34 KARGIL 3708 Department of Education MS NINGORE 37080301706 35 KARGIL 3708 Department of Education KGBV DRASS 37080301709	33	KARGIL	3708	•		37080301702		
	34	KARGIL		-	MS NINGORE	37080301706		
	35	KARGIL	3708	-	KGBV DRASS	37080301709		
	36	KARGIL	3708	Department of Education	MS DRASS	37080302101		

S. No.	District Name	District Code	School Management	School Name	UDISE Code
37	KARGIL	3708	Department of Education	MS BEARASS	37080302102
38	KARGIL	3708	Department of Education	GMS DRASS	37080302106
39	KARGIL	3708	Department of Education	MS TESBOO	37080302109
40	KARGIL	3708	Department of Education	MS THANGBOO	37080400807
41	KARGIL	3708	Department of Education	MS NAMSURU	37080401004
42	KARGIL	3708	Department of Education	MS KARGE	37080401201
43	KARGIL	3708	Department of Education	MS KHOWS	37080401404
44	KARGIL	3708	Department of Education	MS BAIMACHAN	37080401601
45	KARGIL	3708	Department of Education	KGBV TAISURU	37080401702
46	KARGIL	3708	Department of Education	GMS CHIKTAN	37080500202
47	KARGIL	3708	Department of Education	KGBV CHICKTAN	37080500213
48	KARGIL	3708	Department of Education	MS LAMSU	37080500502
49	KARGIL	3708	Department of Education	MS KHALAMARPO	37080600103
50	KARGIL	3708	Department of Education	MS CHYCHSNA	37080600106
51	KARGIL	3708	Department of Education	BMS SANKOO	37080600302
52	KARGIL	3708	Department of Education	MS THSNGBOO	37080600401
53	KARGIL	3708	Department of Education	MS KARCHY KHAR	37080600603
54	KARGIL	3708	Department of Education GMS TAIKET		37080600803
55	KARGIL	3708	Department of Education	MS PANGBAR	37080601001
56	KARGIL	3708	Department of Education	MS THILLA	37080601006
57	KARGIL	3708	Department of Education	MS LANKARCHY THANG	37080601303
58	KARGIL	3708	Department of Education	MS CHIKGRONG	37080601402
59	KARGIL	3708	Department of Education	MS GOMATAMBIS	37080601404
60	KARGIL	3708	Department of Education	GMS TAMBIS	37080601407
61	KARGIL	3708	Department of Education	MS ZGANGJING	37080601503
62	KARGIL	3708	Department of Education	MS LUNGMA	37080601602
63	KARGIL	3708	Department of Education	MS THANGZUR	37080601603
64	KARGIL	3708	Department of Education	MS GATOO TRESPONE	37080601604
65	KARGIL	3708	Department of Education	MS MARPOTHANG	37080601606
66	KARGIL	3708	Department of Education	MS SHAGARAN	37080601608
67	KARGIL	3708	Department of Education	MS MIRKHOR	37080601614
68	KARGIL	3708	Department of Education	MS GOMA SALISKOTE	37080601703
69	KARGIL	3708	Department of Education	MS LONGJUK	37080601704
70	KARGIL	3708	Department of Education	MS YUKMA SALISKOTE	37080601707
71	KARGIL	3708	Department of Education	MS RAHIM THANG	37080601802
72	KARGIL	3708	Department of Education	MS GASKAL	37080601804
73	KARGIL	3708	Department of Education	MS FARONA	37080601901
74	KARGIL	3708	Department of Education	MS THOVINA	37080602003
75	KARGIL	3708	Department of Education	GMS THASGAM	37080602009
76	KARGIL	3708	Department of Education	KGBV THASGAM	37080602010
77	KARGIL	3708	Department of Education	MS ZGANG	37080700109

S. No.	District Name	District Code	School Management	School Name	UDISE Code
78	KARGIL	3708	Department of Education	MS TINDO	37080701001
79	KARGIL	3708	Department of Education	MS KARIT	37080701201

List of school/ for Vending Machines (Secondary)

S. No.	District Name	District Code	School Management	School Name	UDISE Code
1	LEH (LADAKH)	3707	Department of Education	P/S FOTOKSAR	37070201607
2	KARGIL	3708	Department of Education	HS TANGOLE 2019	37080400302
3	KARGIL	3708	Department of Education	HSS KHANGRAL	37080500906
4	KARGIL	3708	Department of Education	HS TIKET	37080600904
5	KARGIL	3708	Department of Education	HS BARTO(RMSA)	37080601004
6	KARGIL	3708	Department of Education	GHS GM PORE	37080601801
7	KARGIL	3708	Department of Education	HS TACHA	37080701301

List of NSCBA Hostels for Vending Machines (Secondary)

S. No	UT	District	Block	Block Code	Name of Hostel
1	Ladakh	Leh	Khaltsi	370702	Residential Hostel Fotaksar
2	Ladakh	Leh	Khaltsi	370702	Residential Hostel Lingshet
3	Ladakh	Leh	Khaltsi	370702	Residential Hostel Wanla
4	Ladakh	Leh	Khaltsi	370702	Residential Hostel Baima
5	Ladakh	Leh	Khaltsi	370702	Residential Hostel Lamayuru
6	Ladakh	Leh	Khaltsi	370702	Residential Hostel Khaltsi
7	Ladakh	Leh	Leh	370704	Residential Hostel Leh
8	Ladakh	Leh	Leh	370704	Residential Hostel Chuchot Yokma
9	Ladakh	Leh	Kharu	370703	Residential Hostel Gia
10	Ladakh	Leh	Durbuk	370701	Residential Hostel Sato Kargyam
11	Ladakh	Leh	Durbuk	370701	Residential Hostel Tharuk
12	Ladakh	Leh	Durbuk	370701	Residential Hostel Chuchul
13	Ladakh	Leh	Nyoma	370706	Residential Hostel Puga
14	Ladakh	Leh	Nyoma	370706	Residential Hostel Anlay
15	Ladakh	Leh	Nyoma	370706	Residential Hostel Nyoma
16	Ladakh	Leh	Nubra	370705	Residential Hostel Tyakshi
17	Ladakh	Leh	Nubra	370705	Residential Hostel Diskit (Secondary)

	Lie	t of Schools (CCT	A V Camera)- Elementary	Annexure-X (C)
S. No.	District Name	District Code	School Name	UDISE Code
	LEH			
1	(LADAKH)	3707	H/S R.S. SATOO	37070100102
	LEH			
2	(LADAKH)	3707	H/S CHUSHUL	37070100103
	LEH			
3	(LADAKH)	3707	HR/SEC/S TANGTSE	37070100403
5	LEH	5707		37070100103
4	(LADAKH)	3707	KGBV DURBUK	37070100411
т	LEH	5707	Kdbv Dokbok	57070100411
5	(LADAKH)	3707	HSS BAIMA	37070200103
5	LEH	3707	IISS DAIMA	37070200103
C		2707		27070201004
6	(LADAKH)	3707	HR/SEC/SCHOOL KHALTSI	37070201004
-	LEH	0.505		25252224626
7	(LADAKH)	3707	H/S WANLA	37070201606
_	LEH			
8	(LADAKH)	3707	M/S FOTOKSAR	37070201611
	LEH			
9	(LADAKH)	3707	H/S LAMAYURU	37070201901
	LEH			
10	(LADAKH)	3707	H/S LINGSHED	37070202101
	LEH			
11	(LADAKH)	3707	KGBV KHARU	37070300210
	LEH			
12	(LADAKH)	3707	HS GIA	37070301101
	LEH			
13	(LADAKH)	3707	H/S CHUSHOD YOGMA	37070401801
15	LEH	5707		57070101001
14	(LADAKH)	3707	HSS TYAKSHI	37070500204
14	LEH	5707		57070500204
1 -		2707	M /C DOVC DICKIT	27070501001
15	(LADAKH)	3707	M/S BOYS DISKIT	37070501901
10	LEH	2707		27070501000
16	(LADAKH)	3707	HR.SEC. DISKIT	37070501908
	LEH			
17	(LADAKH)	3707	M/S KGBV	37070502302
	LEH			
18	(LADAKH)	3707	HS KORZOK	37070601101
	LEH			
19	(LADAKH)	3707	KGBV/NYOMA	37070601307
	LEH			
20	(LADAKH)	3707	HS ANLAY	37070601502
21	KARGIL	3708	HS GOMA KARGIL	37080100125
22	KARGIL	3708	HS MINJI	37080100506

				nnexure-X (C)			
List of Schools (CCTV Camera)- Elementary							
S. No.	District Name	District Code	School Name	UDISE Code			
23	KARGIL	3708	KGBV MINJI KARGIL	37080100509			
24	KARGIL	3708	HS SAPI	37080100801			
25	KARGIL	3708	HS HARDAS	37080101005			
26	KARGIL	3708	HS BADGUM	37080101205			
27	KARGIL	3708	GOVT. HR. SEC. SCH. SILMO	37080101810			
28	KARGIL	3708	HS CHULICHAN	37080102101			
29	KARGIL	3708	HS KAKSAR	37080300401			
30	KARGIL	3708	HS THANGSOU	37080200401			
31	KARGIL	3708	HS TUNGRI	37080200601			
32	KARGIL	3708	HS ICHER	37080201301			
33	KARGIL	3708	KGBV PADUM	37080202110			
34	KARGIL	3708	HSS PADAM	37080202111			
35	KARGIL	3708	HS KARSHA	37080202501			
36	KARGIL	3708	HS ZANGLA	37080202601			
37	KARGIL	3708	HS KHARBO	37080300103			
38	KARGIL	3708	HS THASGAM	37080300301			
39	KARGIL	3708	HS MUSHKO	37080300801			
40	KARGIL	3708	HS PANDRASS	37080302005			
41	KARGIL	3708	HS PARKACHIK	37080400106			
42	KARGIL	3708	HS TANGOLE 2019	37080400302			
43	KARGIL	3708	HS YOULJUK	37080400801			
44	KARGIL	3708	HS KARGEE	37080401202			
45	KARGIL	3708	GHS PANIKHAR	37080401501			
46	KARGIL	3708	KGBV TAISURU	37080401702			
47	KARGIL	3708	KGBV CHICKTAN	37080500213			
48	KARGIL	3708	HS Y-KHARBO	37080500302			
49	KARGIL	3708	HS TAMBIS	37080601406			
50	KARGIL	3708	HS SALISKOTE	37080601701			
51	KARGIL	3708	KGBV THASGAM	37080602010			
52	KARGIL	3708	HS SKIMBO	37080700502			
53	KARGIL	3708	HS MULBEK	37080700602			
54	KARGIL	3708	HS TACHA	37080701301			
55	KARGIL	3708	HS LOTSUM	37080701402			

Annexure-X (D)

	List of schools (Fire Extinguisher)-Elementary							
S. No.	District Name	District Code	School Name	UDISE Code				
1	LEH (LADAKH)	3707	H/S LAMAYURU	37070201901				
2	LEH (LADAKH)	3707	H/S LINGSHED	37070202101				
3	LEH (LADAKH)	3707	KGBV KHARU	37070300210				
4	LEH (LADAKH)	3707	M/S BOYS DISKIT	37070501901				
5	LEH (LADAKH)	3707	KGBV/NYOMA	37070601307				
6	KARGIL	3708	KGBV PADUM	37080202110				
			HS TANGOLE					
7	KARGIL	3708	2019	37080400302				
8	KARGIL	3708	HS KARGEE	37080401202				
9	KARGIL	3708	KGBV THASGAM	37080602010				
10	KARGIL	3708	HS SKIMBO	37080700502				
11	KARGIL	3708	HS TACHA	37080701301				

Inclusive Education List of BRCs for Equipments for CwSN-Secondary

			Educational		
S. No	State/UT	District	Zone	Zone Code	Block Resource Centre
1	Ladakh	Leh	Khaltse	370702	CWSN Resource Center Khalsi
					CWSN Resource Center Chuchot
2	Ladakh	Leh	Leh	370704	Yokma
3	Ladakh	Kargil	Taisuru	370804	CWSN resource center Namsuru
4	Ladakh	Kargil	Shargole	370807	CWSN recoruece Eenter Lotsum

Annexure-XII

Vocational Education

List of 02 New Schools approved in 2023-24

S. No.	District Name	Block Name	UDISE Code	School Name	Sector 1	Job Role 1	QP Code
				HS		Domestic IT	
1.	KARGIL	SANKOO	37080601004	BARTO(RMSA)	IT/ITES	Executive/Operator	402
						Domestic IT	
2.	KARGIL	ZANSKAR	37080201701	HSS PHEY	IT/ITES	Executive/Operator	402

List of 04 Classroom Cum Workshop approved in 2023-24

S. No	District	Hub School	UDISE
1	Kargil	GHSS Shargole	37080700304
2	Kargil	HSS Bhimbat	37080301707
3	Leh	GHSS Boys Leh	37070402523
4	Leh	GHSS Girls Leh	37070402522
